
�

����� ����	�
����

�� ���������
��	
�����


�	
����������������
����
��	
�����
�

�
������������
�


�	


��
�
�������


����	����	
��

����	������
���

�����������������
�
������������������
������������������
������������������
������������������
������������������
������������������
������������������
������������������
����������������
�
�����	��������
�����
��
�
���������������
�����	��������
�����
��
�
���������������
�����	��������
�����
��
�
���������������

�����������  !

�����������  "

���#
����  $

%��������

����
���

����������

�
���

&����������

��	��������
��'������

���������	
�����

�(���)�&��%*+�'&)&++(�

�(,&-&*�

����������������.��	�����
�

�
����

��	��������
����������

�
����
��� ���!"���#$"%$&'(()�
������
	���� ���%$�)$�!)�&)()�*�+�")��&'),������)*��&#�"%$�-$"%�*�

#���!�%%$��&)�*���.�&$�!)�,�/)$*�.��%��$�/�%"�&&)�
����
��� �
0����1�		�2���
��
�������

��
����������3�
�)������� �#)""��4�,�&,)����$�&',�

������5*���������
+�1
��*������3��0����

��

��

'(���/&(��

��

��%������������
���0�

��

��-
����1�.����
��
������
���
��
�#���������0�

6�����
�#����1�		�7��

��

��(��������0�

6����1��!��,
8��7��

��

��+
�������
���
2��

6#����������1�
7��

��

������3����
������
������0�

6�����������&�	�
7��

��

��&�������
����#���������4�������5
��0�

6���
��10���7��

��

+�����6��	�

'����
����
��

/
��9�����
��

�"�����
����
�

�����
����


/
��9������������
�
:�
�������
������:�
"������
���

�4��7������
�

�00�
�����3����
�����
��1����

Page 1 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



���57��4���54��#��������
	��������	
��
8�����
��
���
�����
���0�

6�������#�3�1
�;�
7��

��

��,4��
�����
����
�����	�0�

6�0�7��

��

��+���������
��9�������8����������������	
��
�
�����
������0�

6�������"�3��
7��

��

��&��.�����8����.
����������	
����������������������:�

6#�
7��

��

��+������������8�����4��
�#��
��
�
�������..�0�

6���
���,8��
<���7��

��

��&����
#
�������������
�����	
���8�

&���#�����4�:�,4
��
�������4��;�

+�����<�������	
��
=�
�����#��

,
���	
�������������8�	���4
������������������7:�

�
����������	�����
�.������������

)��8�.��������
��

'
��5
�����������#
����������������#
��
1�
��������	���;�

�>?8���������������#�����������
�:�

'�������

���

��'����8�9�
#�����
����������
���������@��
����,���..��
�������
����������0�0��AB�  !0�

6.
��
���/����11�7��

��

��

��

��

��

Page 2 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��

��%������������
���0�

� �

��

��-
����1�.����
��
������
���
��
�#����������

�
�=�������3����������
��������������
1����������>��������������"�3
���1�.
��
:�
)1� /���������� 8��1�
������ 6�=�� ��18�� �
� �
������ ;��11�� ��
�8����� �����?7� /
�1��
/����1���
�@�1����=�����A���3���
�������
�
�8�
��
��1���8����B�A�1����=��=
����������1�<�1��BA�1���
�=��A���
����1�8�����
�����B�A�1����=��=
����
��		
���1
��1
�;�����=
��=�
�
����1��

881
���B�A�1����=��=
����
��		
���1
�3�����
�����0��1�����*���=
�����8����1
��
1
B�A�
1��� �=����� A� ��3���
�����
��88���	����� �=������ �@A��
� �=�����8�C��3��
���8��
���<���
��� 1
�8��8��
���
���		
B� A� 1��� �=�� =
� �������� �1�� �8
����� ����3���
1�� ��
����3���
������������
�
����
���
���������D���������
'��/�������������	
������� �;����
�1
���
���
���		
��
/���=D����1
�����
�=
�������*�����1�<�1��=
�<
�����
�����
���1������A���
�
��
��E
��	��
��	�
��
	��� *�1�<
����A��=��������1��<
���� ��8�����
�����
� 1@�����
������
�
�
88������
�
�
�"�3
���1�.
��
�A��1�<��������11
���
����<
��
��
���1�����
�������
�@� �1� /���������� �=�� =
� ������� ��� ���1�		
��� 1
� 1�3
� ��11
� 3����
1��F� ��1�3���3
*
���
��		
������
������������8���G�1�����
1����11
�8���������8��������H�
����
��
�

���	
�� 8��� ��3���
���� ��� ���
��
��� ���� ������ �� ����3���0�1�� �
� �8������� ��11
�
����
�8�1����
��
/���
��� �=�� �� 8�1������ ���� ��� <������� ��� ���� 3����
1������ 8��� 0���
� ��� ��
�

33�������
8������
��������1�3���3
��
��	��1@����
�8�����	
�8�1����
���
�;��11
���1�/�����������=��=
�1
���
�������
1
����
����
�������01����
1�� ��� �������0�1�� 8����	
�
���
���3
� 1��������
11
� 81
��
� 1
�
1�����
�
� 1��� ������		
�
��=��+
���11
�>/����1�����A����������
��D���@���
�1�����
����
��3
��
�����81�����������
������=����3�1
�1
���
�8����	
�������F���11@����8����
�
��11
��=���
 ��1���>���*1@������ �1�0�������81��������;��1�H%����1������E� 1������
1
H+���/
�1�E��
)1����
��
���������1�����
�������01����
1�������������
11
�1�����
�����=
�0�������
��� 1�00I����8���=D� 1
������
�0
����
� �
1�����/�������������
������
�<
���
� �1�
3�1�����1�/������������1�������1����
	���
1����1����
��
������
11@
1��
���1�+��������
��11
�.�����	�
��
�@� �1� /���������� �=�� =
� ������� ��� <
�� �����
��� 
1� 8�001���� ���
��1�� 1
� 8
���� ��1�
�����1��8�001��������
1
��=��
881
����
����
�������8
��������������11@
�����
���
��� �D� 1@� ���
����� �<<�������� �� ��8�����
1�� ��11@����
����� ��� ���3�	�� ��� ;�
1��F*�
8����
0�1��
�;�
1��
�������1��*�8������
��
����0����;�
1��
�������*����8�����������
�����3�1��������
��*�
��=��
��=�� 1��3��1�
�<
���
�<�����8���
������8�����
��=��
���������
�������������
,��8���=D����������8���
���1���
��������11
���
���		
���1�/���������*������
������
�� ����
������ �� ���
�� ��� ����� 
����
��� �� =
���� ���1��� ��� �����
��� 
� ���
���
���<��
�����=�����<�����������;��1���
�����������������8�J�����
����
���8���
�1���
�� �������� ��11
� 1���� 0���
� ����������� �� ���
��� 8��3�������� �
11
� 	���
�
/�������	�
1���
���K� �� <
������ =
���� 0��0���
��� �� 0��0���
��� ;�
� �� 1F� 
� 0
��
� 3���� �1� 1����
�
1��������� 8��� �
��
� ��1�3���3
� 3����
1��F*� �� �1�� 	�1���� �8���
��� ���1�� ��
8�18
����11����1� 1��
������	
������
��������3�� 1���
���<��=���������3������������1�
1������
����������
��	��
&
�0���
�A�
1��������������
�3
1�0�������8�@�����8���
��1���
.1��	�1����=
����
��=��
1	
���1
�3������=
����������
������	
������
����������
�=��
3��00����
� �=��<
���������
�����
��=�� ���0���
�
���������������������� ��
���=�
�
�������������;�
1���=����
��
)����
1�F��1��������/������������11
�=
��
������� ��=��8�C��
�1���
33����<
������

11
� ��
� �����
� �� 
11
� ��
� �������
� ��11�� ��=���
������ 8�1������ =
� �
8���� �=��
�����������1������1���A������
���������������1
������
 ����8�����������
��
������
���������1�����������
�����;������1����
���
���
11@�����������
����H��
�
	�

�����E�������
����=����
������������
��6����
����
�����
���
�����:7

11
�������
��
�=�������8������
���
1�����=�������00������
1����
��������=�
�
�1@
881
����8���
��
� 8�1����
� �=�� ��� ��8����� �� ��� ��8���� ��11
� ������
�	
� 8�J� �=�� ��11
�
����
���
�	
� �� 8�����
� ���
� ��� 1�0������� �����������
����
1���
� �=�������� 
�
������
��� 1@� ��8����0�1���� ���A��=��
�����,�<�
 �
11��
	�������������0�	����� �/���
�8���
�����
1��������8����1� ���
������������
������	�������1����
��
���8���
���
�
	�1���� �� <
������ �=�� ��
��� 1
� 8�1����
� 8��� <
��� 8��<�������� ��� ������
�	
� �� �1�
1�0�������8����������
�����
����������	
� ����
����
�
��=���8���
�
�8��<���
����

Page 3 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��11
�1�3
�8�
11
��������11
����
�1�
�	
�������0���3
��
,
�����3�11���
����
�������
����=����
�������� �1����8���������8
����8�J� �=�����
<���
1�����
��������
1���
� �=�� ��� ������ 8����
0�1�� 
�� ����� ����1��� �� 8�������� �� 	�1���� ��
<
������ *� ��� <���
� �������� ��� �����<��
���� �� ��� �����<��
��*� ��� ������� �� ���� 1����
8��01���*��������H��E��8�����<������
�����<����	�
1���
����H��E��������������
8�����

11
����8
�
	���������
1���
!���
�������
�����������6��1�7����
��=���
�0�11���
,�
���8��=�*�3�11���
�����8��������*�1���
88�
���0�����+
����8�
������K��
&
���3�1�����<����	
���
���1�����=����
��
���
1����
����=��=
�������0�����3���1
���3��1���
��11@
���
� 
11
� ��
� ��
���F� A� 
<<
��� ���� 8��=�� ���� ��00�
��� 
�������F� ���
�����	����������
�����	����� �� ���
� 1@��
��
� �����
� ��� ����
� 1
� 8
�1���
� ��
�
*� �������
��3������������ 1�;�
��� �� 
������� 68��� +
11
��A� E�������	�
�
 	���	�
��E7� ��3��
8���8��
�1
�#����
��33�����1�����8�����<���������������������
8��8�1�������=��=
����
0�������������
������������
&
� #����
� �
� �
����
��
��� 
1� 8�8�1�� �� 8����
������ ���
� �����
� ��11
� ��
�

�����<<�����	
� ������������� 1�� �88���	����� ����� ����� +���
����� H�
	
 ��
���������
��
����
��
���	��
��
��
�������
����
��
��

���������
���
�	�����
��

	���	����
��
��
	������E��
/
�
<�
�
���� �1
�� &��=��
�� ��1� ��������������
 �	�
��� H,�
��� 3�
���
����� ��1�
<������� �� ;�
���� 8
�1�
��� ���� �����
��� �
� ��������
���� ,�������
��� �����
������
���������		�
����/���=D����8������������
��=���1�8�J�8����1���
�0�
������
8�������� ������������ �1� <������� �� 
11�� ������� ���8�� ��
��� ���������� 
� �������
���������� ���1�� �3����� ���	
� ������� 8
���� ��� ����*� ���	
� �
�0�
�1��� )�3���
���
;��11�� �=�� 3�3���� ��1� 1���� ���8�� �=�� 8������� 
����� �� 3�1���*� ��������=�� ��1�
<�����*������
�������1���<<�������11��1����
	������!��������������������������������
��������
������1���3������=����������
���*��
�1
���
�����1�������8��		
���E�

��

��

��

��(���������

�
��"�3
���1�.
��
*�
��
����
1�1����1
��*��@��
��=��
������
3
�
��
��=�����	�
1��
11

�
������
��
��"�3
���1�.
��
*���1� 1
��*��@��
��=��8
��3
�����
���@��������
11@
�;�
����
������
<�����8������
8�11���
��11@��<����F� ��� ;���1�� ���		����*� A� ������ �1� ��00��� ��*� 8��� �
��� �
� ���� 8���

33�����
*�������������
���1@��0�
���1
�1��������8������
��,�

�

��+
�������
���
2�

�
��
�1
��������
	�������11
��,,$�)�()$������������������
�6�
���������������L7
$�&',�
<���
�
� �
���
�����11
� �
���1
*������8��<���������
��8����
��
�����8�J�
8�*�

11@��F�����������
�����
&@
�����
	����� H�/)� $/�"$,�E*� �3�1�	����� ��11@
�����
	�����������
� H��"M�&&)�
-)�)�$�&',E�
���������
� �
11
� �������
� ����<���
0�1�*� �
�������
� ����11
� 
11@��F� ��� ������ 
���*�

3�3
����������1��
1��
��������1
���6��88���
7���11
������
��������	
�<
��1�
������
#������*�3�
����.
��0
1���������
N��11
���<<���
��8
��
�
*����8�@�������
������
�����*�3�������
���
�
*� ���;��1�
���8�*� �
� ���8��
�
� 3��
1��F � �
���� 8����1�� 
8�� 6� &���
*� &�11
*� �1��
0���
� ��
.����88��
7� ���� ��8����� ��� 
0���
	����� 8��33���3
��� 
� ����8���� ;��11
�
������� ��11���
� ��� ����
��� 8��	����� �� ��� 
��8��
3
��� 8��� ������<
��� �� 0�������
��11
�1���������
�6��
�����11
7�<
��1��
�������������
11��
������������
.1�����������������������;����1���=�������;��11�������
��*�3�3�<��
����
11
�����
1��
���
�
1����8�
���*����������������
11
�������
�
����
��������
���1�
3�*���
<�1
��*�1
�
H������
�
E� ��1
	����� ��1� 8���������� /����1�� 
1� ��5� ���������� �
	���
1�� ��1�
���
��
����
1�����1��C(�*/('&,�5�%*++*���&��(�,/(�&���+&�%*+��(�%(0�
��(D*�6/(�,&*/*�%&��/(�(+&'�*�������/*�+*E��
&
� H�������
E� 8��1������� 8�������	�
1�*� ;��1� �
�����
1�� ��18�� ��� ����
� ��11��
H��
�8����� ��<
���1�E*�=
����<
��������������*������0�11����������8��
�����=�����

��
1�
�������3�
88���������1���11����11
�0�����1�
*�<�
��������8
�����
�
����
�
����������11
���
�3��
 � ���
1�����������������������������0��0�������
�0��0����*�
��@
8��8�����8����
�<����
*��=���F�8���=D*�������
13�
������
8���8����8�������
&
� ���������
0�1�� ��<1�������� 8������������
1�� ��� =
� ���������� 
� 8����� ����
���
��� �
�7�8���=D�1��
8��������
����
88��		
��:�
�7�=��;�
1���
���������������1��
8�:�
,�11
�������
����
��
*�8�������������
3����
���
�����
������		
 ������3����1�
�
���8
��
�8���1��
8�*�1����������
3�*�8���1
�1����������
1����������
����
��		
��3
*
�����	�
1�� 8��� 1@���������
� �
*� ��� ;������ �������*� ���� ������� 8��8���� 
��

88��		
�1���

Page 4 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



/��� ����
��� 
����
��� 
�� ��
� 3������� 
����8����<
� ��11
� ��
1�F*� ���<����� ���
���������8����
8������1����������*�<�����8���=D���11@������������
3����1��3���J���11
�
8�����	
*� ��11
� 8��3����	
� �*� ����� ������
��� $�
�� ��� ����1�*� ��1� �
1��1��
������������
�����=
���������+��$�-"�O����H%�$")��!�&��$"/$��+$"$,$E*�1@��������������
�
1
� ��������F� ���
1�� ��� H����
��
���� 
� ��� �
�
���� �� �
����� ��������� ������
�����8� ��� ���� ����#��@� ��
��������
� ��� ������
� ����� �������� �
���� 
��
���
������1�������	
��
���E���	����
����������F��
���=��1
���
�1��
���
����1��
����1��<
�����������1���3�������
)� ������
��� 6L��� ��1���� �=�� =
���� 8
�����8
��� 8
���3�� �� ����<1����� 
� ;��11
�
��������
0�1�� ���� +���
� ��1� �������� �
� ������ ��� "�3
� ��1� .
��
7� ���� 
�
���
1@������� ��1�����8��3��
���1@�8�����
�����1��	
�����=���������=��������������1���������
������� ����<���
� ���
8������
1� 61���??7��������)����1���*� ��3����3�� ��� �� �
����
1�*�
���8��� 8�J� ��������*� <�����
��� �1� ���������� ��11@�������� ��� ������� 
��������
6��
��=����1������	��??7*�1
���
�8
�������8���1����������;�����������*����8�������
0�������8��
1��6��1��
������11@��������$�
�7��
)�������8
�
��*������������
��*��
�����
����=��1@��������
�
�1��3���� ���1�8�������
��11
��
���
	�������11@�3
*�3
�
����������
11
�0
�����11��3����8����������1�� ����
<��	
� ��<
�� �
����� ����
88�1� � H�8
���� �� �=���=�� �����
�����1
���1��������<
���B�
��8
1
� �1�0����������1��
��1��� ����8
���*�3��8�� ��
11�����3����� 1
���
��
�
*�8���

��
��
���8��33�����������
���
�������8����1�E��
-�����
��������
��*�
�;��11�����8�@�0
��=��������������11��
���*��F�<
��������=���
1��
H0�		����E� ��� 1
� 8����
� ���� 1�� 3����*� ���� 1
� 3���*� ���� �1� 8����	�
1�� 3���*�
������
���
���3���
���;�
1���
������8���
�������
������11��<��	�������1��������
+����������3����*��
11��3�������
������������
���1���
�"�3
���1�.
��
*��=��1@��������
<������ ����� ���
<��
� ���
��3
*� 8��� ��� ��1�� ����3� � �������� �� ��		�� 8���
H%&6*�%*/'&�'*�-���(�9�,,*/*�*� 6*/&/*�'*�-���,,����/*E�� ����

�
��D� �1� H�������E��D� �1� H����
��E �8����0�1������ ����
� �1�8�
���������1
������
�������
�8
11
�8���1
�����
��
"����������
� ��� 
�����
�
� ���� ;�
1�=�� �
1� ��� 8
���
� 1
� ��
� ������
��
�
������<��
	���������1@�������������
����
�������8�����1����*�����
��
��8���
���8���=D�
1��
8���������������������
1�*�
��=��;�
�����8�����?�
&�� 
8�� ����� ��
��� ���8��� ��������
��*� ���� �
� /1
����*� ����
������ ��� 3����F�
��3���� �� ��� �������� �=�� �
��=���
��� ��1� 1���� 8����1�� ���8�*� ��� <�
������� ���
����11����	
� ��3��
 � 1
� 1���� ���
��		
	����*� ��� �� 1���� ���������� ��11@
13�
��*�
����������������
�8��3
��
���0�1��
��11@����11����	
���3��
��
H,������3���*�3�������*��
���*�8���*�����
����<���1���������81��
���
��=��;�
����
����
�
1�		
��� 6-�!�"��/)7*� ��<
���
0�1�*� ����������� 
� �
1� 8����� �
� ����
8������
��� �
�� ������� ��1� ������� �� ��	����� ��� <�����
���1
��3
� ���� ���<������
��11@
8�������
 � ����� ���;����
������8��*� ����������*� �� ��<<�
��� ������
��� �� 1��
����1���	���
���1��=�E��
&��
8���������������*�8�3�����*�1
�1�0���F*�1@
�������
�6����������	��?7*�1
�1�0��
�
��������
	����*�1@����11����	
*��
�
�������
��
���*��
����8�@����
��3
 �
���������
����������*����8��
������8
���3�*�
1����8��������1�1�����������?�
��1� ������ ��11�� 
8�*� �=��8���=
� �� �����8����*� 1@��3����3
������*� 1@�00�����	
�
�����<
*� 1@����3���
1��F�3����� 6�
13�1�
� ����
��������������
�����??7����������
�

11
���8���������������F���1����88���$�������
��=��1@
8��<
*�
��=��1
�8�J����81����
�� ������
*� A� <������ ��� �������	
� �� ��������F � 1
� ��1���
*� 1
� �����0�1��F*�
1@����3
	�������������
�����11
��N�
����1@
8��H��������
���<
3����11@
0��
��1�*� ���
��
������
1�0�
��������	
���11@
13�
���8������
�����
����8��
���
�
����
���*� ;�
���� ���
�
� ���� ���1�
�
� 6� 
1����� ��

� 8��� 3�1�
7� ���� �����
����1�L��;�
����
1@
��
������� ��18����� 1@
13�
��� ��11@��
� ��� ���� 3������� ������� 1�� ������� ���
��8�
������*��1�
8����
��
���8���*�*�'�&�)�*?E�
%����� 1�� 
8�*� ��� ������ �� ���8�� �� ��� ������ �� 1���=�� ��� 8���
��*� �����8��
��*�

������������ �� �������
�1�� ��8��
��3�� �
���
1�� 6���� ��1���
1�7 � �����<����������

�1�� ������� �1� ����11�� ��11@�00�����	
� ����
� �� 8
���3
*� <����� ���1�� 8��� �1�
1@���������
�6�
�����
�����
���
��=�����8��
7*�
11�� 1�������1�����������11
���
�
���
��		
	������
��"�3
���1�.
��
*���
	���
11
���1
	�������1�����8���������*��=�����A��������
������
A*� ����
� �� ������F*� �1� ���1���� 8���������� 8����0�1�*� =�� �
���
��� ����
���3��������� �
�7��=������<�����*����	
�
�����������������	
�
1���
�8�����8���	������
���
1�*�
������
13�
��*���
���

�
8���8�����B�
�7� �=�� 8��� �=�� ��3���
� A� �����8���
0�1�� 8�����3���� ����3���
1��F� 6
��=��

�����
	�����������3
���
8�7��=��
0���
������=���������
���
���������
��� 1
� 1����
�����1
���F��&@
13�
����
88������
��1�����������11
���������F��
���
1������
1���*����
���������	
*�������������8��������
11@�����3�������1���1��
�����11��.)$M��)�
�/)*�1@��8����0�1��F����;�
1��
���
88���������1���
1�*����3���

/� ���
������
�
	����������
��������
	������
N�
���� 
11
� 8���
� ��3�� ����� ��� ������� ���
���� ��8�������
��� �
11@�����3�����
H���������E���1��
88������
������11
�������������
�
�����
	�������11�� H.)$M��)�
�/)� $/�"$,�E�� N�
���� �� ���3
������������ 
� ��8�����*� ���	
�<
��
��
� �� ���	
�
8
�������3��
*�;�
���� ������ �
�� ��������3
��*�8�C������<��
����7� �=�� �� �����
���3
���=
�����
8�������������=���1���1��
��������3
1����8������������	
���<<����	
�
�����FB��7��=�������3
��*��
��/)�$/�"$,�LL���
,����8��8�����
����������=��1
��8�����������
���
�1
�����������
N�
���� 
11
� ������
� ��3�� �������
��� �=�� 1
� ���
	����� ��11
� ���8
���
� ��1�
,���11�� ����1�
� ����� ���8���
*� 
1����� ��� 8��3
1��	
� ��� 
1� ������ ���1�� ��������
0�		������������*��
�����������8�������� �1���1�����
8�����=
����1
���
���������1��
���
��*� =
���� �
�������� �1� 1���� 
13�
���� &
� <������� 
1�=����
� ��� �����0�1��F�

Page 5 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��3���������=
�
3����1�����8����1��������������8����
���1
��8��
�	
��
.�
	��������;��B��1�3����������
������������F�
����������?�����1
�H��������E��=��
���
��
	�����
�
���
 ��
���	���
���
����������
�
�����#�1���	��1��
�����������

����
	
��
��
��������4G0�

#����������1�
�

��

������3����
������
�������

�
����&�'�����&�+�&�*�

�
�
�
�

+����	��������
��'�������

�
/�"�&��6,�%)")��7�"'#")���

��&'��&+&*�

�$%�"!)&)()�*�.$��)��6#�,)%�7���&&@$����)����!'��%��)��")M���&�&�.$*�
,M�&��)�
"),'&%�)�!�&���&�%$�%�,%�%$,,)�$&$.)�$�,')��$%�)��

�
!
����
��
���11�*��������������*�

�������11��
1���
*������������
��������
���������;���
1���
���11�*����������������

!���*�������1�
���1�
�<��������*�
������0
0������11
*�������
���*�


�����;�����
1�����3������8�����*�
�����
��������
�������
��������

!
������11��
������8��������*�8���
1������11��
��8���
1���������*�

;������
1������11����8���
1�����������
)�<���*�;�
����
3�����<
������1������1�
�
����
���*�

1�����<��������*�8��������
8�����1����
1�*�
��
<<���=D����������3����������8������
1�*�

;�
�����
88�
��1������������
����
�����
���
��
��11��

��

�
�����<
*�;�
���������F3
���0�3�����+�1
��� �� ��8������������F��
��
���"��
�
6�
8�1��1@
3�3
����������
��
����8�		�7����������������������
�����
��������
����
��1� ����11�� ��11�� �8���
��1�B� ������
���*� �����������*� 1@
����<��
� ��������*�
;��11
���11@
3
��8���
��1����1
�<���������
1��I���1�3���3
��
N��1��=��3�������8��A�;��1��=��
00�
�������B������8����
��1�1�������������=��
3��1��
���8�
������;�
���������
3
�8�������
������
�@��
���
�3�1�
� �1������������
	���
1����1����
��
��*��@��
���
�3�1�
� �1����
��*�
�@��
���
�3�1�
����8�		�����1������
$���*� ��
� �
��� 6����� ��<��������� �
����0����
<���� A� �����	���
1�7� �� 0
11������
6
3��������
��� �=�� 1�� ���
������ ��
����<
������00���7*� ��
���=��������
���� ��
3�����1�8�*� 1
�P�������� ���������
1��=
��<<����� �1�8�J�
��
������1��
���0
��*�
�
���������
������1���
8�	���1�����
���*��
�����
�0���
�
1�����=��������
�0���
�
11
�
0������#���
�
�������
��
&
����3�������=
�
3�����1�����8���
������
 �
���0
�
*������1����*��1�9�*������
��
�=�9�6�<���.��#
���1���7� �=��=
� ��<�
��
����1��
������������
�1������3
��*������
���3
�������
		��
��B��
�
��=�����
����*��������<�1���*���������1�<
���*��������
���8����*� �D� ��� 8�1���� '�
� ��3��F� ��
� �
��
� ��
���
� ��
��	����*� ��1� ��1��� ��11
�
��������F � �1� ���
����� ��� 8������� '�� �
��� �
� 8
�����*� ������
*� ;�
��� ���
8
�������������B���<
11�0�1��;�
���;�
�����1�����$��1����.���
�����
��
8��������
���������6���<
�8�������7�
1�����
����
���������
�����3�1���
�
N�
1�=��3���� 6������������ ��������*��
7� ���������
*����8��
����
3��1�
�8��� 1
�
�
��
�	
������������
1�
����@A�8����1�3
�
�6�<���;�����
�
		
������11
����
���17*�
�
*� 
1� 8
��� ���� 3�������� �
�
����*� =
� ������
��� �����*� ���		���� �� 8
����
1�����=��
8��������8���	�������68�J���3�������7�8������������
�	
��
&@��3��
�
� '���F� ������
��
� ������� ��� ������� ����1���� ��� ��������11
0�1�� �=��
�����0����1�
���
��
������3��1�� ������������
���
�����������������8����� �����
���
�8
*�
�����
��8����*�
�
�
����������
����������
���*�;�
���
�3������
����������������.�
��
�����������*�
�
��=��	
��*�
�8
����
��*�
��
�������
����)�����������
��
������������3�3�
�������
1�����������������8���
����=��0
��
�����������11
�<��
�	�
��
�8������������������

Page 6 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��11
�������*� ���
������*� ������
����8���<�1�� �� 1��=����*� ��
���*� 0�����*� �8���=�� ��
�
���3�:�
��
11��
*�������������11F*������
���
��F*��
����	
�8
�1F��
�� ���K� �=�� 
11
� ���8
���
� ��1� ,���11�*� ��1� ���� ���1��� 8�J� ����� 61�� 	����1��
��1�������
7*� �@A� ���8���
��� �=�� ��
� 1�� ����
�1��� �������� 
� "�3
� �����1
������
���8�<
�������)�<
����
88
��3
����8�<
������ �1�<
�����=���������<�������3����<�����
�
1�������*��D�8������<������
1�����*��D�������<������
1�����������6;����
���88
�
�7��
!
1�8��������
11@
	������1�8
����A���
���0��3�*���00����8�J�1�������11
��
�0
��
'�@
0�1���;�
��
������
��
�����6������11��������7��
8����
����
11@����������.�
�����
6��
3������� �
� "�7*� �������
������ �� ���� ������	����*� =
� �
�8��
��*�
�����3
�
�����*����
�������
��������������������*�8�J�1
�����=����������6���8����7��
$���� ����
���� ������
��*������ �
<<A����0���*������8
��������� ��������
��*������
��1
�������
�
*������1�0����<��1�
��*�����������
�8���
�8���1@
0��������
�����
����
�����
*� ����� �����<���� 0�
�����*� =
� ������0����� 
� ���81��
��� 1
� �
���1�
� ���
�
�8�����������������
��1���
�
�
1�		
���
11
�0�����
��
��1����8�������11
���1�0�����
�����
��3
���11
�����1
���11
������3
��		
*�������1�
���
����������3
���������8����������������3�1�
����
M�������8����
���;������������������������������
�1����
�@� ������� �=�� �1� ����������� 8��� ������ ���� ���
�� ������������� A������� �<<����� ���
���8�<
������
11���������B�
1�������������
<������*�;�
��������*������1���
�����*�
�3�����/��=�������*���1��������1�*�
1�����
�<�0�*�����������*�;�
������
���*�����8��������
�����<��������
��
/����0�1�� �=�*� 
11@��8��33���*�������;������ ��8������� ��1� ������
���
1�� 6��8����
3����
1�7� ���� �����
��� 8�J� 
� ������<��
��*� ���3������*� �������
��� �1� ������ 6�1�
����3�7���11
�1�����������	
:�
#��� ���8�� ;�
���� �1� �
���� �� 1
� 3�18�*� �
� ��1�*� ������3
��� 
� ���3������� �1��
��3���������
��������
���1����������@����
1��
�8���������
��1�*�8�����1��81��
�1���
M�3����*�
���;��*������1����8���������������L��1��81��
���:�
�$%�"!)&)()��

��

� �

��9
�����88���

��

�
��&�������
����#���������4�������5
���

C+��.�����
�����	����
�
����������
��4
����
�7�����������
1�

��	������������4������
����
	���0�
+
���
��=��F��@
������=�������
��
*�
�
����0��������=���=�����
�����
�����
���
���������������<
������������
*��
��.����
���#
���	������1�
�
������
�#�����@��������H��##
����
�4
������������������
����#������
���8�
����������
���
��1�����
�����	��0F�
6��1���*�)))*��������G��
�7�

�
M����� �� ���8�*� �� 1���=�� �� 1�� 
	����*� 3����� �1� ���������� 1���
��� �
11
� ����
� ���
���0�
����8�������8�������������
1��1�0���F�G�
�1����
�G�1�������������<1���������
,��8����8������
����8�*���1����
��
��*����������������������������������F��
)1��
1���������1����
��
��*�����������
88���������1@�������*���8�1�����*�1
�������F*���
����
����*�������1@�������*�1
������
��
������
����
��1�*�A*������
��
�����11@�8��
�
���,=
P��8�
��*��1��
1���������11
��������	
��
,����
��3�1����������*���1�����������������
��1�*�1
������
���3�������������
���11
�
�������	
�����D*� 1
������
���3���������11@����=��A��
�����
1�������
<<����
�
���1�
8�����
����������1�����
��1����A���� ����11����
1�*� �� 1@��1��������A���
���
����
���11
�3������
*� �����
;�
1����*�
���
���*�=
����������*��
�8���������A�3������ 1@�����	
���11�� ����*� ���������*�
8���
����������88�*��
����88��0�����
&
� �������	
*������1��� 1@
����������	
*���1�����������������
��1�*�������0�
�
��1�������1��
11@
���
������1���*�
11
�������
������1�����
/��0
0�1���������<�������� ��� ���K�3
��
�8���
�
� G� �� �
��8���
�
��
������ A�
��������
����
1����8���������3�3�
��*��������������1�����=���33�
�����������
���
�*��� �1�8��������������� ������� ������3�
���A�8��8���� �1����8����11
�������
����
�������F*���11
������
88���	�������11����3������������F*�
��=����11����������<�
�1��

Page 7 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�������F���1���������	���
,��	
� �
�������1� 1������������8�����8����������� ��� ����� �=����
���<��1�� ����
���8�*���������
�*��
����=��1@
���������A�;�������
%���
���� 
1� 8
���� ��� ��1���� �=�� =�� ��
�������� ��8�
*� �� 1�������1�� ��� �=�
3��
���
��1��������
*������� ��8�
��*� ����
����8��8�����*�������8�����
<<�11
������ ����
8�������*���1
�1������
1�		
	����*�8���;�
�����������<��	����������
������11�����1�����
�����	����*�A����8������8�@�8�J�1���
������8�@�8�J���<<���1���
���
1�		
������8�����
�
;�
���������
����
���
����
�����1��1����*��
��
�
*�;�
����A���
�����3�
����
1����������*�����	�
�����<<���
1����
����	�
������11
�H�����
��
�������11��
�
E�6�������A��������
���@
1��
����
	������
1�
���������
���������8���
7*����
���
1������1����8�����������8���
������1����������
�=��3�
���
3
���8��� 1�����
���������
���1��������
�����1��<����*� ���� 1����
����
��1�����3������������
����
�8�J�������
�����
����3��1���8��3�1���
�����@����
�8���8����3
*�;�
1���=����
*�����������A�1�0�������
��8�������8���������������	�*����
��������8���������*����
���
������3
1��
��*���
8���;������1����<���=A�
3�C�3����1
�������
	�
��
!�����
	�
�����A�8��C������8���
��1��
� ����
��������� �����
������������� ���
81
��
*��
���
��
88������
	�����
�������������3����8
�����8
��*���
��=A������
��
�
���������	���������
�����������8���
0�1��8���=D��1����8��������3�3�*���1����8���
$������8���F�;������8��������8
����
11
������
	����*���8
�1
��*�
���
���*�
��=��
���� 1
� ������
*� 
��=�� ���� 1@�����
*� 1@
���	�
*� �=�� ���� A� �
� ����������� �����
�������
���� �� ������������*� 8���=D� �
�� 3���� 
� ��00�� �� 
� 8�������� ��3�����
������������1@�����	
���1
�����=�		
���11���
	����*���������������
������
/
�1
��������00�*� ������=�*� �����
*�����3��1�������������=����������
*�8��1������
��1����
��
��*�
1����=�1�����6;��11��A���8������������	�
1����11
�<����
������1���*�
�=��;�
1����� �������
�������������=
���<������ �1�-
1��
<<�������������*��� ��������
Q�=�������3����1@
���	�
7��
)1����
���A�1�0���*�A����	�*�������A����������
11��1����*���1@�����1�0����A����������

11
�1�������11
��
���
*����A�1
�3��
*�1
��������
M������ �=�� �1����
��
��������������������
���� �����
���*� �������1�+���
���� ���
M���	�
*�
1�
�����
������11
� 1�00�
���� �
���� ���,=I1��P��,
��00�� ��8����0�1����������� �
����
���8����
�1�00�
�����
���*��
����	
��8
�������
����������	
��
�1�
������8�J������
����������
�1�00�
���
��
�����
�����
/���=D� 8�������� ;�
1���
� ��� 8�J� �� ;�
1���
� ��� ����� ��� ��
� 1�00�
� ��
��
� ���
�
���*�����*�
�
�1�
���1
*�
��
�
����3���
�����
���1
������
�����
����*��
��00�������
����
11
�
1������
�����������=���1����8��8���
�8��������������3�3����<�1��������������8���
������
���	
�;��11
� 1�00�
���� �
���*���8���
������8��������� 1�0��
����
��00�� �
��
����
8�����
�����8
�
0�1���
��	�*�1
�������
*�1
�1�00�
�����
����8�1�
������3�3
��=��
0��
��������1
������
��
����
�� ��
1�
� ��� �
����� 1�� ������� ���8�*� 8��33���� 
� ������1�� ��11�� ������� �
�����
8�����������
1������
����*��������1
��*����������������1��*�8
��
����
��=����
�
;��11��<�0��*���������
8�F��
����������
1����8���<����=���
��1����8��
��=��1
�8�J�8����1
�8
����A�������
��
���
�8���
�1
��
��00�������1���*�
�� 
��=�� ��8�� 8
��
��� �1� ��1���*� 1
� 8�����
� ��� <
��00�� 8��� ���8��� �������� 1
�
������
���������F*� 1
� ���8��
	�������1��81��=���00�� �1� �����0�1��8�������� ��� ����

3���8��������8���
�����3���
�����*���������1
*�1
�1�00�
*�;�
�������
���
��
��
���� ��� ��
��
� ��� ���������� ��� �
�����
�	
� �� �����
�	
 � ���� 
00�
��� 8
������
8�1�����*���
������������<���������������������������1����=��8��<���
���������������
1��
*���
11��
�1
�8
������
������1����8��8���=D�3��1���0
�
		
������11��8���<����*�
�������������3�13����3�����1����<������1
����������		
�
�3�1����������
��=����3����
A�����
1���00��*����8��*�
11
�������
*����8��*�
11@
���	�
*�
1������*����8��*�
11
�
�������	
��=��3��1��1@�������F*�
��=@���
����8��*����8��*����8��:�
���
��10����

��

�

���57��4���54��#��������
	��������	
��
8�����
��
���
�����
����

��

�1�����������3��A���
��������0
������3�3�����
88
�����
�������8�����8
1��������=��
��������
��� 1
� �
������
� ���
��1��� +�� ��8�������� ��� �����3������ ��� ����� 8�J�
���
����� ��� ��R
1��
� ���
�����*� 8���=A� �� 8����� �=�� ��������00���� ��� �������
��
��
���������
���B�8�����
*�3��������8���������1��;�
1�=����8��������*�;�
1�=��
<�
��������
,��8������������		
���������
�8
��1
�1R��8���������8�������
�����=��=��
3���*�
;����
�8
��1
�A�S������
	�
S��
�
!�+$�"�()���%%$�/")+$ �&��"���$&%��!�&&��-)"+��
.�F�1
��
���1�
���11��<��������
1��������������1��������=
��
88������
������8�����
���������������
������������<��������������11��=����1����11��=�B������8
��
3
��*�
��� <���
3
��*� 1����3
��� �� ������ ���1�� ������� ��1� ������B� 
1����� �����1�;��3
��*�
��8����3
��� �8������*� <
3���3�1�� �� �����
���B� 
1����� =
���� <���
��*� 
1���� ����
N�
�������
3��;�
1���������0
���*�8��<���3���=������<���
��� �8��<�������������
<�����0�������
8�3�1���=�������
�<��������������������
�����
�
!�+$�"�()���%%$�,��$�!$ �&R�,,�+#&���/&���")��
,�
� �1� 1����K� ���
� �=�� �1� �
����K� �
����
� =�� 
���1�
��� �����3����� ��� ��
����

Page 8 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



���������B�
��=��;�
������� ��8��
	�������3���
*� ��8����
���
1�����8��������8�����
6�
13��1���8�
��3�1���8�������
��
��������
����1
���������������1
��3
�
11R�������
��1����������1��1���7����11R
�0�������1�����������1���������=��=��<���
��*�;��11��
��
;�
1��=��
������� ����
����
�8�J�
88
�����
�
������;��11����1
��3��
11
��
��<<
*�
��
8������11�� �� 
11�� ������F� ��1�������81��
���� &R
�������� 
11R������� ��1� ������� ��1�
�����������1
��
�������8����1�������8�
�������<����*��
���������1��8
��1����<�
���

3���� 8������ ��<1������� ��� 8�J� �� ���1��B� 8��
1���*� 1R
88��3
	����� ��� ���
�����
������
1�������������
����=
������ �1��������������8�J��;��1�0�
��������� �1�
8��<�1�� ��1� ���� ��8
���� 
11R��������� '��� ���1�� 
�8����� 8�����3�� ��1� �������
������
�����A� �1��������� ����8�C�8��3������
����
�<����1
	��������1��������1��

�������������		�������1�������0��������������
����=��8������<
��3��
�����������
������
11R���������1������������8������11��8���
��
� �
������ ��� �
�
������ ����1
����
��B� �������� ��C� 
� ��� ��8��
0�1� � 
3����
��3���� ������0�����
� ����3����;��11�� �������=�� �������� ��3����*���F� ��1� ������
8������
��� ���	�
1�����B� �1� ���8����� ��1� ����1
������ ��11R
����01�
� A� <�����
�������������
)1���������11
�������
	�
�A� �1�3���B�
11��3��
	�����=
�8
�����8
����������������
��11��=��;�
1���
�������
�3����������������8���������������������
�
!�+$�"�()���%%$�%�"($ �&R)�%�"M��%$�-)��&��!�&�/"�,)!��%��
&R�����3����� <��
1�� ��1� /���������� A� ��
��� ����
���*� ��� ��3���� 
1� ��
1���� �� ���
�����������������11
�<��	��������1����11
�������
���R���
�����������3���������������*�
��1��������=��=
�8�����
������11���8���������11
�0
���6�8���������3����<��
���<�
�
1���*������A��
���
1�������
��������F������1
������
7���
�������
���1
���������F�
������1�		
���6���������8��
��7�������1������11����	����1����
��
����
!
11R�����3�����<��
1����1�/������������
����1
����<���
������
���
���8�������� �
��1� ���������� ��� "�3
*� 3�� A� ��
��� ���� ��
�0��� ����8����� 6<�
� 3������� �� 0
��*�
;����R�1���
���3����<��
�
7��������*�3
1��
	�������������������
�� ���� 8
����*� ��8�� ;������ ���������*� �1� /���������� �� �1� ������1��� ����������
���1��� 1
�0
��*�������� 1
�0
��� �����������1��� �1�/���������� �� �1� ������1���� �R�
��8���
0�1���=�� �����
��������F���
�
�1
����8�����������
11�������������*��
�
"�3
���1�.
��
� ��
�����8
����� �� ���=
� 1
���
�����R�����
	��������������� 6��11
�
;�
1�� 8����
��� ������� �R
������7 � ��0
������ 
11R�������*� ����F� ���� ���<������
��11R���������
�
�������#�3�1
�;�
�

��,4��
�����
����
�����	��

�
H%=���� �
������� �8���
��E6;���� �
���
0����� �8���
���7� �=�� !���
� )��	�

3�3
� <
���� 1������� 
1� <��1��� Q�
�� ��
��� �
��
� 8��� �� 0
��=������� ��11
�
�
1����
	�����1�����
��
���1�<��1�����#I��������1�����8
���
���������0��1�<<���
,�����������
�����������������������H������3�11���
������
1���������E�
�0�������1�������
����11
����
��������
���������
����
�8��3
��
������������� ����11
		�������������
��3�
���
�"�3
���1�.
��
��
���� ��� ��
��� 
00
��
��� 
11@����
��� ���8���� 8��8���� ���� H1�
����� ���E� 6���1��
������� ��1��7���� H�T8���
����=��E6���8���
�1�7�����
�E81
���U��������1I�<��������
�=����=��10�I@��3�������=�����������8
���E6�K��
���������
1���8
����
11�����
����
���1����������11�*�1��8
����8�J�1
���3�E7��
�00�
���8���
����=�������
��
����<���������������������8�����
��0
��=��������
�
�����8������
���8���=D���3�1���
�<��������
��3�����3�
������
����
�*������0�1�������
��8��
1���
� ���������
� 
��=�� 8��� �1�� ����
��� ��0�1�� ���� �����81��
��� ��������
�
���1��� ��1���������8�
��
��� �����3
�
1�#��
����,K� �� ������� ��3�
��� �
�"�3
� ��1�
.
��
� 8�J� �=�� �
���3�� �8������� ��� ����� 8
���� �� ���3�� �
88������
���� ��� ��
�
����1���
� �@
�������	
� 8
����
�
�� �� 1
� �
����
� �8���
��
���
� ��� 8
��� 
00�
�
�
88������
��6�� �
88�������7
1� ���1��� �1� ������ ��� ����11����	
� ������
� ��
�
�����3�1����������		
��=��
��
���
����0�����
11
��1
������F��)��0
�0
�
���������
�1��
�	�������
�1����
�����������3
1�
�����K�A������8
����

��/
�1��/��

�@������1�0�����*���/
�1��
,��3�1���
��
����1����1��*�

!�8�����1���
3����8���
1���8��1���
�33�		��
������1��
���	���
%����F��������<��=
�������

�D����;������=��	���
�����A�������<<�����
!��/�88�������-��������

�����
���1�������������*�
����3�������
1������3����������8���1������

)�������������������
.����=��8�C�1
�������
B�

,��1�0�����A�1�����1*�1
�3��
�D�8��
�
6"���=����
����+
�	�
1����11
���
��	��������/���+
����
7�

��

�

0��

��

Page 9 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��+���������
��9�������8����������������	
��
�
�����
������0�

�
+�1
��*��������0����

��

�
�
�
�"���
�
*�

�
�������
� ����� ��
��� 
� ����
� 6�������1�*� ��
� ��
� ��11�� �
���� ��� ����F7� 
�
�����
�����11����������11������8
��1�����
�8
��
�����1������8���
11R�1���
�3�1�
��

�
/���;��������������=�����1����1����1�� �,
��R����������61
�8�J�
����
��������
���
�
1��0
��1��=�����+�1
��7*�1
��������
������
�
�
11��+��������63
������11
��������F�
�
���1��
7*���
���1�0�
	���������
���������1��
���������=��=
��=�
�
���
��A�������
��0
�0����<
������
���1�
���1����1R���1�
��������
��
����
11R
1�
����

�
������
3�
�����8���3��<
���
�������������
������;�
����=
�����������

�
/��3
�8������
������
�3������ 1
���1�0�
	����������
�����
������1�����=��������
������������ �1
��������	��������������*�1
�3��
������
*�1R���
��1
�
������	����*�
�1� ���8�� �=����� <
�8
��*� �1� �
����� �=����� <
�3���B� �
33����8����� �=��8���
���
�������8
�����������1���
1�������3����
1����<����������
�����=�
��������������=�*�
��1�3�11
������1�0
1�*�A��
33������
�8����1
������
�	
:�

�
S&R���
�����
� ��� =
� �����S�����3�3
�!��
��11
�N�
����������11
���
� �
���1��
� �
�
"�3
���1�.
��
�����=����������������3������8��������

�
/���������� ��� ����������� ��1� ����� 8�J� 
���1����� ���� ���3�� 
3��� 1����� �1�
���
3��1����� SM
���1�� �������� .��JS� ��� ,
�
�
��� 8��� ���8������1��� �R�
��<<�������� ��������� ��1� �
1���
���� �1� 1����� �1����� ��� +
������ �� ��
��������
����
1�������1���1����������1
�
������������
*�8����
8�����=��1R���
�����
*���88���
8�C�
3���������
���1R������������
��������F*�=
��8
��
��� 1R��
���F�1
���
����
������� ��� �A� ��R��������
0�1�� ���
� ��� �
������ ,�� ��C� ���� 0
��
���� 8�C� <�����

���
�����R�����8���
	�����
�������
� S���� �����
��� �=�� �����
�3������
�8���
���
8
�����11
�����
B����������3������
�8���
���8
��*��
���
��8
�
��,����3������
��<
����
���8
�
���6+
������
*���7S�

�
&
�����
�
����;�������1�����
��������<
�8���
�����������
�0���
�����	�
����	������
A�8���;�������=�����8�
����00��3������1����1�������<
������8
���������������=���1�
�������8��������������������� ��3����������������
�����
1�/
8
*� �=�� ������
�
����������������������
����<
�����
8���*���������;��������*� ���
����8���
��� ��
3����3�����1����
�����=���1������������������������1�0�
�����<<���
1����������������
��
*���88����
�������
��
���
�������*���1�������6�*�8����
���F*�����������������7��

�
�=�� 1
� ��1������� ���� ��
� �1� 8�������� 8��� ����
��� 
� �
����
��� ��� �������� ���
�$)>&$"$��

%�����;����

����������������������������
1������

�����������������������)1�0�		�����

�
�������"�3��
�

��

��

Page 10 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��

��9
�����88���

�

��&��.�����8����.
����������	
����������������������:��

�
!�8�� �� �����<�� �� ��1��	��� )1� ��
�� �
��3�
����� ��
� 1
3��
���� 8��� ����� �� ���
�
�
��3�
:�/���=D:������=�:�,������������
��3���=���1�����1�������������=���������1����
������ 
� <
�� ��1��� 
� 8
1
��� ��
���� ������ ��		�� 
� ���8���	����� ���� ��3���� �D�
8�������8������
!R
1��
�8
�����=�����3��1�
�8�����;�
1�=����������
��3��8�J�
�������=������;��11�����
�8�
��� �� ���
��6� 3���
���� ���8���� 71�� ��<
���		�� ��1� 3������ ��� 8�
		
� �� ���
���
�
������0����������!��������*�8���3��������8���
��1��3�
�;�
1�=��
���*�=
�1������
�
�����
�8�1
����
)1� 8�����8�� ���1�� 
0
����� ��1� ����
��� *+
���� +����*� �
11R
1��� ��11
� ��
� �
�����
�
0������
�
*���1�0�
��� 1��3���J���11
�S�������
�����
1���������
��S6;���������1��
�������������� ���3��
�A��
33������
�8��1
������ 1�������11R
�����1�����<�������1�
������
� ��1� �����3��0��7� �=�
�
�
��
���1�
�
� ��<��
� ��1� 1�0��������
��� �=��
��3��00�� 1�0��
���� �
�� 1
���� �� 1
����1�� ��11
� �������
� ���8��
��3
*� �1� ����
�
��*�
"�<���
	�������������
����1�/
����������������������
1�
����
���� <
� ���1��� �1� 8�����8�� ��11
� ����1
	����� ��1� ����
��� .����� "����*� �
11��
���
������11
�/�������	
�%�1�����������F��=��=
�<
������11
���	����
������������
���������
<�������
���
�8�
���
��
		�
�����*��=����1�0�
�1��3���J���11
��������
�
����1
����
�
6�
���.������1�%���A�����������������
����������
�*�1��
8�1
3�������
���0
����=������=����<�1���������F��=�����8�C�1���������������8
���������1�,�1��
��� $��� ��� 3������� ��� �� �
0
��� ��� ��3��0��� *� ���������� ��1� 8�J� 1
��
������
����
�����������������+
���3�11�
��*�1����
	������	�3
1�������������=��
�����0�����
+����1��
3��00��<
����3�������1��
1����8
���
7��
M�3�
����������8��
��=������1�����*�=�������
*��=�������������������=��������8��
��8�� ����
� 
�� 0
����=����� �����
���� �=�� �1� 0
������ A� ��
� ���
� ����
� �=��
�
�������8������3�1
����
N�������
���������1���)1����3�1
������
8����00��0
�
������1������������1��������=��
A� 8��� S1
� ��00
S�� ���K� �1� 1�0���� ����
��� ��3���
� ��
� 8�
���
� �
�T�
�
� �� 1��
��
	������	�3
1�����
�8�
���
�����
��
�=�� ��� ;����
� ����
	����� 3���
� 8������
��� ��� 8�������� ��� ��<���
� ��11��
8��<�������� �=�� A���
�3��
���8��8��
�+
���11�
��� �����������������8
3���
��D�
�������
�� �����=�1������ -����� ��� 8���
� 
11R
����=�1������� �� ������� �
�������
<���������������8
��������=���F��=����;�
����8
�1
�����
����
1�����������K������
���� ��1�0�
��� 1R���
� ��� ��
� �
��<<
� �����
��
�
*� �=�� ���8����� 
�� ��
� 1����
� ���
����
��� �������� 
11
� 8�001����F� ��11
� <��	����*�=�� ���8����� 
�� ��
� 1����
�
����1
����
��3
����,�
��:�
&R���
� A� ���K���
�����
������0
����
� �=��3����� �
�8���
��� �=�� ������������ �1�
���0�1�� ������ ��� ��
� ;�
1���
�� .�
��
� ��
��
� ���
� �RA:� )1� ��8����� �������� $�
���1��� 1R���
� �=�� 8��� ��8�
33�3���� 3
1�
� 1
� 8��
� <
���� ��8����� ��
� ������ ���
<��	����� 8��8���� ��11R
88
�
��� 8�001���� �=�� �
�
���� �������
��� 
� 8��		�� ���
����
���� ��� ��� 3��1�6��� 3��1�
��78��<����������� 
8����� 
�� ��� ����
��� ��� �
1�
�
0�1�
�
��'�� �
8�1
3���� ������3
����� ��� ����� ��11
��������		
	������ �R� ���K:�
�11��
���
���������
��
���
1�8
��������1����
��
������;������/
�����'��8�@�8�J�
8�3���6����11����
1��������� �
8���� 7�
� ���
������0�1������ 1��
���
��������8��
�=�������������
<�����3���
1��A�<�����8���=D���
���
1����������1����8���
,K�������;��11R
���
����A����0
�������
����������1���������=������������=������������
��������
1����������1����8��S��=�I�9��1��=
3��
���������I��<������������*�3���
�<� �=
�� �������I� 9���� <�T��� 
��� <��	��*1�P�� 
� 0�����<1I� �������� ��� 
�
�
��S6S
����
������
88
�
������������*�
��=�����;��11
��������F�<�����<���
�
�

�����
��������1
�
*��������
�<
�<
11
�������3
�
������
����
S7��

�
0�
�

��

��+������������8�����4��
�#����
�
�������..�0�

��

N�
1�=�����8��<
*�����3�������11
� 1����
���11
���������
�8��3
�
������3
3�*�����

Page 11 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



;�
1�=�������
*��=��8���
���8�������
��00����3����
<<����
����1����
���11
�1����
�
��11@
����8�001���*��
����������� �1�8��<�1�� ��11@
������� &�*�0���K������� �1�8��<�1��
1�����
1������
��
���
1���N�
����������
�	������;���� ���8
�������=��
11@��8��
��� ���8���
��� �
� ;�
1��3��1�
� 1�����
� ���������3����� ����� ��� �
1��� ?� �88����
��11
������
���11
� 1����
� ��
1�
�
�1@
�������
��1��=
����8������������
���*�
1�����
�����3����1��8���1@�����������1�3�1�
�����11
��<��
���11
�1����
��<<���
1��6H,
��V��
V�11�������LE7��
,��1@
�������
��1��������3
����1
��������
���8���
�	
�<�1�1����
��=���F��=�����
�
���<
��00����11@
���
1��1����
�����8�������������������1�)M���11������?�
/��� <�����
� 
1����� 1
� 1����
� ���� ���
�� ��1� ;������
��� A� ��3���
� �
� ;��11
�
�������
� �����������������
���� 1
� ��3��������8
����
�<
��
�;�
1�=��
����<
� �
�
+
����+
�	���
�
11
���
������������1�3���3
�H1@���
3���
��E��
+����
� ��
� ���	����� 8
�����1
��� 8��C� �1� 1����
����� ����� G� ���
��1�*� �8����� �1�
�����1����
�����H��1��
����E�1������
11@�����3
������8��3�1���
�����11
�1���
�����11���
/����1
�8������
 ����
�� ����
��
��>
�����1����1� 1����
�������1��
���������8���
��*�
����� ���
��
1�����������������)1� 1����
�������1��
�����A����81����*��<�������*�
���������
�����
���
	��������� ���������������� 1����
����8��8������
1������		�����
�������
	������ /
������ 1
� �
8����F� ���1�� ��
�0�� �����3
����8���
*� �
8����F� �=��
8���
��������������
��
��������������
�������		
��
)�����
*� ;�
���� ��� �
��
� ��
� �
�1� ���� ��� ��
��
� 8��� �1� �����1��� �������
<���
1������
�
3���=�
�����
��	���
1���������
	������8����1
���6HM���
�����������;����
���
�
�
���3�LE7*�8��=�����3���3�1�����������
1�������1����1�8��01��
*�
���
����������;��1�
8���������
<��
��=���1����8������<<����
)1�1����
�����A�
����F����
�
���
�1��������������1�8
�1
��B�
�����
33�����
����1����1�
8��������� ����
�0� ��������3��������������8��������	
���1������*��
� 1@����
������
8�C� ������ 1����� �� ��1������ &�� ����3����� =
� �8����� 1@��8��������� ��� ���� ��������
�8���
��� ��� �1� 1������� =
� ;��11
*� �����
��
*� ��� 
3��� �
8���� 0����� �
������ ���K�
�
1������*�<�
������������������
�� ;������ ��<����� ����1������ ��1� 1����
����� ��1��
����� ��� 
���������� 
1�����
�
�
���������=����8��=����1����
�� ���
�����
�������	
�6�
�
��
�
����
������
��8���
�1� ��������7� 
� �8
��
��� �1� �
8�11�� ��� ;�
����*� ��� ����
� 8��8�������� 8��� 1
�
8�1����
*� 1@
0�������� 
� �����11
��� �1�� 
���� ��11
� 3��
� ;������
�
� ���� 1
� 8��8��
�
<���
���;�������������
�	
�L��
��
3����1@�1���
�8
��1
��
�
������ ���K� 1�� 	�<<����1��
���=��� ����8�������
��� ��� 8�����
� 1
�8�����1����F�
��11
� 1���
� ;�
���� 3�1����� �1���
��� ��� ��11��
*� <����� ��1� ��<������� 1
� ��
�
8���	����������
88���
�
�;��11
�������
33��
��*���
���1���������H��
������E��������
�1������������1������������
��������������=���������������
��
8�����������
'1���
������1��	�<<��8�J���������
����=
��������
��
���
����������T��
�����������
)� ������������ ��1� /�001���� ��1��� �
���1���� ���� ������
���� ���3�1�������� ��1�
/�001���� '<<���
1�� ���
��� ��1� ��������� ���������
1�*� ������������ 
1����K�
��11@���
�����
������<��	
����
�����
	��������
��1�*�=
����8�1���		
��������=��
��������� 1
� �����
1��F� ��1�����
� ��1� ���
��
��*� ��F� �������� ��1� 8��8���� <�����*�
<�����
�������11��<���
����
1�� ���
���� ��11@�������� ����
������ 1@��8��������*�
�
�1������*�A���
�
������
�8
�����1
�����<
���1��
�
�
������
�0��1��8���	������=��
���=
��
���
1�		
��� 1�����������!�8�� ��8�������
�0�� ������
�� H�8�����
1�E��
3
���
���
��;�
���8��������
������H��������������E��=���
�����������8��C�������
��
���A�������*�8��������
��8�������
�������*��1�������������������H0�		����E*���11
�����
�
������
� ;�
1����� A� ��
��� ��������� �@�<<����� �� ���� 
1���� =
���� 
������� 8���
�8���
��
�������
�1��
�	�<<
�;�
�������A�����
��� �1����
���1�����
������0��1�������)��8���8�����
��
���1����������������
8����������		
���
1�����������=��
11@�����
�/����1��M��������
�����<��<
�������
����=����
�������������8����
��3�����
1��
������
00
����
��
1
� ������������ ��8�� ������ ��
��� 0�11
��*� 
1�����
���� ��������
�����*� �����
�������0�1�����������11
�3��
��+����������K������
����
1������������������������=��
=
� 3����� 1�3
��� 
�� ��� ��11��
� 1
� 8
������ ��� �
���1���*� ����������� 
� ���81����
���8
��		
�������=��;������1@
����8���������1����
�����8��
�������������<���
��3��
��3�F�����
���
�<��;����
����1��
���=������
&
� 3�����
� .�
��
8�1�*� ��F� ���88�� ��������
������ ��8���
� ��11
� 8��8���
� =
�
3����� ��
���������
� ���8���
� ��1� /���������� 6���� 8
��� ��
� ������
�8�J�
����
�
�
�8���
	����� ��� 8��3
��7� 
� ��
� 3�1�
� 0�11
�
� 6���8��� ��������
������ �@�������7�
��������8���
�������
��
&
���
���8���������A��=��1
��
�����
��������������������*�
�81�<��=��1
�3�1���F����
��
������ ��� ���� ��� ��8������� �� ��3�����
��� 1
� �����
� 8���	����*� ��� �������
8���
����������1���0
�����*��1����
��������
3�
������
���
��
�8
1����������6;�
����
�������8�������00�������K�1
�8
��1
����<������
��


�8����	�
1����������:7��
/��� ��3�����
��� 1
� 8��8��
� 8���	����� 0�����
� 8���
� ��� ������ ������ 1����� �*� 8���
�������1����*�0�����
�������������������N�
����8��C�1
���������F������������A�����
�

11
���������F�������8���
� ��1���� 6����� ��0
���������
� ����
����8
��� ���������7� A�
<
��1��������1��3
��� 1@��
���		
���1� 1����
������������������8����0�1���
1������*�
������������F���������<��=�*�������
	����*��8���
	������
/��*�����������*�3��A�����1��������������
���
	����������1�1����
���������
�����
��1�3���3� �8��������� 1����*�����0
��
����������������� ������3���� ����� ����11������*�
�
�0�����
�������0��11
���*������������
��
�����������������8��C����������
�������1��
���� �1� ��3�������1�*�
11��
� 1
�<
��1��������
���
�8���0��
��� 1����=�����A� 1@������
8��3��
����� ��� �1� ����� 8�J� �<<��
��� ��11@
�0���� ��� ��� ��0
������ A� 8
��
��� �
1�
��0
������ 8
�
��� 6����� ������7� 
11
� �<��
*� ������
*� 0���
�1
� ��� 	�<<
� ����
����������������1��*�����<���
�����1��������11@
33���
�����
���� �=�� ������ ��C� ���� 8���
� ������ ��3�������*� 
� 8����1�� ������ %���
3�
�
�1���
������ 1
� ����
	����� ��� ���0�
� ��� 8�@� �������
�
� �� �
1� ��0
������
�T��
�������������A�8���������
�<����
���1���0
���������������*���3���
<<��	��1
���
�
�8��������
����8�J���18��������
<<������1���11��
>
33���
����������1���1
���
�����*�
�
���
���1�� ��� 8���	����� ��� �������
���
*� 8���	����� �������� ��� ��� ���
��
���
���������������<<����	
���11����1
��3�����������	��<��
1��8����������
"������� �=�� ;�
1�=�� 
���� <
� .
		���� �� .
0���11�*� ��F� �
������ �� 
11��3�*�

Page 12 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



3�1��
������ ��
���
����� �� ����� ��� ��� ��0
������ ��
� 1���� ��� �
����
� ��� 8�����
���
��3�*� 0���
���1
� 0���
1������ ��1� 8�����
1��� N�
���� ��� �3�1
����� ��
���������
���11@�1�����
�����1��1��������<��
������������8�����
1����3������������
1
�����
	��������
3��������8�J���������
����1
����8��
��,���
�
�������K�1
�	�<<
�
��� 
�0���� ���������*� �����
������ 
3�
���� 
1	
��� 1�� ��
	�� ��11
� ��3���
� ��1�
���
��
��*��=����8��C�1
����8��
*�����=���������
3�
����
00�
���0����������
1	
���
1���=
��� ��11
� 1���
�����11�����1�		
����;���������
�
������� �@��������������� ���
���0�	�����8�����
1����������������0
�����:�
!
11
����8���
�
�;����
� ���
��
� ��3��00�� ����������� �1������ ��� �1� 1����
�����
�=�����������*�3�1�
�8���3�1�
�������1�		
����

���
���,8��
<����

��

��

��

��9
�����88���

��

�

��&����
#
�������������
�����	
���8�

�
)���3��
��=�:�

�
&
������
���3���
� ��������8����
��� 1
�8�����
1��F��������
���8���������
�����F� ��
�
8
���F����
�����1
	�������11����3�����F���11@
�����

���
&
� ���
	����� ��11
� ���8
���
� ��1� ,���11�� ���	�
� ���� ;������ ������� 1
�
8�001��
	�������11���
�1��8�J��
1����������
������ ��� 1���
������
11���
���
11@����F�
�=����������3�������1��������
���������11
�&���
�,���11���
/��� �3��������
��������������=�� ���8��3
�I�����
00�
���3�1�����3�1
�3�� �1������
���1��
��������11�������3���
/��� �3������� �� ����� �3������� �
������ 8�1��������������=�*� �� 
��=�� 8��� 1��
������	�� ��� 1�0��
1�		
	����� �� ��8�
������� 8��� 1
� ����1
� ���� ������
����� �� ����
����
����� 
00�
��� 3�1���� ������*� 
� 8
������ �
� ;������ ������*� ��� ���������
������1
�� �H�=��1�����3
�1������3
�E�
%����� �� 1������� ��11
� ���8
���
� ��1� ,���11�� 8������� 8
�����8
��� 1�0��
������ ��
��
����
������
1�����������
����
����0��
�����11
���������1�8��������*�1
�<
�
*��
�����1
�����=�		
*���3���F�
���
8��
��� ��� ���8�� ���1�� 
1� 3��������� ��� 8�������� �������� ��11
� ��
��	�����
�
���������
�������
1����
1�
�
*�
�������
���11
�	��
����8��3�����	
�����=��
3�F�
����3��
���1@
�������������������8�����������������
&��1�������������
�������		
���
11
����
	�������11
����8
���
���1�,���11�����0���
�
�=���
*�3�
��
�1*��
������1��������11@
����������������
���������
�8
��11���

�
%=��0��������=�9?�

�
6��
��	������
11R���1����������������
�=������11R
88���������������
��		
����
11
�
����1
�������
��
�����11
�&��0
���
 �S�1��0��������11���8���
��1�S7�

�
+$��+�!��V#�"�&'�VO�����������������*���1����������������������������*�������
�8���
�

������
*�
������
*�����
���������<��
��������3
1����������1�����*� �11����
�
���� �11����
���*�A�
�����3�����*� �1��
��������*� ��1� ��0
������ ��� H!�+$�"�%)�)%�@� !�&&��
),%)%'()$�)�4�!)")%%)�!�&&@$//$,)()$��E��

�

Page 13 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��1�� A� ��� ;�
1�<��
��� ��� 
88��		
��� H�8��� ������E*� ����*� �
��*� ��������� ��1�
���
��
��*������
��1����11
��������
	����*�������
������
�������������3
�������
�
�
����
1��F��+�=
�������8������8�J�����=���;���
1�����1�3
1������11
���11��
�	
*��1�
�������� ��11@���
����� �� 1�� �������� ��11@
88
���	
B� A� ���
��� ��� ��@�<<��
��*�
8�����
1�*� �������3�� �� 8����
��3�� 
��
����
���� ��
1������� �=�� 8�����
� ��1�
8��<����*���3��1
���11��
�	
��<��
���11@����11��
�	
��
�
� ���
��� ����� �
� ������
���� ������� � ����
������ ��� <���1�F*� 0
���� ��� <�11
*�
�������������

�����
	�����8��<������
1� ��<<��������������8
��1����3
������������
	����*�8��8����
�����=
�<
��������1
����8���
�
11
���11��
���������1������
	���
1��#
���1�����
��1�����8
��
������1�
���*���
�����
�
���������1�1�
������11
�����
���1������V)+�
Q$�.�)) �;��11������=��1���������3
���
�1@
���������=��H�
���
�;����
��������
�
8������� �������0���
��� �
11
�<������
E� 6����� ��3��00��<
��� 1
�#
���1���???7�� �@�
���8�����
������3������=�� �����
�� ������
����� ��3����0
��
��� 1����
�8�������1�
/���������B�������
�
1��������������1
���
�8
���<�1
��
)1� ��1��� ��11
� 8�����
1��F� �=�� +$��+�!� �V#�"� &'�VO� ���������� =
� �
� ���8���
������������
8������� A� ��3������ ��
� ��
1�F� ���� ������� ������ � ��
� 1K� 
� �������
��*�
���;��3��
0�1�����*�H�=��1
��
		
�����=��8����1����1
�8��8����	
�����������������F�
�
�E��

/� �1
����
	����*�=
���������*����8���
11@��
�����F*��������
1
������
1����<
�����
��11��
�
6��3��������3��
���
��=��;����������*��=��A�������������11@
1���LLL�7�����1
�
��������� ����3
	���� � H� �&� +)&)%��%�� ,�"��$LLL�L��7� 8��� ���� 
3��� �
��
������
��� 1�� ���1�� ��11�� ���� ��
�8����� 8��� 
��
��� ��������� 
11�� ����� ��� 
��
�����������
1����B��7�8���
3�������
��������������
����
1�8�18���*�;�
1��8���=�����
�� <���1�� ��3������� �����
��� �� ;�
1�� ��*� 8���=D� 01
�<���B� �7� 8��� ��������
����
��
0�1������ ��8���
���
� ��
���
��� �� H8�1������ ���
8
��E*� ���� 1
� ��
� 8���
�
��3��
*� ���<��
���� �� ���
1�*� <
������ �8
1
��
��� ������ �� 1���� 8����� 3��
�����
��<���
1�??�

�
/��� �1
����
	�����=
���������*����8���
11@��
�����F*�������
����;�
������8�
*�
��� 8����
��� �1���� �=�� �1� 3��������*� 1@
������ ;��� ���8�
��*� ��1��� 
�
��*� ��� ���*�

��=�����<
���
���<
���
�
���
��������*�����3��1�
���
���1��
�������3�1
�3�� �1�
����LLLLLLLLLLLLLLLLLLLLLLLLLL���

�
.1������	���=�������;��*�8���
���
�3�*�3��8����
����
����������1��;����� �

�
H�
�
�.��1�
�
*�
�1����������3��������1���
�������0�
�����1��
��������88������*�8���3
�����
�������

�
�=��.�
�<�
����"����
���
����������1���������������R����<
�����=���R��������1�����=��
��������������
��8��������
�"�3
���1�.
��
B��
���1��1���R����8�����
����

�
&
���������6L7��R����8��������8���
0�1�6L7�

�
����������������������������
�������
��I�J��
�	����4�����

�
������
J1�
������� �� �
� ��� �
������������I� ��� ���
� �..
�	�����
K� ��� �������
��� ���
������������������
1��
�����
#��
��
������������������	������������
��
���������� 
� ���� �� ����� ��
���
��
� 
� D��
� ��
���
��
� 
� ���� ����
��� �
��
3�
�����������
����
��
���
���	������������I�����������
����
��������.���
����
K� ����
��� ��#
�
� ��� ���
�� ���������
� ��� ��
���
��
� �������1� �
�� ����
���
���
�
��������
������������� �������1����
�����#��
�#������������4
�����
���#���������������
�����
����I0�

�
)��
�	������� ��11
� 8���
� �����
�
� ���������
1�� ���� ��
� 8��3����*� �� ���� 1�� �R�
��
����
�����8
��
��*�
1���������3���������8
�����8
�����

�
�������=��.�
�<�
����"������
00�
�0������������<������*�8���=�R�����
���<�������
0����������
���1���

�
�������	
��
� 
� �
���� ���
	���� �������	
��
� 
� �
���� ���
	����
�������	
��
� 
� �
���� ���
	���� �������	
��
� 
� �
���� ���
	����
�������	
��
�
��
���2222222222F�

�
WWWWWWW�

H����8��������
1����3��������
��		
����
11
�-���
	�������1����
��
���
�+�1
����

�

Page 14 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



,�������
���
�+�1
�������3�������������������8���3�������
�����

�
��R�3�1�3�������
���*���������1��8������;����
����
���������<���
��3��6�������=��
8��R�0������*�
8���;����R
���7*��
���1��������1���3
������8���=�R��������������� 1��������<����
������������<����������0���	��4�������#�����1��
��������#���1����.
����0�

�
=�������������3������8
�����8
���
�;��11�����+�1
����

LLLLL���8������� ���� ���8����3��
R� 
11R������	
� ��� ������ �1� ���
��
��� ��� 
3����
���1��������		������11�������
	�������11�����1����
����������

+�����0�
��=�������
��������8��R���8���
������11����������������
��		���LLL��8���
�������
���=����11R
������
������8��<������
1��=
�������8���8��R���������
R��

�
LLLLL-
���
��������11
�<
��1�� �����
���1���1������11��8
����*���11
����8���	�����
��11�� 1���� �� 
���������
� ��11
� 3
1��	
� �������
� ��11��
=������LLLLLLLLLLLLLLL���

�
LLLLLLLLLLLLLLLL� ��� ���0�
� <�
��
������ ���88�� <
��1�� �� ��1���
���������������
���<����������=������R�8�����
���
1��
������8����
����������;����������1�
����

�
%�
� 1R
1���*� ��� ���
���� 8���=�R� ������� ��11�� �1����� <�1�� ��� ��
� ��
���� �
1
�
LLLLL�

�
LLLL3����
�������������8�����1�0������11��8�����������<�1���

�
3�������
8���� ���;�
�����
1���������3�����
�����8
�����8�
���1��������=
�������
���
	��������8�
���8�������3���LLLLLLLLLLLLLLLLLL���

�
-
����� �
8���� 
11
� -���
	����� ��� �������
��		
���8��R� ���3����� 8��� ���
�� ���
;��11
�������

�
�
����I1��I�������������
�������4
1�	���	�����	�����
��
�
������I����I�
���������#�1��
��.�#��
0�

�
�������	
��
� �������	
��
� 
� �
���� ���
	���� �������	
��
� 
� �
����
���
	�����������	
��
�
��
�������
	�����������	
��
�
��
�������
	����
�������	
��
�
��
���2222222222F�

�
���3�����<���������=����������������
����

�
&����
6
�����
�����7�������3
�

�
!
11
�1���
 �
S�
�
�!
���1
*�
�����3����8���
������1
���
�1�����
�������8���
�
�.��1�
�
�#
���1���*���;�����*�����
�����3���� 
<<
���� 1R
������
�����*� �=�� =�� ��F� ������
��� ��R
1��
� 3�1�
� ���
���
���������1��������������/��
��*����.��1�
�
�#
���1�����
�
����
1����
.)���-"���$��$�!$RS�
/��������� �
�� ���� ;����
� 1����
� 8�J� �=�� ���3��
��� !���
����� 8���
� 
1� ���������� ����
+���
���� �
S&R�0����
��������1R
�������R�8����������1
�81��������8���3�����0�����������1������
����
��*����1�*���
�����T*������81
��<*��
3�*������T*������1R
��:S��

�
%���
������0��1����� ��
��=���
		
����8�����
�A:�

�
%�
�������������������������
�����11
�1���
�����11�*�;��11����1�%���
������0��1������
A������������������
&��8
��1������1
�8
��1��������8���
�����@A��=�������8��33��
�0���������
���<
���11
�
3��
��������
��
�0�
������
��=���������1@��������=������
�����1
�3��
���11@�����

Page 15 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...




���18������
��=���
�0�11�����
����
��=�3����
&@�����������������
�������3��
����� ��� �8������
� � ;��11
� ���� ������3�3����� �=��
<
���� ����
������ 
�� ����� 8
���� ��1� 1���� 8�������� �@������� �� ���;��� ����� 
�
;��11����������B�;��11
�����3�3�������1����������=��8���
����=���1�8�����������1��
���������
����8����0�1����11����������=����
��1�����
���
����
���C�8�����8������=��
3
�����������1�����������������������001��=���
�����@A��������
����������
���F����;���������������01���
����
11
��
1
�<�������
1�
8�������	����
&
����
�
���11
�1�0��
	������
1��
���
1��������
1�����
��=������
�0���0��0�1
���
��
������������ �=���8����������������
�����1������������1� 1��������������������A�
1@�����8����00���������;��11
������
�
��
��=����11��1
��=����
������1����P
�������
�
91��
��� ����� ��
��U
� ,��� �� +
��=
� ����0
��� ������ ��� ���
1���
��11@����3���
1��F�1
�<
���
��������
���11
��
8
���F�����������=��
�����
��������F�
����3���
1�� �� ����
1��� )�����
� �� 3
1���� ���� ����� 8
��������� ��1�� ��1������� ��
��8�
������� ����� ������
� ��1
�I� /���
�� �� <
���� 0��� 8������� ������� 3
1�����
���=��I� �88�
=� ��� <
� 
33������� �=�� �8����� ��� �������� 8��� �����1���
���

���<�����
��������11����<<����	����������3�����
88�������
�����������3
1������@�
��C��=��
��
������8���8�J����<��;���������1���
��
�� ���� ��1�0���� �����;��11
� ��1� ������� �=���8��
� 1@�8������
� �=����� ��1
� �������
1@�����������������<
������
�<������� �1� 8��01������E� -
���1�� ��
� 8��������
�
�
������	���?�&�������
���H���K������������������������������
/���
��*�8���
����
33��������K���
�������������
�<
����������
����
����8����������
$���
���� ��11
� ������ ��� �
��
	����6
� 8��8������ ��
	��� 
1� /���������� +
1����?7�

��=��
�8��8��������11@
����������
�����<
����
�<���������1�3
1������1�����	���
����
����
���*���11��8�����
��3�����
��1�� ��� ������3
	����������8�001����F�����
1��
����	�� ��<
����
33������� ��11@������
�8�����1����F��������
��
���<�����
������11
�
<
����8������
/���
3
��� �� 8����
��� �=�� ��� ;������ <������ ��� 8������� �������� ��� �
�8��
1@��������� ��11
� ���������
	����� ��� ��������� ��3���
��� ��8�� �
���� ��11
�� ���
�
�0����1@������������������
��1����1�<��������������������11
�8�����
��+
�
11
�8���
�
���
������
881��
��3
���������
�����������
����
���� �������
��� ��������
��� �=�� +
1����� ��������� 1@
���1��
� 1���������F� ��1�
����	����=��3
�������1@����������1��������������
������0��1����������������<�����
1���������
����
�;�
1��
�����<���������
11@���
�
��
��
/�����
�;��11�		
����1�8
3���*��3������1�����������������������1�8��������A�������		
���
1�� ������� ��� +
1����� ���� ���8
��� ��1� ����� 999����
�
��
���� �
� ��11
� ���
�
�
"�3���
����!���������3�1�6����&��1�����������

��*/
����))*88�������7��

��

/�����1����
�8
�����<�����
	������

��

/�����1����
�8
���8��������������&�	�
��)1�����������1�������+
���11
�=
��������6)1�
��1�� ��� ���� ��1� ��� ����0��7�=�� 1
� ����
� 
1� ���
������6���
��		
��3�7� ���� ���

������
11��8��<���������
-�����
��������
�
/���
������

�
.�
 �<�����������

�
'�� �T� .�
� <
� 8�������� ��� &���
� ����11�� �=�� �1� ���
��
��� 8����00�� ��=���
��*� ���
���3��
����
� 1���������88�����1���
�<
3������11
������
�
��
1��
�
�.�����	�
��
"��8����� �1�/����������8���
����=�� 1
�81�0
�1�
�<�1���<�����8�����������������
11
�
.�����	�
*� 1F� ���
1����@A���1���
1���������������8
����
���<��
���11
��
������
��=��
�������;������8�		�11
��=�����
/����1��<
� �1�3�����
����
���8�����
0�1���
<<����1�����8������������+
��=������
�=��
��.�
���=���
���
�M�
�-1
����
�������C��=�� �1����
��
���=
��
�<
������
��� ��
�����������8�J��=������8
�����������������8�����
1������
N�
1���������.�
�8��������8������
88�11����1����8���
�����
11
��������F������
1��
���X���I��11��������1
���������
N�
1����� =
� 8����� �
88�11�� 
��=�� ��11
� �1���
� ������
	����� 8�������	�
1�� ���
���
��
����8����
����=����
�
����
��1��
������������������
,��+
��=������������
3
��1����1����X���I�*/����1�����������
�Q
�;����%
�� ���������
8����������	
� �
8����8��� ��3�*� ����*�;�
�����/���=A� ��������
��=�����8�@�
�3�1
		
����
�������
���������8��8�������������
,��
11
�.�����	�
������=
�<
������1�3
���;�
1������
��
��1���������������������*���
������� /���������� ;�
���� 
<<����
��� �1� 8��01��
� <
������ 
� <����� �� �
1�
8��
���
��11��=��.�
�����T�.�
�*�<�1���<����8
��
�
�����11���
���������	�
���*�3
����<�����
�������

��

,��1@���1�	�
����3��	���
�
��������3����*��������
��1
?�

��

Page 16 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



&@��������������
���������������1��#��
���8���1
�
���11
���
�8
��8���
1�		
�
��=��
�
11
� M����� #���
��� ��� 8��� 8��� 1�� 3������� ��� 
11����� ��� ���1�	�
� ���3��	���
�
� �
���8���������<
������8���
,�������� 1@������� �������
� �=�������
11
� ���8
��
� ��11
� ��
�����3���
��3
*���1�
��1��	�����1
���11��
�	
���11����3
��1���001��=�����3��	���
1��3���3
������
����������
0���
�8
������������ ����=���������
�:�����3��1�
���������1�����	�����=�
������
�
�����1@�8��������1���������
00�
������8������8���
�����<
�������8���
����1�������
<���
1���
��������
11�����3��	��������1@��������������
����F�A�
��=�����
��?���
���
�88�����
������ ��1� 8������ N��11�� �=�� ��1�� 3������
������ ��������� A� �=��
1@���1�	�
� ���3��	���
�
� 3����� �=�� ���� ��� 3����� A� ������� ��
� ���
�
� ��� ���1�	�
�
������
�
�� '�� ���
� �������� �=�� ��� �������
� ��� �����
��� ���	
� 
<<
���
1��
1�		
����1����11����8���=��������8���=��������	
�<�������������1���������A���
���
�������� �
�1��
�������
��
� ���8��� �!
�;�
���� �1�����0�� ����8
������ A� ��3���
��� �1�
����0�� ��11�� ������������ ��� ;�
1��
��� �
������ ����� ��
�� � �
11@���������� 8�001����
1����		
��*�
11@����������8��3
������
����8�001����8
���11�		
��*�
11@����������8��3
������

����8�001����������
����N�������K��=��A����8�������11��8��������?�Q����������������
1��������	���������
����

�
��Y 
�������������3���
���8
8���:�

�
!
� ������ ��3�� ����� 
0���
��� 
11
� ���<�����F� A� 3������ ��� �������� #
��
� 
11��
������1
����
���8
8���?�&��������F�����
8��
1��;�
����3������6
11
�1���:7��1�������
$����
������ ���������� ��� 8���������� ���� �� ������
��� ��Y� 
11��
���� ,�� ��� �=��
3���
������8
���
����
�
���
��
��
��11
�����
� 1�����8��������8
�����@���������
/�����������������
11��8���<����������8�1��
������
������
����
)� ��������
1������������1�8����� ��������
�� ��+�1
��� ��
�"��
� ��/���������� ���
������1�����
��1��3�3���������
������
11���
��)1���
����/�����������
	���
1��3��1�
�
��� ������� )1� ���� �1������� A� ��
��� 
33��
���� %
<
���� ������ �����������
��� ��
8���
0������,
���8
8���6
11��
��7�1
�������F�����8
��
?�

��

,1��
���

��

&
��
�8
��
�8�001����
��
���1����
��
���A��
���11
�������F������������1�
��������
�
8�����������8�� ��� ��3�1�
	����� ������
�����8��������� ������
�� �88�����
����

<�����0������<���
����=��1@�1������1��
������
���8�����<<���������
��
�
���1���
�
��11
� ��������� ������
� A� H%
��*� +
���
<���� ��� 
���1�
E�6/��� �=�� ���� 1�� �
8�����
1R�33�� +
���
<���� �����3���
� ��11
� .
		���
� 
33��
��1�� ��� "���
�
������
*� A�
1R
���
1�� 0����
� ���
� ��11
� 1���
� ����11�*� ���� 1�� ���� ���������� 
������
��1��
8����
1������
33���
����
�;����������������
���������
��1�7��

��

��

��'�����

�
#��3���������11
��������
0�1��F���11
�%
��<<
����
��1����8���1���1����>�

��W��

��

� !!"#$ %
&'
(#�!���"'
 )
 *'
 #"(( #+ 
+#"
,�--�
. +"#$,�
 �
 � /$��
 �$0$,�
 "$
1$.$

/�,,"
 /�+�#!$."2$ .�
 /�,
 � !(�.� 
 / 03+ 
 ",
 . +"$ '
 (#�0",�.2"
 /�,,"
 ,�--�

�(��$",�
�
$./�# -"4$,$+5
/�,,"
+"#$11"
. +"#$,�'
)
6'
+"#$11"
. +"#$,�
�
(344,$�"

13.2$ .�'
 )
 7'
 (344,$�"
 13.2$ .�
 �
 #$/32$ .$
 +"#$11"#$�'
 )
 8'
 +"#$11"
 . +"#$,�
 �

/$#$++ 
 � !3.$+"#$ '
 )
 9'
 +"#$11"
 . +"#$,�
 �
 /$#$++ 
 $.+�#. 
 $.
 +�!"
 /$

� .� ##�.2"'
 )
:'
,;$./�# -"4$,$+5
/�,,"
+"#$11"
. +"#$,�
/ ( 
$,
/','
.'
**6<*==9

�/
$,
/'
,-�'
.'
*7><*==9'
 )
?'
,;"#+'
6=
/�,,"
+"#$11"
. +"#$,�'
 )
>'
� .�,3�$ .$
$.

 #/$.�
",,;$./�# -"4$,$+5
/�,,"
+"#$11"
. +"#$,�'




&'
(	�����
��
&�������������<1�������������<��
1�		
���
�<
���0��3��������1�8���������������
��
8�����8�����
11������������
��
����1
�;�����������11R�������
0�1��F���11
��
��<<
�
���
��1���$������*�
��
1�����8�*�
�
1�		
�������=�
3��������
���
�1�����8���	�����
1����1
��3��������1
����
���������
��
����1
��������
��
��<<
������
��<��
�������1�
���8�B�������8
�����1
���3���<��
���1R�������	
���1�������
�����
��3��8������������
��11������������3��F�1����1
��3�*�;�
1������1�
�����
11R
��������1���1����1��1����

�*����
���*����������<��
����
11
�1�����������3�������*���
�������

�*�������B�����=D�
�
1����1������
�������

�*�������*������<���
���1�8�����������������81��
���
���
��1��<�=��

*'
 #
���	��
 �	

 �����
 ���
	���
 �
 ������
 ������
 
�
 @���
 ����

 ����	���
A����
 ���

��������
������

�
���
��'
(	��
���A

����

�����
�����
��
�
����	��
�����B
����

�
	�@@

���
	���'�

Page 17 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



$������*����8�����1����*�8�����
����1����1����3������*������0����
��
����
*��
11R
����
����*�����
��*�����*�
����������1�;�
1���1����8�������1�8��<���������
*�S�������A�
���3�������
11��8
����������8�C����������������
�����������1���
��<<�����1�����*�A�
��������
��� �
1� �������S�� &
� ���8���	����� �� 
� 8����������� 8��� �1� �������� �
1�
�
88���������
1����<���������
��3����A��������������������8���
�
���1��������=��
1
� �
��<<
�8��<������
1�*� ��� �
��
�	
� ��� ���8���	����� 1����1
��3���8���
1�� �=�� 
��
���
� �����=���*� A� ��1�� <����� �������
��
� ��� ��������
	����� ��1� ���8����� ��1�
8��<���������
*� 8��3
1����� ��� ��� ���
� 1R
�������
� �����
���
1�� �*� ;�����*�
1R
������� ��
� 8��<���������
� �� �1������ <�=�� &
� ������8�����	
� A*� ����
3�
*�

1�����
�������8
��
���1�����������=�*���8�����	
����<�����1����1
��3��6���*�;�����*�
���
������ ����1
����
��7� �=�� 8��3��
��� 1R�������
0�1��F� ��11
� �
��<<
*�
;����R�1���
������11��
�;�
1��<��������1���3
������������
	�������1����8�������1�
8��<���������
�<A=����C�A*���1������*�8��<���
���������������	�
1��
11
�8��3�������

��

�
W�)�����������8�001��
	��������"�3������*�����>�

���
6�7� ��� ������ ��11R
���� �*� ����
� �*� 1����� 
7*� ��1� ��1�� ��� ���>�

�*� S��� ���<�����F� 
1� 8�����8���
�������
�������1�0��
����������	
����
�;��11�����1�0���F���������1
	�������11��8����������������3�	�*�
����=D�
1�<�������
������
���
�1�����������R�<<����3
�<
��1�F�������1�
���11R������	�������8��8�����������
�� ��� ���8
�
	����� ��11�� 8����
	����� �<<����� ��1� ����
��*� �
11
� �
�
� ��� ����
�
� ��� 3������ ��1�
8�������� �������������
0���
��� 1�� ���8���	����� 1����1
��3�� �� ����1
����
��� �=��8��3������ ����
��<��������� 
11�� 
���3��F� 1�0���� 8��<������
1�� �� ����11����
1� � 
7� 1R�001��
������F� ��� �
��<<�� <����� ��
������� �33���� �1� ��3����� ��� 8
������� ���8����� 8
�
����
��� 
1� �
������������� ���1�� �0�����3��
8�����������)1���������3������
���<
�8��
1����S�
13������1���3����
1���
��<<���
������8��<���
������
3�
������
1��
�����1
����1��������S��
&R
���� �
� ��1� ��� 1���� ��� ���>�

�� ����<��
� �1� ���8����� ��11R
���� ��Z� ��11
� 1����� ���
��1�� 61�� ���
<�00�
��� ����*� ��� ��7B� �1� ������ ��
� 3������� ���8���� �=�� S[� 8������ ���� 1
� ������
� �� ���� 1
�
���8��������<����
�����
�����*������
���8�J���
3�*�����1
��������	����*��1����
����=��8��������������
��
���11������������������� �������7�<
��11����
����������	
�
��
1�������
��*���������	������������
��*�
�������� �� ���8����*� �33���� ���3������� ��11R�8��
� ��� 8���
���
����� ��� �1�����*� ��� ���=�
��� �� ���
8�001����F�����������������
11��������������1����=�*������;�
1��;���
1������		���������<
������

1�����������
1�8�����������11
��1
�������
��1�S��

6�7��
�����������
����

���������*����-�������*�"�8���

�*�3����/��<������������11����
1�*�������B�
�
��������
������


�����Z��*� ���-���� ���*� "�8���


*�3����/��<�������� ����11����
1�*� �����ZB�
�
�����
�����0���������������*����-�������*����Z*�)*������Z�B��
�����
�
������������������*����
.������ ��3�*� ����*�)*�8������B� �
������� �����0�����������Z�Z�*� ���-���� ���*� "�8������*�3����
/��<�������� ����11����
1�*� ��� ��B� �
���� ��� ����
��� ����� ��� Z
�*� ��� -���� ���*� "�8�� ����*� 3����
/��<�������� ����11����
1�*� ��� ��B� �
���� �Z� ����
��� ����� ��� ��
*� ��� -���� ���*� "�8�� ����*� 3����
/��<�������� ����11����
1�*� ��� ��B� �
���� ��� �
�	�� ����� ��� ����*� ��� -���� ���*� "�8�� ����*� 3����
/��<������������11����
1�*�����
��

6�7��
�������
8��1���

�����ZZ��*����-�������*��

�*�)*����Z��B��
�������
8��1���

���������*����
-�������*�"�8���

�*�3����
�33��
��*�������B��
�������1��1����

�������
��*����-�������*�"�8���

�*�3�����33��
��*�����
�B�
�
�����������
����

��
������Z*����-�������*�"�8���

�*�3����/��<������������11����
1�*�������B��
������������0����

�����
��Z��*� ���-���� ���*�"�8���

�*�3����/��<�������� ����11����
1�*�������B��
���������������


����
�Z�Z*����-�������*�"�8���


*�3����/��<��������
����11����
1�*�������B��
�������
�	��������������*����-�������*�"�8������*�3�����33��
��*�������B�
�
�������
8��1����������
��
�*� ���-���� ���*� "�8������*�3����/��<�������� ����11����
1�*� �����
B� �
��������
�������������
����*�������=����3�*�����*�8��
���B��
����Z�<�00�
������Z��������*����-�������*����Z*�)*��������B��
������<�00�
������Z��������*�
���-�������*�"�8�����Z*�
3����/��<������������11����
1�*������
B��
����Z��
��������������Z��*����-�������*�"�8������*�3����
/��<��������
����11����
1�*� ��� ��B� �
���� ��� 
8��1�� ����� ��� ����*� ��� -���� ���*� "�8�� ����*� 3���� /��<��������
����11����
1�*��������

�
��������
���11R
�������
*�����
��*���1����������3�1�*��=��������
����
11
������81��
�
��1� �����
�����R�8��
� ����11����
1����11
���
��1�0
1��F*� ���8�����3
�;������ ��11
�
����1
����
	�������1����8�������1�8��<���������
���<
�S�
13��1�����8���	�������11�
1������8���
1�S �3��A*�;�����*���R��8����
�
<<���
	�������1�8�����8�������8���
1��F�
��11
��
����
� ��� ��
��*� �=�� ����8�C�����
����������
� 8
�����1
�����1�3
�	

<L=��
�� 8��8������ ��1� ���8����� ��3����
1����
��*� 1
� 1��������<�00�
�������*�������
61��������
��1�7���
0�1�������8����
�����*�
11R
����Z�*�����
��*��=��S�1������
��*���
��������
����������� 1���8������3���� ������0�����
1����
����������������
����
11
�
�
��<<
S��)1���������3��
�����
�1����8��3����8��*�����
���������=����
�
1��1�����������
�
����
� �
������� ��� ;��11
� ��3��
*� ��R
�����
� 
� �
����� ��1� ���
��*� �1����

11R�001��������������	�������11R�������	
��/���
1����3����*�1R
������Z*�1������7*�1����
�
�	���
��1����8���
��������1����
����=��S��������	��������1������
��*����8�����
�� �������� 
��������� <
���
� 
�� ��11��=�� �11����
� ���������	
S�� !
� �
1�� 8��3������� �
��������
�������
������
11�� �
�
���������=������������F���11
��
��<<
����
��1�� 6�=�*�
��3���
������ �
� 
1�����
��<<�*� ���� 8��3���� 1R
881��
	����� ���� ���8����� ��
� ���
��������������
�����7*����
11
���������������1�8��<�1���
��<<
��������1
�8�001��
�
<��	����� ���
��1�� �� 3����� ������������ ���
3
�
*� �
� 8
���� ��� �������
� ��
������8�����	
*� 1
� ����1������� ��11R�������
0�1��F� ��11
� �
��<<
� ���
��1�*� ;�
1��
����
�<�������������
��3
��������8�������3����
1����
���<>=0�)��
1�����������*� 1��
���8���	����� ��11
� 1����� ���
��1�*� ;�
1�� ������ �8���
1�*� 8��3
1����� �� 
�� �����
��11R
���� ���
*� ����
� �*� ����*� ��11
� ����
� �����
1�� ��������
� ��11R
���� ����*�

Page 18 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



&R
���� �� ��11
� 1����� ���
��1�� ���������� ���� 1R
<<���
	����� �=�� S)� ���
��� �����
�<<���
1��8�001��������������8�������3�����1��
������
�3�3��������1���
�3�1���F*�
����0�����

����
��*����� �;����R�1���
����8���	�����8�C����3
���
881��
	����*�����
����
����
���8����� ��3����
1����
��*� ���1���3
������ ���8�����	
������
���1
����
���8��
�
��11
��
��<<
����
��1��6;�
1�*� ���8
�����1
��*�;��11
���������
���11R
������*�����
�
�*�����*�
�8��8��������11��8����
	�����S����������
�������������������1R������	���
��11
�<��	�����8�001��
S7��
)1� ����� �Z� ��3��0��� �

�� 6��
�
��� ��� 
���
	����� ��11
� ��1��
� ��������
�
��11R
�����1�� ������ ��11
� 1����� �� �
�	����Z�*� ��� ��7���0
������ 6
���� ��*� 8�����
����
*��1���
�8
���7�
1R�������
0�1��F� ��11
� �
��<<
� ���
��1��� )1� ��������� �������� 8��3���*� 
1����K*�
1R
881��
	�������������
������
���8����������
�
����1������
��*��������������8����

�
1����
������ �����81��
��� ���� �����1�� 
�����1��� ������81
*� ��<���*� ��
� �8���
1��
�����81��
�8���
1��������8����*�����1
������8����3
�������
�1��
������
*����������

6'
+
	�@@

���
	���
�
�������

@��A����'�

1����8�001��
�<�������S��,;�@@����
��������
C
������

�
����	�
����;
������B
���
	����
�

	�������


 �
��
 ��������
����	
��
 �;���	��A��
 ��
	�����
��
 ����	

�	�@�������
�


�
	
���	�
��
 ��	���

��	�����
���B � ������=D� ��8�����8�� �� 1������1�� �=�������
11
�
0
�����11
������81��
���1������
�����R�8��
�����11����
1����3�����������S
�
��
��S�

11
�8���1�
���F� ��11R
���3��F��3�1�
� �� ��11R����������8�001���� �=��3�� A��������*� ���
��
� 1����
� ��� S
����3������S� ��������
1�� ��11R
������� 1�0����8��<������
1��
���8�����
11
�<��	�����8�001��
��
&R������	��� ��� ;����R�1���
� ��� ������� ��� 1�0��
� 8��<�������� =
*� ��<
���*� 1R����
�
<��
1��F� ��� �
�
������ 1
� �
������� S�<<�����	
S� ��1� ���3�	��� 8�001���� ���
��1�*
��
������
�������������
�
������������8
����

�
6�7�,�11���������8���
1���������8������������������8�������
��3����1
��3��
��������������������
��11R��8�����	
� ��������
*� ���
��� ��� �
	���
1��F� �� ��� 8��8��� 8�����8�*� �<��� ��
� �1�� 
1���� N'�!")*�
!�11R
881��
	����� ��11
� 1����� ��� �����
1�*� ��� �������
���� ��1� ������� ��3�1�� ,��
1�U
�#�
��
*�
#�1���
�"��
���Z�*�8���
Z�����

6�7�#$�"$*� &
� 1��������
��1�� �������
�
*�))*�%����������*�8����
� 6�3����������� ������
1��� 1
�
S�������FS���11
��
��<<
���
��1���������
�;�
1��
����	
��������������
������������
88�����
11
��
���
�
8�001��
���11R
���3��F����
��1�7*���8����Z�����)��������8�����	
*��<�����
�1��
1�����
�������1��1����

��
��������*����M��
�����*��

�*�8���Z��*�������.��������3�*��

�*�)*�8������B��
�������1��1����

����
����Z*� ���-�������*��

�*�)*����ZZ�B��
�����Z���������

�������
�*� ���"�3������*��

�*�8���Z�B�
�
��������
�����������������*����"�3������*�����*�8�����B��
�������<�00�
������������
��*����
M��
�����*����
*�8����Z�� 6�������� 1
�;�
1�� S��
� ���0
���
���1��3�������
1����
� ��������
���� �=��
1@
���3��F�������	���
1����1����
��� ������
����
�	�
1������������	������8�001��=��<��	����*� 1���
��<<��
8��<������
1�� ���� ���
�*�
�;�
1��;���8����
	����������<�����
��*�������
��
��3�� �� �������
0�1�S7B�
�
���������3��0�����Z������Z��*����"�3������*���Z�*�8���
�����

�
�=��
����
����1�������
���1�S���
��
���1
����S�<!=B��
�����8�C��
�����������
1�
8���������
���<��
����1���������8�����8��<���
������11
�8�001��
�<��	�����6�1�S��		�S�
���� 8�C� �����	���
��� �1� S<���S*� �� 1�� ������ 8��3
������=�� ��1� �����
���� �R�8��
�
8��<������
1�*� 8��8���� ���;�
���� ��������
1�*� ���� 8������� 8���
���
1� �
���<�����
��11�� ������	�� ��8������ �
11�� ������ 8�001�������=�� �=�� �����81��
��� 1R������	���
��11
� 8�001��
� <��	����� <"=7�� ��C� ���� �����<��
� ���
��� 1
� �
���
� ��� 1�0����
8��<���������
���1����
��*��D�1
���
��
���
����S���������8��3
��S���1������������
���� 8����8����� �1� ���8�����8��� 1
� 8��8��
� 
���3��F� 8��<������
1��<$= � �����<��
*�
��1�
���*� 
<<���
��� 1
� ��
� S�8���
1��FS� ���8����� 
11�� 
1���� <������ 1�0����
8��<������
1�*������������
	�������11
�8�001��
�<��	������������
�
�6�8���
1��F��=��
������<��
*�
����������11R
�������
*�����
��*� ����*� 1
�8��3
1��	
���11
�����
��3
�
�8���
1�� 
�� ����� �����
�
*� �� ;������ 1R
881��
0�1��F� ��1�� ��� 3�
� ������
1�� ��� S���
;�
�������8
��0�1�S���11
�����
��3
������
1����11�� 1�0����8��<�������7��+
������
������� �1� ��11��
������ ���� 1
� 8�001��
� <��	����� ��1� 8��<�1�� �
��<<
���:� ,�� 8���*�
���
�	������*���R������	
�8���
��
*��=��A�;��11
����
������
���1R����������0�1��F�6��
;������ 1
����	���F7���1�8�001�����<<���
1��6�
����� 1R��8���
�	
�
����0���
�
���������
�
��<<
��� �������
0�1�*� �� �����������������
1�<�������� ��11R�11����
� ���������	
�
��0��8��������������
��<<
	����*��
�8
������11R
������Z���11
�1��������
��1�7*������
�
���� �1� ������� ��� �1� 8��������� ��11R������	����� ���
��1�� �� 3
1���*� ;�����*�
������������� ��
<<���
��� ��1� ���3�� ������ ��11R
���� ��Z*� 1����� �7*� 1���*� �����
����<��
��� �
11R
���� �
� ��1� ��� 1���� ��� ���>�

�*� ;�
1�� '<<����� ��11
� "�8�001��
�
6������ ���� ���8
��0�1�� ���� �1� ����
������
������ ���� ���8����� �� 1
� S����
�
1�
8��3����3��8�J����3�������S7��,�
�1R����������0�1��F��=��1R������	���
1�����	���F�����1�
�������8��8������1�8�001�����<<��������
��1��3����00��������
������8��������
����
�
�������
�����������������
	��������� ���8�������������
1�S����
��S*���;������

11
� �����
��
	����� ���� �1� �1����� � ;��11�� �=�� <���� 
�� ����� A� ��
��� S8
��1���
S*�
����� �
1�� ��8����
� �
11
� ������8�����	
*� ��3����00�� 1
� ����
�� ���� ��������
�<��	
�����1���1
�<
��
��
�8������
���
�������8�������C �0
����8���
���������
���
8�����������
1����
����=�*�8������S
��
8
��
���S��������1��
�������3�����
���������
����
����������*� �
�
������� 8����
	����� ��
������ 
1� �����������*� 8��� �
�
���
S����8��
��S�����1
��3�����8�����
��

Page 19 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�
6�7� �<��� .�"�)�� �$&&��%�,*� �������
� �� ���
��
��*� ��� ���
��
��*� �

�*� 8�� �B� �""'��!�*�
�������
���1����
��
��*����"�3������*��

�*�8���Z�B�+$"�&&$*����
��
���1
�������8��<��������1��
1��
���� �������� ��� S������� 1
9S � ����� ���<����
��� ���� ����11�*� ��� ���
��
��*� �


*� 8�� �
�B�
M�"��$*����
��������
��
���6�����������8
�
��������
�����7*� ��������������%����
��*�\\)*�"��
�
���
B�&�'")�)*�)1����
�����11
�������
R�8������������
1� ��1����
��
���1
�������1��
1������8�����	�*����
"�3������*�����*�8�����B�&$M�%$*�)1����
���8�001�����<<���
1����1�0����8��<���������
��������
��
���
�
��8��1
����*����"�3������*�����*�8�������

6Z7�,�1���1��3����11
�����1
����
	�����8�001�������
���11R
���3��F����
��1�*��<�����
��1��
1������,,�,�*�
&R������	������
��1�����<��	�������
�
1�*����-�������*�����*�M*������B�M$%%�*�&
�<��	��������
��1������1�
��������8�001���*����.��������*�����*�)M*�����

B��)."$*�)1����
�����1���������8�001���*����"�3������*�
��Z�*�8�����
*� ��� ���"�3�������� �����8�001�*� ��Z�*�8�����B�"$+��$*� &
� ������	�����<�
� ��������
8�001������8��3
������������<1�������11
����<����
	�������11R�<<��������
��1�*����"�3��
����*�������

6�7�&
�,�8���
�������6�
����,�'������
������

������
���7�=
�
<<���
���1
���������	�������1�
�������������
����6���1�������;��11
���1���������
��������
��3�7���1
��3
������
11��������3������

3����� 
�� �������� 1
� 8����	����� ��1� ���8����� ��1� ���
��*� �� ;������ 1R
881��
	����� ��11
� �
��<<
�
���
��1�*�S��
��
���������������3����
*�
3�����������������=����
������8
�������
1�*���������������
��
����������8��3
��*��
1����3���������������
����1����
���;�
����
881��
�1
��
��<<
���11R
�0����������
�
88����� ��� 8����
	����� �R�8��
� 8��<������
1�S�� &
� 8�������
*� 8���
������ �����3���0�1�*� ���
��<1������8��
1������11
�;�����������
��
�
���1������*���
��
���������8��01��
���
��=�������11��
����
���8�
�����3���� ����A����������
0�1���=���1����
��*���1����������������
������
1�<�������8����8����
�1����8�������3����8�����
���������
�
�8����
	������
�1������8���
*�
���������3�����������������
8��3
��*�A�
1�����
����3�����=��1
�S��������
�����
��3
S���11
��
��<<
����
��1�*�1
���
��������
0�1��F�
���1��
1����8�����8���=��1
�����1
���������������11
��
���
����8�001�����<<���
1����1����
���6�=��3�����
�����������
	�������1������������������1���3�1���1
�8��8��
�
���3��F�������	���
1�7*�����11��������	��
���
����������0�1��F*����	���F������8
�	�
1��F�����������8
�1
���1��������
)��8
��
��*������;��*����������8�����	
������
���
�������=�*�S8������=��1@
������*��]�����
*����
1���� ��� �
�	�� ����� ��� �
� ���1���� �
1� ��3���� ��11
� ��������	����� ���1���3
� ��1� �������

��������
��3�� 1�� ������3������ ����
� 1�� 8����
	����� ����� ��11@��81��
������ ��� 8�001���� ���3�	�� 
�
<
3�������������1��������*��8���
���
1��������������
���� 1��3�����	����1
��3��
11
��������
	������
�
8
����������8��3
�����11
��
��<<
�
881��
�
�1���
1����
��S�6������,�
����
���������

�������Z�*����
������,�
��*��

�*�)*�8�����Z7��
&
�;������������� ��3�� ������*�8��
1���*� ���<��
� ����;��11
�
<<����
�
� �
11
� ������ ��� .�����	�
�
����8�
������1
	�����
�<
����8�������������1����
�����
����S��8����������
�
1�S*��8��������11
�;�
1�����
A������������
�
11R����
�������
��1���
���
����S��8���
S ��<���������.�����	�
�������������0����


�
�����>��*����"�3������*��

�*�8�����������������00��*���<
���*��=���
1��;�
1�<��
	������������8��
�
��11R�8������������
���1�0����8��<���������
*�8��8����8���1
��
���
����S���8�����8��<������
1�S���1�
��1
��3�� ����
��� � �<��� ��%�&&$(()*� &
� ������ ��� .�����	�
� ��0
������ 1
� �
���
� ���0��
��
� ���1��
����
����������
��<��	���
���8�001���*����"�3������*��

�*�8��������

�
��
8�������1��
�;�������� ��11�������1������F� ����0�1�
��� 6�1������ S��0�1�S*� ���� ����
����A���<<���1��S�����
��
��S���
�8
���11
�8�J��1�3
�
*���8�
�����������1�������������
8��33����
�S���3��1�
�1�S�8�������1�������������
���
��=������
�����88�������
�1
���1�� ��� ���1�
� ��1� ���
��� ���������� ���� �����
���� 8��1����
��*� 8���1�������
;������ 1
� ���1�
� ��� 
1���� 8��<����������7�� )�� ��� �
��� ��1� ������*� ���� A� ��<<���1��
��
��=�� ���
���
�����
�������	�
1�� S
�������������	
S���1�������������
���
���8�����
1� �����������*� �� ;������ ��
� �������
����	�����
11�� ������	�� ��� ����1
�
���1��
�;��������;�
1�������
�������0�1�����������<���
���������=��<
������1��������
���������
���3���<��
��*�
�1�3�11��8
��1�����*�<����
������ ��3�����������*�8��C*��1
<�������� 8����00�� ��1��81��
���� ��8����	�
1������ ��� ��� ��������� ��� �
������
S��8�����	
� ��������
S� �� ��� 8��������
��� S������� �� 8��������S� ��11R������	�����
���
��1�*� �����
��� �
� ��R�8������
� 1�0��
1�		
	����� �
��<<
��
�� &R��8�����	
*
������
*��������
� ����� �1����
��� S8�J������3�1��S���1��������������
�����
�8���
��1����=��A���D
E��	��
����E


�	�������
����	���
�
�

���
���
	A�
���B
�
��	A���B
)
�����
�����������
����;
������B
������A���
��
)
����
��D


	������'�
)���������� 1����*�����8�C����� �3����	�
���� ����� �1� ���
�����
���8�
����������
8�001�����<<���
1�*� �=�� ��3�� ����
�������������
�����
� 1R���������� ��11��,�
��*�
�=���1��=
���1��
�����
�<��	�����8�001��
*��� 1R������������1�8��3
��������
������
'�
��
1����1��
�
��8��
��������
	��������=������3�1���
��=���1�����1� ������11�����
1��
1��F���8�����
1����
����
11R
���������11
�1��������
��1����A�8����0�1����1������1
���
��� A� ��������
�����
 ������������F� A*� ��3���*� �
���� 8�J� ���8������
�
;�
���� 8�J� �1� ���
��� ��8����� �
1� �1������ 8��� 1
� ��
� ��8�
33�3��	
� ��������
��
����� 1
��
������8��<���
�8��� 1
�;�
1�� �1����
�������8�C�������*������� �1�8��<�1�
�
��<<
���*� �;��8
�
��� 
�� 
1���� 8��<���������� � 8���=D� �� ������� 
�� ����8��� �1�
��������
1���
���1R
33��
�����3����
3����;�
1������
����11
�8�1
���1R������������1�
8��8���� �1������ �� ��
 ���
��
 ����
 ��	�����	�
 
����
 �;����	����
 ���������
����;�	���
������
���	�
������
����������
�����
�
	���
��
��

�
	�@@


����
�

G�

���
��������
	����
H

�����	

 �

������
	�

��	����B
�
 ���
	A�
���B
���
��������

�@@���
���<�=��,��8���8���<
���;�
1�=������8��*��1����
���=
����S��3�������1�
1�FS�
3�����1R�����
�������=���1����8����������8������
���
�0���<�������1�8��8�����1�����
1R�1�������������������0��
���B����K������A� ������
0�1�� 1R�8��
�����1����
��� �=��
������1��
1�8��8�����1������1
�����1
	�������1�8��		�������
����8�
3�����
*�8���<����
��� ���8
�����<���
1��� +
*� 
��=�� <���
������
11R
�0���� ��11���������� ������11�� ���
1��
1��F����=�������
11R
�������&���*�A��3������������;���������8����8���
��������
�3�1������������
����8�J��<<�������*�;�
�����������A�1
�S��8�����	
���������
S�
��1� ���
��� ���8����� 
1� 8��8���� �1�����*� �� ;������ 1
� ��
� 8����0�1��F� ��� ��<���
��� �1�
����3��������� 1R
�������
	��������
�����=��
88
�������������
��������1��������	�
��11R�����
��������=���;���
00�
���8�����	
�������
��
����
��=�����������
�3
��
�
S	��
� �����
S*� �
88������
�
� �
� <
����8����� ��� �3������� ������ ��� �11��
1��F*� �
�
<����� ���� 8
��<��
������ �
�	���
0�1�� 8��� 3��1
	����� ��11R
���� ��� ��11
� 1�����
���
��1����00���*��1����
���8�C��3�1����������
�������1�8��8�������8��������������
��11
�1��
1��F�����;��������11R����������8�001������������
����1��8�������������8��8��
�1�����*���1������1��A�
������
�
���
�������		
���������
*���<<��������8���������1��

Page 20 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...




1� ��8
��� �
� �
1�� 8��������B� A� <
��1�� ���
���
��� ���
� 8����00�� 
��
����� ��� ���
���������������� �1����
���
3����*� ��3���*����0��������������������S���8�1
��S�
�
������������
,�� ���������*� ��� ���	�� 1����*� �=�� 1
� 8����
	����� ���
��1�� ���� ��� ��
������� ��1�
�����<��
��� �� �
�� <���
� 
�� ��� ����	��� ���������� ��
� 8��3
��*� �
� �������� ��11

�����1
	�������������
���� S����1�S*� 8�������3�� �����1�3
���� �<<���������
����
�����	��
6S������
1��FS*� ��1� 1����
����� ��11R
�
1���� ��������
� ��1� �������� <� =7*� �� ���
��<<����	�
� ;�����*� ������ �
1�� ������3�� 8��<�1�*� �
11�� 8����
	����� ��� 
1����
8��<������������ &
� S����
� 
1� ��0
���S� ��1� 8��		�� ��11
� 8����
	����� ���
��1�*� ����
1R���3��
0�1�����
���
���11
�;�
1��F���11
���1
��3
�8����
	����*�8�������00����8��8��
���
��3���<<�����������1���������<��������11��8
������11R
���*��
������3��
0�1�������

��=������ ���<������ �������	���'�����
��� �������3
��� �
11�� 1����=�� �������
���
�
8�
���
��� S8��		�� ���
���
��S� 8��� S���8�����S� �
��00�� ������8��
��
�����
�������� 
� ���8�1
��� 1
� �
������ ;�
����F� ��� 
���� 8����0�1�*� �
���<��
����
���3��
0�1������1
���1
��3
�;�
1��F*� �1��=��8��C����;�������
�����
���<<����	
��=��
8���
1����8����
	�����8��<������
1�� ������=����00����� ������������11
������1
	����
��������
�S����1�S�3�	�
��*� ��������=��;���������� 1����
���
11��8
�����
�����
��
���� �1�
��
<<���� ���������� �� ;������ �� ���	��� )1� S8�����8��� ��11
� ���
��
S*� 8��8����
��11R�������
� ��� ����
��� ������� 
� �����1�
��� ;�
1��F� ��1� 8�������� �� 8��		�
������������
	���
11
�8����0�1��F*��
�8
������11R
�;����������1����������

�
6�7��<��*�8����
1����<1�������*�/�%"�&&)*�&
��
��<<
����
��1����1
�<��	�����8�001��
���1����
��*����M��
�
����*��

�*��*�8����������

6�
7�,�1�������������S������
1��FS*��<���8���������!��$((�*��������<<�������*�+�1
����

�*�8�����
���B��$$%�"�+�%%�)+$��%�")�/�"!$&�,)�'&��*�)1�����
�����11������1�����
1������������
���1�
����������3�1�*�#�1���
�����*�8���Z
�����

�
8�������*����3
1��
���1
��������
�;�
1��FB��
�����<��	���
�8�J�
11���=D�1
�;�
1��F�
������
� �=�
�
������8����8�0�1�� �
�8
������11R��������N����R�1���
�����
	�����A�
8��8����;��11
��=�����3���<��
������1
	�����
11��8����
	��������
��1�*���
����1��3�������

������	��
 ��@�	�
����� �=�� �
�
�����		
��� �1� �
88����� ���
����1�����*� �� �=��
�������� ��<<���1������ ���8�����0�1�� �
� 8
���� ��� ;����R�1����� 1
� ;�
1��F� ��11

8����
	����� �������
 � �1� S������
����S� ���� ���3�	�� ���
��1�� ��1��� �8����� ����
���1��� 1
� ��1�3
���� ���81�����F� ��11
� <��	����� ��� 
����
������ ���
��
�
� 
1�
���
��*�8�������8
�1
��� ��11
� ��<<���1�F� ��11�� 8����
	�����8��1����
��� �� ��� ;��11�
��������3�� 
1� ����3������� ��11R
���*� ��� A� 8���
��� 
� ��������
��� S<����0�1�S� �1�
���3�	���������
�;�
1��
������
����)��;�����������	����*�1R
��������
���<���
��3
��
��� 8�����	
� ��� ��
� 1�0��
1�		
	����� �
��<<
��
� �� ��������00�� �1� S����
��� ����
8��3����3�S*���1�;�
1��3����00��8����
��� �1����
���8�J������3�1��*������
�������

11
�;�
1��F���11
�8����
	�������8�J�8��8�����
���
�
��
���S��11
�;�
����FS����1��

����� �� ��
8���� ��11
� 8�����
1��F� ��11
� 8����
	����*� ��11
� �������
� 8�����
1�
���
����� ��11
� 3�1���F� ��11�� 8
���� ���=����
� �
11R
���� �Z*� ����
� �*� ��11
� 1�����
���
��1�*� �� ��1� ��1������� 
���8������� ��� ������ 1�� 
���3��F� 8��8
�
������ ��
��������3��
11
����8�1
*��8�����������3��
1�<����������<�	���
������0����S8�������
���
��1�S*� ������� 
� ����������� ��� S����1�� ������S� 8��� 1
� ��������3
� �����1
	�����
��������
��
)��;�
����1����*����8������*������1
	�����
�����8��������������
11R������	�����11

8�001��
�<��	��������
��1�*�������	��������
	A�
���B�<��=1���;������������@�	���B



�
	��B
 ��
 �	���
A����
 	���
 6<
���� �
13�� 1�� ��<<������� ������	�� 1��
1�7� �� ���
��		����AA
��1����������=����8���������
1����
������8����8�������8�������8�������

�;��11����
0�1�����
11
��
��<<
����
��1��68��
�1R
881��
	�������11���
�	������T�
�����
�
��11
� 1��������
��1�7�� N����
� ������	
�
88
��� ��<<���1������ ���8
��0�1�� �������
���8�����S�1
�����S� �� S�����
��
0�1�S*� �=���
��00�� ����
���
1�� �����
���� ���� 1

�
���
�8�001��
���1����3�	������������K������A���8���
0�1��S�����
��
��S��1�8��		��
��� ��� �����<��
������=������
������<<�����8�001���*� 
11������������������8�C� ���

1���� ����� ���������� ���8
��0�1�� ���� 1�� ��������� ������	�� ��� ��8
�	�
1��F� �
�������� 
�� ����� 8��		�� ��� ��� 8�001���� ���3�	��� �� ��� ������� ��� 1�0��
�
�����
��
	����� ��1� 8��		�� ��11
� 8����
	����� ���
��1�*� ���� 1�� ���3��
0�1��
�8���;�
	���������1
������
��
��00��1����*�����3�������������������������A���
���B
8���3��1
	����� ��1��	�������
��
 ���
���
�A
��1���� �=�� ��� ;��11�� ��11R��8
�	�
1��F*�
8��8������������'<<�������11
�
"�8�001��
�� $1��������*� ��
� �����
��
	����� ������
� 
11�� 1����=�� ��1� ����
���
��������00�*� ���3��
0�1�����*� 
11R
881��
	����� ��� �
��<<�� �
�����
��� 8��8���� ����
���<������ ���� �1������ 8�J� S��0�1�S*� ����� 
33�����*� �� ���� ���<������ ���� �1������
�
����������� <��������� ��11
� ��������		
� ��1� ���
���� �=�� ��� 
33
��
�����00�*�

11��
*� ��� �
1�� 1�0��
1�		
	����� �
��<<
��
:� ,�8�
������� �1� ���
��� �=�*� 3��1
���� 1��
������������1����=�*��8��
�
0���
1���������3����������S��11�����������1�����1
S*���
S8���
���
����� ��� 
<<
��S� <��= � �� ;�
1�*� ����� �������
� 1R��8�����	
*� �8�����
���������
����3���������8��8����1������
����
�����
1����
�����������=
�������8�1
���
S
������S� �11�����*� 
�8����������� �
11
����=����
� ���;�
1��
���8��3����3�� ����8��
��
������=D��1�������������
��*� 1�0�����8������
���������8�
���
���;�
1��
���8��		��

1���0
����
��8��8���S�1������<����S���S��11�����������1�����1
S*�
3��00��8���0����������
��1���<
����
���
8��������S�1��������0�1�S*����3��1�
���8���������1����
1�8���
���
�����
���
<<
��������0���
�8
�����1�8�����8��*���1������������8�������
11R
��������1���1��
������>�

�*���11

����	�B
��
�����

���
����
����
������
��	�'�
��11R�����
������ ��1� ���
��
��� ������*� ��<���*� ��
� ���8���	����� �1� ����
<��	���
������8����00��8��3��
������3������8��8����S��������������S����8�����	
�

Page 21 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�����
�����1
��=�������������1
���������
	�������1����8�����
�����
���������
�
���
��� �� �1����� � 1R
������*� �1����� ����
*� ��11
� 1����� ���
��1�� ���8���� �=�� S�1�
���
��� 8�C� �����
��� �1� ���� ���������� ��� 1�� 8
���� ���� ��8�������� 8������ ��� 1���
1R��8�������11���
���*� ���1������
����� ��11���8������11R
���S�����
�
��
���00�� ���
8�����	
� ��� ��
� �8������
� ���8���	����� ��� 1����� �=�� ����������� 
11R
������� ��
�
���
��� �� �1������ 1
� ��������
	����� ��1� ���8����� ��3���� 8��� �1� ����3������� �
1R
�������
	����� ������
���:���1� �
��� ��� ���� �1� �1������ �����������8������������ 1
�
���8�1
���11R
����������
���� �1��
��
����
���������������11R
������*�8����00�� �1�
���
�����<���
����������8�1
��:����
��00��
������0�1��������
���
�����*��

6��7�,�11
���8
�	�
1��F������3
1����<���
������11
�<��	��������
��1�����;�
����<��	�����8�001��
*�
�<��� ��&�,%�*� "�<1�������� ��11R��8
�	�
1��F� ��1� ���
��*� ��� ���
��
��*� �

�*� 8�� ���B� ��&�,%�*�
&R��8
�	�
1��F� ��1� ���
�� � �
�
�	�
� ��11R������� �����
���
1�*� ��� ����� ��1� \\)M� ����������
������
	���
1����1����
��
���1
����*�+�1
����

�*�8�����

6��7�,�11R�11�����F���1����8���
��������1����
����=�����
33
1�
����S8���
���
��������
<<
��S����11�����F�
���������������0
���
��
11R
������Z�&���*��������3�11
����
11R
�����
���1����1����������>�

�����<���
��
�1���
�����
�����������0����

������Z�
�*����-�������*��

�*�)*����Z��B��
�������1��1�����������
��Z�*� ������
��
��*����Z*�8�����B��
�������<�00�
���������������*� ���M��
�����*�����*�8�����B�
�
��������
�	�������������Z*�������
��
��*�����*�8����ZB��
���������3��0����������������*����
-���� ���*�"�8������*�3�������
��*������B��
�������������������������Z*� ���"�3������*�����*�8��
��Z�B��
�����
������0���������������*����"�3������*�����*�8�������

�
���
��8��
0�1���������1�8��<�1��
����1�����*���0�����
���
1��
�����������������
1�

�������
1R��81��
������ ��11
� 8�001��
� <��	����� ���
��1�:� !��
���� �������=�*�
8��0
0�1������<�A=���11��;�
1�*�8��
1���*� �1�3������������
���������0�
�<�������
��
����8���
����3��
*������1���8��
��������1�8�����8�����11RS
������S�6����������
��11R
���� ����*� ����
� �*� ����7� �
� 8
���� ��11
� ���8���	����� �8���
1�� ��������
�
��11R
����Z�*�����
��*�&����6
�����
���1�;�
1��S�1������
��*�����������
�����������1��
�8���� ��3���� ��� ���0����� 
1� ���
��� ����� ��������
��� �
11
� �
��<<
S7B� �� ����
1R��8���
	����������
���������
�S�����
S���11
��������
��
��<<
*��=������8�C����
������������
�
��=��
�����8�����S������
���������������
11
�8�001��
�<��	����S*�
;�
1��8���1R
88�����;��11����3�����T�
�����
�%����
)�� ��<�����3
*� ��
� �8������
� S1�0��
1�		
	����S� �=�� ��3���
� 1
� �
��<<
� ���
��1��
�
��00�� ���
3�1������ 6���� ��� ��
� ��
1�F� �������
1�*� �=�� 8��0
0�1������ ��
����
��������1�S����
��S�����������00����
�����
��8�J�S
0�1�S�����
13
��
��
�����
<����� ��� ���������
��*� �
7� ��11R
������� ���81����3�� ��11
� <��	����� ���
��1� �
1R
�
1���� ��8�
� �������
� ��3��00�� 
3��� �������
��� 1R�������	
� ��� ��

 ��	��
 ��
	��
����
���
�	�@���
�
	�@@
	��
����;���	��A��
����

�������

@��A�����
���
���������

�

 ������
	�

 �������B
 �	

��������
������
 �
��������
�
������
 �
������
 ��

��@������

�

E	������BE
����

�
	�@@

���
	���'�
&R�������	
� ��� �
1�� ���������� �����
1�� <
� �K� �=�� �� 
� ��<<����	
� ��� 
1���� �
��<<�
8��<������
1��<�L=���;��11
����
��1����
�����	��
����

����
���
	
���	��
�	

���
��

�
�������
G�

���
 �

������B�
��

	�'
&7&?
�'�'�
���
�
���
��
��	��
�
���������
���

����	
���
�;���	

�	�@������
��B���11��F����=�
�
�
�
��=���
11R
������*�����
��*�
����7*���11
������
� ��� �����������
�8����
	����� ���������
11
�8�001��
�<��	����
<�>=0� )������
0�1��F� �=�� ���� ����
��
*� ��3���*� �1� ���8����� 8��� 8����
	�����
8��<������
1�� ���� ��������� 
11
� 8�001��
� <��	����� 6
�� ����8��*� 8����
	����� ���
���
� �����1��	
7 � 1R
���� ��*� ����
� �*� ��11
� �
��<<
� ���
��1�*� ���3�
�
��8����
������
11R
��������� ����*� ��;������ ���
�	�������
11R
���������
����
��� ��
�1������8���1
���������
	�������1����8�����8��<������
1��61
�������������
	�����
A�������
�
11
��
��<<
���1�������<���������
1��
������7��
���=�� 1
� 3��1
	����� ���� �������� ��� �
����
� ��
0�1���� �
�� ������1�� ���������
1�� 8���
1R
881��
	�������11R
�����
���11
��
��<<
����8���
��11�����������81��
�� ��1����
11R
����
��Z*� 1����� �7*� ��11
� 1��������
��1�� 6�=�������<���������
�
��=��
�� S���8����S7*� �1�
�
8�� )))*� ,�	����� )*� ��� �Z*� ��1� ������� ������1������ 
88��3
��� �
1� ������1���
�
	���
1�� ��1� ���
��
��� ���� ��1�0��
	����� ��� �>����� ��1� ��� �
�	�� �

�� �� ���
�>�������1����
8��1���

��6���,�881�������������
11
�.�'�������
���1�����
�����
�

�7*� ;�
1�<��
� ��<
���� ��8����
������ ����� <
����8����� ��� �11����
� ���������	
*�
��1�3
����
����������1����������
������Z*�S1
�8����	�������������
	������������
��*�
�������*� 
��������� �� ���8����� ��� �����
� ��<������� 
� ;��11
� ��
0�1��
� �
11
� �
��<<
�
���
��1��������������������
881��
��3������������1�����
��1�S��

��



7'
(������

@��A����
�
	���A����
�
	�@@
	��'�

�
�R�8��8������11R�����
���11
�8�001��
�<��	������=�����������<��
���1������	��������1��
����
������
��1�*�8��3������
����������1������8���
1��<�!=K������=
�
3���������
���8�����
���1
�������8�����	
����1���������F*�1���������������	�����S���3
����1�1����
<���
������ ��1� <
���� �=�*� ���RA� 0��� ����*� 1R
���3��F� ��1� ���
��� ���������
��11R������	��������
�8�001��
�<��	����*����=��1
���������
	��������1������
��*���
���8����	
���1�1����1
����*�A�������
�������1�
����
���
0�1����1
��������
	�������1�
8��<���������
*��
�
�<���
��� ��
�	�AA�
���
������������3�	����3�1����
1����
��*� ��
��1
	�����
11��

Page 22 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�
6��7� )� ��1��3�� �<<����
��� ��1� ������ 8
������ �
1� 8����88����*� 8
��<���� ��� ������8�����	
� ��� ���
�������
*��=��1R
������*��1�������
*���11
�1��������
��1�*��8������11
�<
���
�����������1R
����	�����
��11R���
�����
���8��
� ��1����
��*� ��������11
���������3
�<
����������3
B� 1
�,�8���
�������=
�
��<
���*� ��� 8�J� ���
�����*� 
<<���
��� �=�� �� ��
� 3�1�
� 
������� 1R���
����*� �1� ���
��� ���� 8�C�
��������8���� 1
�8��8��
�8����
	�����
��
��
���1��
��
���8
�
�������������
������8��� ��
����
����
�����������������*� ���M��
�����*�����*�8�����B��
�������<�00�
�����Z���������*� ���"�3��
����*���Z�*�8���
���
�
6��7�"�1
��3
������
��
1������
��<<��8��<������
1�*�;�
1��;��11
�������������*� 1
�������8�����	
�
=
�����������=��1R
���������
�8��<���������
����1�����*���������
�
11
��
��<<
*���
�1�������1
������
�
���������	�� �����81��
��*� �
� ���� ��
� ��11�� �T� 
���� ����� ����*� ��
��
������ ��� ������ 8�����
��11R������������11
��
������
�8��<������
1�*���������11R���������������
1� ��
����������0��������
����

��*����.��������3�*�����*�)*�8��Z��B��
�����������
��������������*����-�������*�����*�)*����
��Z���
�
6��7�)��8
��
����
1����
3�3
���3��������������=��1
�����	��������1������
������
��1��<�������1�3
����
��1��
��<���������81��
��*��
��������8���
������11��F���11R
������� ��������
���
����
������1����� �
+',$&)�$*�)1����8�������11
�8����
	�����8��<������
1��<�
�
�������
�����	�
1�*��
��<<��������1��
������������	
*����"�3������*��

�*�8���

�������
*�8���1R�������
0�1��F�
��=����1�8�
�����3�1������*�
#$�"$*�&
�1��������
��1���������
�
*�))*�����*�8����ZB��
�������<�00�
������������
��*����M��
�
����*����
*�8����Z���
�
6��7��<�����1�8�����/�%"�&&)*�)�����
��������	��������1������
������
��1��68
�����8���3����
��7*����
"�3������*��

�*�8����������

�
������	�� ��1� ���3�	��� ������� �� 
�1�� ���������� ��11
� �����
1��F� ��� ��1���� �=��
��11R
���3��F����
��1����00�������3�������R�8���
����8��<���
������1����������=�*����
;����
���������
	�����
<<��
�
�
11��3
1��
	����� ��1� 1����1
����������
���*�;������
����
� ������ ��� 8
�����1
���<��
1��F� ����
1�*� ;�
1�� �=�� �������
��*�8���=D� ���� ���
�����
���� ���� 1
� �������	����S� <�"=�� !�3���
������ �������� ����1������ 8��� ��
���8����� 8��<������
1�� ��� ������ �������*� �=�� ���� 
��������� 
11
� 8�001��
�
<��	�����6���8������=����A���8���
����������������
�1������������������1
������
�
�����0�	����� ��1� ���
��� ;�
1�� 1
3��
����� 
�������*� 
�� ������ ��11R
���� ��� ��11
�
�������	����7 � ����� A� ��
��� ��
��
������ ��1�3
��*� 1
� ����	����� ��� ����
�������
8�C�
881��
����
��
1�����8����������0����B����
�SA��
	���
1������������<��
�
��
1�
<
���� �=�� 1R����
���� ������������ ��11
� ��
� �����	
� �1� 8��		�� ��� ��� ���3�	���
8�001��� � ��� <����� 1R
�����
������ ��11�� ����	����� �R����
���� 
�� 0���<���� <���
1��
8����88���� ������ ��CS� <�$=�� ���� A� �
��
1�*� ��1� �����*� �1� <
���� �=�� ��11
�
1����1
	����� �8���
1�� ��� ���3������� �� �1���� 
11�� ��������� ����	����� �
��<<
����
�8���<��
������ 8��3����� 8��� �� ���
�� �� ����
������ ����	����� ��� ����
��� ���1��

33��
���6�������������������1
�8�001��
�<��	����������<��
��
�1����������3�1�
*���
����1R���������������
1��
11
����8�����������1������������������
���8�������*� ���
����
	�����8
�����1
�������������3�1���������1
7�<��=*������1��
���1�
�����1���������
6
��=��;����������������������1�����������������	������������8�001���7�<� =��

N�
1���
��00�� 1
������� ��� ;����������	������
��<<
���� ������ �8��������8
���
�
�
����
��3���������1
��
��<<
����
��1������<�����8�J��������
0�1�:�,��8����00�*�<����*�
���
���
��� �=�� 1
� ����	����� ��������� �����;��� 
�� �8��
��*� 
3����� �����
8
�
�����������<��������������1�������*��
��1��
�������
��<<
�����,�����=D*���
�
����1���������1�������������3�1���00�*�
�����8�J�
���������
��*� ���
	���
1� � ���
������������� 1�0��
������
��
	������������8����*��=��8�����
��
���
�8����
S� �1�
�����
����� <����� �� ���� ����
������ ;��11�� ��0�1�*� 3����00���� 
� ���
����
�8���;�
	�������1������������8
��0�1������1
��
������11
������
�����	������
��<<
��
��
,�� 8����00���*� 
�� ����8��*� ���
��� ����
	����� ��������� �
1�� �
� 8���
��� 
�� ��
�
����	����� ��� ���8����*� ���� ���<������ ��1� �����
����� S<����S*� �� S
0�1�� ��11
�
�����
��
	����S*� �
������� ���8����� 
� ;��11
� �
�
����
� �
11
� ����	����� �
��<<
��
�
<���
�
� 8��� 1����� 6��� �8��
���*� ���8��� �8������
�����*� ���� �
�����7�� '��
������
���1���������
��00��<�������������8�����������������	���
1��F*�8�����<�����
��� �
�����3�1�		
� �� 8��� 3��1
	����� ��1� 8�����8��� ��� ���
�1�
�	
� 6�=�� �
��00��
����
������ 3��1
��� ��� ��� ������������ ��� ��
��
������ ���������� 8��8���� 
11��
����
	������
�����������������3�1�����
����1
7�<��=��

������1���&������	������������
������������������� ���������������
���
���������
��� ������
� �
��<<
���� �=�� 
������
� 
1� ���
��� 8��<���������
� 1
� �����
�
�������
	����� 8��� 1�� 8����
	����� 1
3��
��3�� �<<����
��� �
�
�������1�� ��
�
�����0�	����������
������1
	�����
11��<
����8�����S�����
���S*�����������3�1�����D�
��11
� �������
� ����	���� � �1� <
���� �=�� �1� ���
��� ��
� �001��
��� 
� ����3���� ��

�������
���
������������
������������6
�3�1���1
�����	�����
���3
�<����
1��
Y����1��
����
�������
1������
881��
0�1�7����������<��
�8��8���� ������;�
�������81����3��
�=����������� ��8��� 1��������	�����������
11R������	�����11
�8�001��
�<��	�������
��11
��
13
��
���
�������������������
1��������3�1�����
1�����8����
	�����
��=��
1�
1������ ��11
� �������
��3��F�� +
� 1�� ��������� ����	����� ���� 
3��00���*� ��3���*�

1���
�������<��
	������
	���
1��������������
����
1��������������
11
�1����
���1�
����
��*��=��8�����
��
���
���������
����
1��1�0���F������������
	�����

��

Page 23 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



6�Z7�������������Z�1��1�����������Z�*���8���
�
����,�"/)*�)1����
��
�����11
�������8�����	
*�/
��3
�
��Z�*�8���������B�-�&($����&)#"��!)*�$���
������
��1���������*� ���!�	���
���������1�8��������1�
���
��
��*�)))*�"��
���ZZ*�8����
�����

6��7�-�&($����&)#"��!)*�$���
������
��1���������*�����*�8��������<���
��=�*���1���������������*�
/�%"�&&)*�)�����
��������	��������1������
������
��1��68
�����8���3����
��7*�1�����1������������<��*����
8
�����1
��*�1R
��������1������������0�������*�������B���1R
�����Z���11
�1������Z�1��1�����Z�*���������

6�
7��<���1R
����������1����1�������
�������


*������ZB���1R
���������1���8�����
��
������

�*����
������

6��7� N��11�� ��11
� �
�����3�1�		
� A� ���� ���� 8�����8
1�� 8
�
������ 
11
� 1���� ���� ;�
1�� 1
�
������8�����	
� �������	���
1�� �8��
� �1� ������11�� ��� 1���������F� ��11�� 1���� � �<��*� ��� �
1�� ��������*�
���MM�*� ���
�1�
�	
*� �
�����3�1�		
� �� 1����
� ��������
*� 
� ���
� ��� +
��
��*� +�1
��� �

�B�
!R��!"��*�"
�����3�1�		
��� 1�������
	����� ��1�������
*�+�1
����

�B�&��%$""�,/�!�"$*� &

�
�����3�1�		
� ��1� �������*� %������ �

�B� ���MM�*� "
�����3�1�		
� �� �����8���
	����*� ��� ����
�����8���
���*� �

�B� +$""$��*� )1� �������� ��11
� �
�����3�1�		
*� +�1
��� �

�B� #)�*� !������� ��

���������� )1� 0�1
���
������ ���1�� ���������� ��11
� ������8�����	
� �������	���
1�*� +�1
��� ����B�
/�&�!)�*�"
�����3�1�		
� 68�����8��� ��7*� ��� ����� ����*� �������
�����*� )*�+�1
��� ���Z*� 8�� ���B�
&'%��"*�"
�����3�1�		
���11��1����*����!������������81����8�001�������=�*�\))*�%���������Z*�8�����B
��"")*�"
�����3�1�		
���11�� 1����*� ��������������%����
��*�\\M*�"��
�����B��)"$*�)1� ������11��
��11
��
�����3�1�		
���11�����1�����1�1����1
����*����-�������*�����*�M*������ZB�%$,)*�,8�����8�����
�
��<1������������������������
�����3�1�		
���11
�������8�����	
��������	���
1�*����.����������*�����*�8�
�����

�
����������8����3��������1��3������1�0
���*��
�
��=��3�����1R
1����+������1
��
��<<
�
���
��1�� A� �� ���8����� 
�� 
1���� �
��<<�� 8��<������
1�� �� S�
1����
�
S� �� ;������
��������
*� 8��8���� ��� ��������
	����� ��11
� ��
� ������
� 
������	
� 
11
� 8�001��

<��	������������
�
��

,��0�
*� ;�����*� ��3����� ����1������ ��1� ������ �=�� 1�
 	���A����
 �
	�@@
	���
 ��	

����	�
 E	
���������E�
 �
 ������
 �������A���
������
 ����������
 ���
 ����
��
 ���

���	
	�
 �����
 ���	
	�
 ������
 ��	
 ��
 �����������
 ����

 �������

 @��A����
 G���

@��A���
��
 ��

 �

 E������E
 ���
 E�
�����E
 ��
 �
	�@@
H�
 �
 ���
 ������
 ���
 ��
��
����
������
���
��
������

��
����	

����	
��
A����
�����
�
	�@@�'�

&�����������1����1��1����

�*�������*��=��=
��������������
11R
�����*�����
��*�1����

7� �� �1� 8�����8��� ��� 1�0��
� �����
��
	����� ��11�� �
��<<�� 8��� 1�� 8����
	����� 1�0����
8��<������
1�*�8��3������
11R
������*�����
���*���
�����	�������11
��
��<<
����
��1��
6��11
� �����
� ��1� �
Y*� ��1
��3
������
11�� ��������� ��� ����0�1�� 
0��
��3�� 8��� 1��
;�
1��3���
��<<����
�
� 1R�8	����� �����8��		��3
1���*�
�������� ��11R
�����*� ����
�
��Z*���11
�1�����������>�

�7��/���;�
������8�
������*��������8���������������
�=�
�����<��=1��������0�
���00����=���
1������	�������00
��8��
�����11R����
����
��� ��8�������*� �=�� A� ����
���� 8��<���
��� ��� �����
� �����
� ���� ��1�� ��11R��8�����
�
�����*��
�
��=�����<��	����������������������
0�1���

��

8'
+
	�@@

���
	���
�
��	����
�������
	��'�

&R�������
0�1��F���11
��
��<<
����
��1���������3
����
��1�������A�;���������8��������
��1�3
���� ��8���
�	
*� 8��� ;�
���� ��� ���F� ��1� 8��������� �� ��11
� ��	�
���

�������
	�



�����

����

����	�B
��
��
����������
��
�	���
A����
��
��	��A�
�
����


�����		��A
*� �=�� ���� ����
��
� �� ���
��� ��C*� 8��� ;�
���� ����
��
� �

 ����	�B
 ��
��
���������
 �
 ��
 �	���
A����
 ���
 ��	��A��� �
11R
���� ��� ��1� %�
��
��� ��*� �� �
11
�
�������3
��

�>��>��� ��1� /
�1
������ ����8��� �� ��1� ������1��� ��1� Z� ������0���
�

�*� ��5� S��������
���S� 6��� .�'������ ��� &���� ��1� �
� ������0��� �

�7*� �=��
���1������ ��8����
������ �
11R
�0���� ��� 
881��
	����� ��11�� ��1
��3�� ������
�������
���� 1�� 
���3��F� �=�� S8
�����8
��� ��11R������	��� ��� 8�001���� 8�����S*� �����
;��11
���1����
������11
��������
�����	�����������3���1�8������������������3
���1
/
�1
����������8�������1�������1�����1
��3
�
�����3�	����1�����
�����������6�����
��	�����

 4���������7*� 8������
�
� �
11
� ����������� � ������� 1R
���� ��� ��11
�
8��8���
� ��� �������3
� ��8������� 
�1�� ,�
��� ���0��� ��� ������������ 1
� 1�0��
�
�����1
	���������
���3�	�*� ��� 8
�����1
��� ��8������� 
1� 8����
����� ���� ���3�	�� ��������� ��� �������
��
0�1������1�1��������������*���3���
����
1����������8����
��������8������1�8��8����
�<<��������������������
1����,�
��*��1���������3��
�����1���Z����=�
�
���
881��
0�1��1��
�������
��� ���8���	�����
�1��E
���
��	
 �
��
��
 �

 �����
	�������
 �;����	�����
��
��

���
��E��
N�
����
�
��	����
�������
	��
����

�����		��A
�� 1
�������8�����	
���11
����������
.�����	�
�=
�
�������1
����
881��
	�������11������������8�����	
�������8��3
1�����
����	����
���������<�A=0�.1��
���������������1�%�
��
������3���
����1��S
���������

��8����S�����
� S
�����
	����� ��� ��8����S� �� 1��8�
���=�� �������
��� �=��8���
���
S8��������
��� �1� ������������
�,�
������0��S*� �� �=����
��� �������
� S��8�����*�
��������������<
1�
����1���������11
����������	
�
11R����������1�����
���������SB
3���
���
1����K� 1�� S�<����
������
0���3���
�8
���� �����
���8�J� ��8����� �����
�
8���	����� �����
������1�����
��� ��������������
�8
��������
�	�
1�� ��� ����S*�
���8�����11
������
��������S8���
��������8�������	��3�1��
1�������������
�,�
���
���0��S��&
�������8�����	
��

Page 24 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�
6��7�/�%"�&&)*�)�����
��������	��������1������
������
��1��68
�����8���3����
��7*�����*�8����������

6��7� �<��� 1�� ����1������� ��11R�33��
���.����
1�� ��11
� ������ ���.�����	�
� ��*�+��/��
����+
����*�
8������
��� �1� ��� ����
��� �

�*� ��11
� �
��
� ����>
�̂ ���
�>
�*� 8
�
��
<�� �
� �� ��������*�
��1
��3
������ 
11
� �
��<<
� <������ � S��00���� �1� �
��<<
���� <������� ��
0�1���� �
11
� ����
��3
� ���
;�����������
�
881��
0�1�����	
�������	�����
�1��
33��
�����
0�1�������)�
1�
���
�;��11����
0�1�������
1����
,�
������0����=�� ������
���<����������3�	�� ���)�
1�
*���������
�������	�����
11
� 1�0��
�8����
	�����
����
���3�	�� ���3
����
��*�����;�
1���1��
33��
�����1������������88�������8����������
�����
	����������
<
3���3�1�����8�����
�� 1���� ��11��=�� ��
1�
��SB� ��C�8���=D� S�1� �
��<<
���� A� �1
0��
����������� ������
��1�
���� ��11
�����
	����� ���1�� 
33��
��� ��
1�
��*� ���	
� ��������
��� 1������
	����� ������
	���
1�S��
)��1���*� S�1������
����������<���
�����1��
��<<
���� ��8���������
�1��
33��
�����
0�1���� �������,�
���
���0�����3������
11
�"�8�001��
���
1�
�
����<�����������
1��,�
������3�	��1��
1��
�8��		����<�������
�
�
1��������*�
��=��
3�������1
�8����0�1��F*�
������8�����
	���
11
�8��8��
��8���
1�		
	������������
�8���<�����������SB�����1R�1�����������������	
��=�� S�� ����
����� ��
1�
����=���������
������1�		
��� ��
���3�	��������
33��
�����
0�1����������
1����,�
������0�������8�������0���<���
���8���
����������
3
��
���� ��1� ����
��� ������S*� �� �
� ��C� 1
� ����1������� �=�� S�1�� ����
��� ������� ��������������
���;��� ��
� ������	����� 
11
� 1�0��
� 8����
	����� ���� ���3�	�*� ��� ;�
���� 
���11
��� �1� 3
��
����
���������	�
1�����1��
33��
�����
0�1����<������@)�
1�
S����11
������C*���������A������*�8�C����<����
����
�����1
	�����
11
�8��<�����������
��1�*���
���� 1R���1���������1�8�����8������ 1�0��
������1
	������� ���
1�0��
�8����
	������������3�	��8��������
���

�
�������
��
*� 8��
1���*� ���1���� �1� �����
���� ��11�� �
��<<�� 8��<������
1�� �� �� ��11
�
��1
��3
� �������
0�1��F� �� ���� 1
��������
� �����81��
� 1
���3�� 1������������
��<<��
��
���
88��3
���6�����
33�����8���;��11
����
��1�7� ����8��33�����������
�
1�*�
�=���������1������
��
��<��
���1
�8��8���
�8��3���������
11R�������8��<������
1�*��
�

1������
���������8���
�1
�<
����8�����
�����������11�����������*���������
11
�����1
�
��11R����������8�001����<�L=��,��8����00��8�����1
�;������������1
��
��<<
����
��1�*�
��11
����8��������
88������
�
��
1����8������T�
�����
���1�������Z���3��0���
�

��6
11
������������
���������
	����������������
���1�0��
	�������1�������1���
���
��1�� ���������
1�7*�8���
�������� ��������
�
�;�
1������1�
���� ������ S
�������
��
���8����S���11R
���	�������11
�����
��3
��������
��
�<�>= ������
��
*�8��
1���*�
��� ��8��������� ��<���
�
*���1�� �=����� ���������� 1
� �������
�	
�8��� ���� �� ������1��
���
��1�����1����
���
���
0�1��������S������������
����
S�6��1����������<��
��*�3����<�
7*�
8���1
���������
	�������������������1����8������T�
�����
*�����;
�����
��
������

�
�
�����
@���
��
�

��

��	�

��
�
���61R
�����
���������*��=��8���
1R
88�������
0�1�����1
������
��
����
���1����8������3��������81
��������<�
�8
���

�����3�1��� 1R����
�����R
���7�<�!=��,��	
���������������1�<
�����=�� 1
���1�3
�	
�
���1���3
������ 1��
1�� ��� �
1�� 8��33��������� ��1� ������1��� ���
��1�� ���������
1��
�����
��00�������
�
�<
1�
����1���������11
����������	
*������=
�8���8���
������

<<���
������������
�����
���������������8�����	
�<�"=��
&
� ���8
��0�1��F���1�8�����8������ �������
0�1��F���11
��
��<<
����
��1�� ���� �1� �������
�������
������������*�8��
1���*��
���
���������
	���������
�
������8�J������
1� �
�������� ��
881��
0�1�� 
1� ���
��� 1�� ���8���	����� �������
���� ��11
� 1�0���F� ���
��
0�1������������8����
	������������3�	�*����
������
��
	
����
�

����������B
���
��

���
��
��
��

��	�
��
��
����	�
����;3�����
 ��	���

�����

 �

�	��	�


������B

�	�@������
��
 ��
$�
��
�
 �
 ���
��I
��	
 �
��
������
���@���	
	��
��
�	�����

��
E�����		��A

 

 �������
 �������
	��E
 �	

 ���
�
 ��
 ��
��
 ����	�
 ����	���� �R*�
����
�����*�8����0�1���=��������
������
�����*�8����8��
������1�8��8����,�
������
�������*� �����
� ��� 
���� �=�� 8������� �� 8��8��� �<<����� ��11R�����
������ ����������
��
1�
���6
�����*���
�<����������������0�1����������)�
1�
*��������	��������������F����
�������� ��
1�
��*� ����7B� �
*� 
� 0��� 3�����*� ��
��=�� ;����
� <
����8����� 8�C� �
��
1����� 
�� ��� <�������� ��� S���������	
S� ��
� ���
�� ��� ,�
��� ��3������ )�<
���*� 8���
�8��
���� ��11R�����
������ ��
1�
��� 1
� ����1
� ��11
� 1�0��
� �����1
	����� ���1�� 
����
���
��1�� ��� 
�0���� ������
	���
1�*� �� ��1� ����� 8�����8��� ��� �;��3
1��	
� ��11R
���
���
��1��
���
������
�;��11����
1�
���<�$=*�����������1�3
����=��1R
�����
�*�����*���11
�1�����
���
��1�*����=������1�

��

6��7��<���������.�����	�
���*�������	
����<�00�
����

�*��
��
�����>��*���������6"
����8
���)�
����7B�������.�����	�
���*�������	���������0������Z*��
��
����>��*�#�)�>��0����6"
����8
���
�Z��*�8�������7*� ����������������*� �
��
� ����>��*� �����������>)�
1�
� 6"
����8
���)�����7*�
�������*� ����*� 8�������*� �� �����
�	
��Z�<�00�
����

�*� �
��
� ����
>
�*�+
���� 6"
����8
���)�
���Z*�8������
7B�����1���������11R
33��
��������
1��&D���*�8������
�����11
��
��
��������*�����*�
8
�
��
<����*�����11R
33��
��������
1��Q
��0�*�8������
�����11
��
��
����Z>��*��10
�I�6������	
�
��� ������0��� ����*� "
���� 8
��� )��Z��*� 8
�
��
<�� ���7�� �<��� 
��=�*� ��1� 8����*� %)�$(()*� )1�
���8����� ��1� 8��<���������
� ����11����
1� � 
�������
� �����
���
1�� ��
� �
��<<�� �������
0�1�� ��
�����81��
� �������
��
� 
��������*� ��� �����
���� �� ��8���
*� �

�*� 8�� Z��B� ��� ��� ��������

�����
���
1������������8��3
�������8��*�
����
����,���=����*�/
��3
��

�*�8��������B�+',$&)�$*�)1�
���8����� ��11
� 8����
	����� 8��<������
1�� <�
� 
�������
� ����	�
1�*� �
��<<�� �� ����1�� ���
���������	
*� ����*� 8�� ��� ���B� &�'")�)*� %
��<<��8��<������
1�� �� 1�0��
� ���������	
*� ��� ���
��
��*�
����*�88���
������

6��7�)���
1������*��<���,��).�.&)�*�!�������
�����������8���������
�����������
	������
��<<
��
���1�
����
�����11��8��<������������11����
1�*�������3
���������3�*��

�*�))*�8���

������

6��7�/�%"�&&)*�&
��
��<<
����
��1����1
�<��	�����8�001��
���1����
��*�����*�8����������

6�Z7� �88�� +�1
��� ��� ��3��0��� �

�*� ��� "�3�� ����*� �

�*� 8�� �

�*� ���� ���
� ��� ��,'*� ��� ���
-��������	��*� �

�*� 8�� ��� ���*� �������� ���� S1�� ��1�0��
	����� 
����
��� �
�� ������1�� ���������
1��

Page 25 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



���
��1��
�����������1��
�����
��������11
��
��<<
����
��1���������<����
�������������<1������������
1@
���� ��� ��
��
��� ��*� ������������ ������� ���� ����
��
���� ������ �1� ����������� ��11�� ��
��*� �
� 
�
�
�
���������1���3
������1��
1�������8���
�
����������
1�����������������
*�<��
1�		
���
�����������*�
���8�����	
����8����
	�����
�������3������������
������11
�����
1��F���11��<��	������3�������8���
���
�
1����
��*���
�8���;�
	�������11
��
��<<
��
	���
1��
11��8
�����1
��������	�������������������=�����
;��1���������
������������S����11��������������*�%��0��#�1���
�����
������

������Z�6������
7*�
�������� ���� A� ����1�3
���*� 
�� <���� ��11R
881��
	����� ��1� ���8����� �T� 
���� �
� �� ��� %���*� 1

������8�����	
� �������
��
� ����
����
� ����
��<<��8��<������
1�*� S���;�
���� ���
�=
�
���������� ��
1���������3
1����F���3����1
��3��F�������������
��
��<<
����
881��
�����11R�������������������������,�
���
���0��*�1
���3��1�������
�������������
���
1����
��������A������1
	�����
�����������
��
��<<
����
��1�� 1��
1�*� ��������� ��� ;�
���� �
1�� 
� ��������
��� 8���	����� S��� �
���11�S� ������
��� �
11

������8�����	
��������
��
S��

6��7� ,�1� 8�����8��� ��� �;��3
1��	
� ���1�� 
���� ���
��1�� ���
������ 
� ;��11�� ��
1�
��*� #�&&�")�$*�
���3��	����� ��11
� 1����� 
881��
0�1�� 
11�� �001��
	����� �����
���
1�*� ��� ���3�� 1����� ��3�� �����*�
����*�8���
��B�#),�$%%)�)*�!�������
��������
��3��������
	���
1�*�)*�/
��3
�����*�8�����G���B
/)��$&)G"'$%$&$GM�&&�%%)*�&
������1
	��������1��
�������
��1����11���8
	�����������������8�����1
�
��<���
� ��1� �������� ������
	���
1�� 8��3
��*� ��� "�3�� ����*� ����*� 8�� ��ZZB� "�M)&&�"!*� !�����
������
����
1�8��3D����8�
��;������
��
1�*�/
�����

�*�8�����G���B�'�)���&�*�&
�1�0��������1
��������

�����U�����;�����
���1
�������
��D�����8�����*������������1
�-���
�����8����1
�/������������
1
������������
��
1�*��������
������B����MM�*�M
1��������<<��������������������������������3����
�
�������
��*� �������� ��1�\\����������� ������
	���
1����1����
��
��� 1
����*�"��
�����B�!"$(*�
/��01A���� ���1�3D�� 8
�� 1@D�
01��������*� ��� ���1������� ��� 
�T� ��
��G'���*� �@��� �
��
�
�@=I8��=D;���� ��� �����01�� <�
�_
��*� ��� +D1
����� ��� =���
��� F� ����D� #������ ��� -���
���
!�����
*�!
11�	*�/
���������*�8��������B�!"$(*�"��
��������1��������������
����
1�8��3D����8
�D*����
"�����1����������*�����*�)M*�8���Z�����B�!"$(*�&@
���3��D����
��
1��������
����
1�*����"�����1�����
�����*� ����*� 8�� �
� ���*� �Z� ���B� -"����,��V),*� ��� "�3��� �����;��*� ����*� 8�� ���� B
-"����,��V),*����"�3��������;��*�����*�8���Z���

��

8��3�����8���������1��
�������������
��� ��
1�
������1��
�������
��1�����
�����*�
��<����
��11
�1����
�����	��������)�
1�
�<��= ��
1����8�����*�<��
1�		
�����
�1R
1����
���������8����0�1��
�1� ������11�� ��� 1��
1��F� 
11
� 1���� ��11R�����
������ �������� <A =*� ���8���
*� ��1�
8�
�������
�	�
1�*� 1
���������F���� �����3��������������
�����
1�
���
��=��1
���3��
��
���F������3�����*�8���1
��������
�<
����8����*�������
������
�����B��*���1�8�
���
�
��<<
���*�1R
881��
	������������1������������
�����
�8
������1����
�����
1�
���<A�=�
6;����R�1����� 1�������
��*� �1���� �=�� �
11
� ���
	����� ��1� 3��0
1�� ��� ��8�����*�
8��8�����
11R�1������������3���
�8����
	�������������������11
�3���<��
�������<�����F�

11R�����
������ ��
1�
��7B� ��������� ���K� �3������� ����� �� ��� ��8�����	
� ��11��
������	��8�001�������=�����������
1�������11�����
��1�����1��
1��F*��=����8�������
����������� �����3��������
��1������
����
11R
��������3����
11R������� ������8���
�
��
��=�� ��� ;������ �
���8���8���
���� ���8��01��
� ��� S���������	
S����
��1�� ���

�0�����������
�����
!
� ;�
���� ��8�
� ��������*� ��� ��<�����3
*� �;�		����
�A
�
 ���
 ��
��
 ���
 ��	����

�������
	��
 ����

�����		��A
�
����

 ��	�
���

 �
	�@@
	�

 ���
	���
 ��
��
�
B� �� 1
�
������������ ��8����0�1��F� ��� ;�
1�<��
��� �� ������1�� ���
��1�� ���������
1�� �����
S
�����
	����������8����S�
������������<<������

��



9'
+
	�@@

���
	���
�
��	����
����	��
��
���

��
�����		��A
'�

�
/����00����1�3
�������11
�3
1��
	�������� 1���������F���1�8�����8������ �������
0�1��F�
��11
��
��<<
����
��1�� �� ��
��	����
 ����	��

����	���J�N�
1�����1��=
����������<A�=*
���	
� 8��C� ��������
��� 
1����� 8���1�
���F� ��11
� 8��<�������� ���
��1�*� �=�� 1
�
��<<����	�
�������
���������8�����
11��
1������
1�F�1�0����8��<������
1���
)�� 8����� 1����*� �1� ��11��
������ ��11
� �
��<<
� ���
��1�� ���� 1

 �������

@��A����

�������
�
� �
1� ���
��� 8���� 1
� �
��<<
� �������
� ��� ��
� 8���	����� ��� 
���1��
�
�8���<����F�� &R�������
0�1��F� ��11
� �
��<<
� ���
��1�� �� ;�
1�� ����1�
���� ��
� 1R
1���
�
11R
���� ��Z� 1���� �� �
�� 8�����8�� �����
1�� ����8����� �� ��������� ��<
���� �
� ��
�
��	�
���

 �����
��
 6������<��
�
*� ����� ��� A� 3����*� �
11
� 8�001��
� <��	����
�������
�
��
1����
�� ��<�����8�
*�8
�
��
<���7*��=�������
�;������
11
�����
��3
�
�����
1�� ��������
� ��11
� 1����� �
� ����0��� ���
*� ��� ��Z�� )1� 8����� �����
*�
8��
1���*���
�8�����
	���� �

�
6��7� ,�1� ��8������ ���
��1�*� �T� 
���� �
�*� ��� �*� &���*� "',,$*� )1� ��8������ ��� 
���� ������� 8������
1@
��=�3������
��1� �����
��3
*�<���
1��F*��8�����8��01��
����*����M��
�����*�����*�8�����B�#$�"$*�
&
�1��������
��1���������
�
*�))*�����*�8���������B�%$�!$*�!�8������8���������
������
�����������
��1
��3�� 
�� ����0�1�� ��� )�
1�
*� ��� ������*� &
� ���3��	����� ��� "��
� ��11
� 1����� 
881��
0�1�� 
11��
�001��
	����� �����
���
1�*�))*�+�1
�������*�8���������B�%$�!$*������ ���������1
��3��
� ����0�1�� ���
)�
1�
*����"�3������*�����*�8�����B��������6����������&$/,7*�)�����
������8������8���������
������
���
����������*����,�������+
����
1�*�))*�+�1
������
*�8�����B��������6����������%$�!$7*�,�11@����
���)�
1�
� ��� ����������8��3
���
�������
���
11@������*� ���,����� ��+
����
1�*� )*�+�1
�������*�8����B
�������6����������%$�!$7*�/�����
������
��
�<
��3
1���� ���)�
1�
*����,�������+
����
1�*�)*�+�1
���
����*�8�����B��������6����������%$�!$7*������
���11
�8�����
������
��
�<
��3
1�������)�
1�
*����
,����� �� +
����
1�*� )))*� +�1
��� ����*� 8�� ���B� %$�!$*� ������11�� ���
��1�� ��� 
���� 
� ��1�3
�	
�
������
	���
1�*� ���"�3������*�����*�8���
B�%$�!$*�!�8���������
����������*� ���M��
�����*����
*�8��
�
�
B�-�&($��G��&)#"��!)*������������*����!�	���
���������1�8��������1����
��
��*�)*�"��
���Z�*�
8���
�B��"��)�&&$*���8��������
��1�� ��11
�8�����
������
*� ���"�3������*�����*�8���ZB��#��"*� &��
<��	����� ���
��1�� ��1� ������3
����� ���1�� 
��=�3�� ���
��1�*� ��� M��
� ����*� ����*� 8�� ���B� ������*�

Page 26 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



%�
����	����� ��1� /�"���� ��� 
���� 
�������
��� �
� ���
��� ��� ,
�� +
����*� ��� ,����� ��� 
��������� ���
���������� ���
��1�*� )M*� "��
� ����*� 8�� ��B� ������*� �����
� ��1� 3
1���� ���1�� 
���� 
�������
��� �
�
���
��� ��� ,�� +
����*� ��� ,����� ��� 
��������� ��� ���������� ���
��1�*� )M*� "��
� ����*� 8�� �
�B
#),��"�%%)�!)�"'--)�*���������
	�������11
����3
�1���������
����
����8�001����F����
����<���
���

11@������*����"�3�������������
	��8��3����8����*����
*�8�����B�#$���)�)*����������
11
�1��������
�
�	�����
� ��� Z�*� ������3�� 1����� ��3�� �����*����
*�8����
B�.�&&$*� &
�8�001����F� ���1�� 
����
������*����,��������;���������������������8����
���*�,
�����*�����*�8�������

6�
7������������*���1������*��
1����8�������11R
������*�����
��*���11
�1����������3��0����

�*�
������*�
�����
���1�;�
1��S8����1��
����<���
���
11R������*�1�����8���	������������
�1��
�����1���
������
��1���������������� ����
1���8��������������

�*������
*� ����������3������<��
	����*����
881��
���

11R
���� ��1� ��8������ 8������ �1� ���
��� �� 1�� ������������ ���	����� 8������� ������� ��������� ��1�
��1
��3��3��0
1�S���

6��7������������11R
���������1�������Z���3��0����

�*�S8���1R
���������8������8�����������
11R
����
�
�*�����*���11
�1��������<�00�
�������*������*��������3�����1������
�����
��
1��6����8�������
1��
�
7���<�����������8��������
1�������������11
���������
S��

6��7� �<��� ,��).�.&)�*� !������� 
��������� �� 8������ ��� 
�����������
	����� �
��<<
��
� ��1� ����
���
��11��8��<������������11����
1�*�����*�8���

�����

�
����������<
���*�
�8��8��������1�����������������
����	���*���������������
�����
��3
�
3�������������
��3
���
��	�
����������,�1�8�
�����1���������3������*�1
��8���
1��F�
��11
�����
��3
����
��1��������<��
�
88����� ��
11
� 1���� ��11
��
��������8���
��� 1
�
�����
� 
11
� �����81��
� �����
1�� ��������
� ��11
� 1����� ��� ��Z>���
�� /�
 ��	�

���������� 1R
���� ��� ��11
� �������
� 1����� 8��3���� �1� 8�������3���� ��11R�������F�
�
�
���� ��11
� ���������	
� �� ��1� ����
��� ��� ����3���
��*� �� ;������ ����
1
���
1�
/
�1
������ ��� 
1� .�3����*� S�� �
��� ��� 8
�����1
��� ��1�3
�	
� ���� ;�
1�� ������ ��
1����� �� ��� ����1
������ �� 8��33��������� 
��������
��3�� ��� �
�
������ �����
1��
��������
��� ������������ ��11
� ���������	
� �� ��1� ��������� <��	���
������ ��1�
����
����=��������
���������<��
����
�������	����� ���������������
1�S����
��=��
������ ;����R�1����� 8��<�1�� ��� 8���*� �3�����������*� ��� �8�������� 8��01��
� ���
�����
������11
�����
��3
����
��1�������1�����������11
����������	
*�8���=D��������
��F� �11����
�������������������
������ ����
����
����
��1�� ��8���
���� S������	����
���������� �����
1�S� �=�� ������<��
��� 1R�������
0�1��F� ��11
� �
��<<
� ���
��1�� �� 1
�
���
881��
	�������1�����������11
����������	
���1���1
��3�����������
)�� �������� 1����*� 8��� ;�
���� ��������� 1R
���� �
� ��11
� �
��<<
� ���
��1�*�
;����R�1���
� ���8���	����� �� ����� ��F� �3����	�
��� 
� 8��8������ ��11
� �����81��
�
�������
��
� ��� ���
� ��� ���������	
� �� ���� ��1��
� ���� �������������	� 
�� ������1��
���������
1�� 1
� ��������
	����� ���� ���8����� ��3���� 
�� ���
�*� �
� 
����0�����
����
������ 
� ;������ �1����� �1� 8������ ��� ��������
��� S�������� 
881��
��3�S� �� ���
������������ 
� 8��<�1�� ��� ���81�����F� ��11
� 8����
	����� �� ��� ��� ��������
 ���

������

 ���	�
 ������
 @���
��
 ��	���
�����
 �
��

 ��	�

 ��
�
��B� 1
� ������	���
1��F�

����0���
�
1�������1������������
1�*�����1�8���������S
�����������
	������
��<<
��
S*�
��� ��11��
�;������
11R�������� �����
�<��0����8��3����3
������<���
�
� �
11��,�
��*�
<��0���� 
11R�������� ��11
� ;�
1�� 1R�����
�����*� 1����� �
1� ����������� S�������

������������	�
1�S*� ��8��
� 8��������� ��� ��3��� ��<������� 
11R�8��
��� ��� ��� �����
8�001���*�;�
1��A��1�������1������
��1�*�8���1
�3
1��
	�������1�S��������������
���S����

881��
	�������1����8������T�
�����
������8�����	
������
�8����
	�����������
�
�
�
� 8��<�1�� ��� ��<<���1�F� S����
������ ����������S*� 8��� 1R
88����� S��� �
����
S*� ��
���8��� 8���
���� 
�� 
������
��� �1� ������<
�������� ��11R���������� 8�001����� ���
��������� 1R��
881��
0�1��F� ��
11R
���3��F����� ������1�����
��1�� ���������
1�� �T�
�����

����� �� ��11
� �����81��
� ��11�� ����������������3�� ��11
� 1�0���F���� ���������	
*� ��� ����

11R
��������11
��������
�1������

��

:'
,;����	��
�����B
����

 �
	�@@

���
	���
����
 ��
�'�'
�'
**6<*==9
��
 ��
�'
 ���'
�'
*7><*==9��

N�
1�A�1
���������11
������81��
���8�
���������
*�����11R�����
��
��<<
����
��1�*���8��
1R��
�
	����� ��1� ��1�� ��� ���>�

�:� &R
���� �� ��� ;����R�1����� 8��33���������
8��3���*�
1�����
��*�1R
0���
	�������11��S���8���	�����1����1
��3��������1
����
���
�=��8��3������������<���������
11��
���3��F�1�0����8��<������
1���� ����11����
1� �
7�
1R�001��
������F� ��� �
��<<��<����� ����������33���� �1� ��3����� ��� 8
������� ���8�����
8
�
����
���
1��
����������������1���0�����3��8���������S*��������
1�����
���<
�
�
13�� S1�� �3����
1�� �
��<<�� �
������ 8��<���
��� ��� 3�
� �����
1�� 
� ����1
� ���1��
������S�� ,�� ��
��
� ��� �
8���� ��� ��
� �
1�*� �����
1�		
�
� 8��3������� 8���
� �������
�������
�
881��
0�1��
��=��
11
�8��<�����������
��1������������00��*����
�	������*�
�=��1R��8�
���������81��
�����1�������Z���3��0����

�����
��
��
13�*�����C�����
��1�� ������<���������
11
� ��������
	����� ���1�� S����
��� �����8�������S� 6��11
� ����
0
��� ��� �
1��1
��� 1
� �
��
� �R
��=�3��� ��� �� ������0���� ��3���� 
11
� �
��
� ��� 
1�
������1����
	���
1����1����
��
��*��=��;���������
����������
��������3���������
���8
��
��7*��
�8�J���������
1��������<���������
11R����������81������
��<<
�����&

�������
�	
� A� ���<���
�
� �
11
�8�����
	����*� �<<����
�
� �������� ��� ���3��������
�
11
�1�����������>�

� ����������11
�3��������������
��
�1R
�����*�����
��*�1�����

7*� ��1� ��1�� ��� ���>�

�� 
0���
3
� 1�� ���8���	����� ����������� S1
� <���
	����� ��
�
��<<�� �001��
������ <����� �� ������S*� ��11
� 3�������� ��<�����3
� 1R
0���
	�����
����
��
� S1R�001��
������F� ��� �
��<<��<�������������S*� �� ���� 1�� �
��<<�� ����
���	�
<AA=���
)1� ��00��� ��3����*� 
11��
*� ��1�
���� 1
� 8�����
���� �������
0�1��F� �� �������F� ��11
�
�
��<<
� ���
��1��� +
� 
��=�� ;��*� 
� 0��� 3�����*� �1� ��00��� ���� =
� �
������ ���

Page 27 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



����������*� 8���=D� �� �������1�3
��� �
�� 8����� 
�����3�1�� �������
�����<AL=*� ��
��������A�����
�������������
���
��=����1�8��������1
3������ 1
��8���<����F���11
�
8�001��
�<��	������������
�
��
1����
���������
���������������
���1��
��8���
1��F�
1
� �
��<<
� ���
��1�*� ���8����� 
11�� 
1���� �
��<<�� ����
��
���� S
���3��F� 1�0����
8��<������
1����

�
6��7�/����1R
�����������
1������<��
�"�)%)*�&�0��
1�		
	��������
��<<��8��<������
1������3�����������
1�������1�S!�������#���
��S*�������
��
��*��

�*�8�������

6��7�"�)%)*� &�0��
1�		
	��������
��<<��8��<������
1������3�������� ��� 1�������1� S!�������#���
��S*�
����*�8����������

�
����11����
1�S� 6
���� �*� ����
� �*� ��1� ��1�7*� ���� ������������ 8��3
1��	
� ��11
�
����
��3
��8���
1�����8�����
�;��11
������
1��<A>=0�
&R�����8���
	�������8�
�8��8���
����3
��1�8��8������88�����
��=����11
� 1�����
���
��11
��
���� ��1� ��1�� ��� ���>�

�*� ���� ���� 3�������
����
��� �� 
������ �� S�������
������
���������������8����
�
�������1����8��������1��
�����1����*���*���*���������
��1�%�
��
��� ��������3�� ��11
� �������F� ����8�
� ���
������
��� 1R�����3
�	
���11��
�
����
��
	�����������8
�������11
�����������������8�
*���11R�������F��
�
����
��11
� ���������	
� �� ��1�����
��� �� ��11�� �������F� �������1
	����� ��3���1
�	
� ���
�������*� ��� ��1
	����� 
11R��8����
����
0�1�� ������	
� ��� �
<<��	
��� 1
� 1�0���F� ���
���1�
� ��1� ����
����� ������
����� �� 1
� 8����	����� ��� 
������� ��� ����
���
�
��������������������	�
1�*�
��=��
1�<�������<
3�������1���1
�������11R�������
���
��11R����8
	����*� 
���
3����� 1
� 1�0��
1�		
	����� ��� 
���3��F� ��8���������
1�� �� 1
�
���
	����� ��� ���3�� 8����� ��� 1
3���S�� /��� ;�
���� �8���<��
������ ����
��
�
1R
0���
	�����������������
��<<
��*�1
������
�A����8���
��
1���������3��
�����1��� �
S������<�����F�
1�8�����8����������
�������1�0��
����������	
����
�;��11�����1�0���F�
�������1
	�������11��8����������������3�	�*�����=D�
1�<�������
������
���
�1���������
��R�<<����3
� <
��1�F� ��� ���1�
� ��11R������	��� ���� 8��8��� �������� �� ��� ���8
�
	�����
��11��8����
	������<<�������1�����
��S��+
��������F���1�3
��*� �����������8�����8��
�������
������������
881��
0�1��
1����
��
��*�8������=��1
�����
��3
��������
��
�
��8����
���������1�����
1�8�����8������1�0��
������1
	����������
�*�;�
1�����������
�=�� S8
�����8
��� ��11R������	��� ��� 8�001���� 8�����S*� ���� 1
� ���������	
� �=�� ���
���
������
����������8����00�������;����������
���1
�8��8��
�
���3��F����)�
1�
�6��
<
�� ���������	
*� ;�����*� 
�� ��� ���
��� ��
1�
��7�� ���=�� 1
� 1�0���F� ��� ���1�
� ��1�
����
�����������
����*��=����3�������������
�������
13
��
��
�
*�����=
���11
�

� �=��<
��� ���� �1�8��		�� ��11
�8�001��
�<��	����*� �1� ;�
1������8�C� �=�� �������
<���
����
11��,�
��*������������<�������������������
��8����
��� 
1� 8�����8��� �������	���
1�� ��� ��8
�	�
1��F�� &
� S1�0��
1�		
	����� ���

���3��F� ��8���������
1�S� A� ��F� ��00��� �=�� 8���
� ����
��
��� 1�� 8��<��������
����11����
1�*��
�����
����������8�C�����
��
���1
�8�001��
�<��	��������
��1�*�
1�
8
��� ��� ����� 
1��
� 8�001��
� <��	����� 6�
��00�� ����� 3�1��� 1�0��
1�		
��� ���� 1
�
�
�����
���
7�� �D� ��� 8�C� �88����*� 
� �
1�� ����1������*� 1R
<<���
	����� �� ������

���
��
�����������3���0�1�����=���1�1����1
������
	���
1��8����00��1�������
������
����
��� ��
� �����81��
� �
����������� �������
*� ���8����� 
� ;��11
� ��8���
� �
1�
���������������
��� ���1��
�������8����*���<
���*�1R
0���
	�����������������
��<<
���A�
���8���
� �
11R
���� �� ��1� ��1�� ��� ���>�

�� ����
���� ��
� ���8���	����� �=�� ���
���=�
�
� ��8����
������ S���<����S� 
�� 8�����8�� �������
��*� ��� 
���
��3
� ����
��������B�A�;��������11R
�0�������;������8�����8���������
��*��������1���*��=��1
�
���8���	�������11
� 1������
	���
1����3���8��
������C��������������*���1������*�

����
� ��81���� ������	
�������1����
��)��8����� 1����*�;��11
� �=��
����0������
3
1���� 3����1
���� 
11�� S<����1�� ������
��3�*� �
��<����� 8����
��
����� ��
���=�
�
	����� ��� ���8�*� ���� ���� �8����� ��� 
8����� �1�� 
�����1�� ��11�� 1�����
������8��
���S*� �=�� S3
����
88������1�		
��� ����������� ��11
� S�����	����� ��1�
1����1
����S� 6��� ���� 
���������
� ����� �����8���
	����� 
�������
*� �=�� 1
� 1�����
���8��� �����������
���11R
������� ����
��� ���3�����7S�<A!=��)���������� 1����*� �1�
�����1��
��� �
����� �����8���
��3�� �=�� ��8�������
11R�����8����� ���
����0�����
11��
���8���	���������
��3���������������<�������1�������������������������<��
�����3�����
�
�;��11������1�
�����
11
�1�����
����
11�����8����11��<���������
��3���������
����
��1
��3��
11
��
����
���������
�
�<A"=���

��

��

�
6��7�!�1������*�1R
��������1���1��������>�

��
<<����
�1
�;�����������11
�S1�0��
1�		
	������
��<<
��
S�
���� ����
���� 
11�� 
���3��F� 1�0���� 8��<������
1�� ��� �����
1�*� ���	
� <
�� ��<��������� 
� �8���<��=��
8��<�������*��D�����
�������1��8
�����1
���8����
1��
���� ����B� �������F� ��1������� ��
�
33������
��11R
�0���� ��11�� ���
����� ���������3�� �
� 8
���� ��11R�������F� 
�������� � �<��*� 
�� ����8��*� 1
�
������������11R�������F��
�
��������
�
��������0�������*��������*���8���
�
�������
��
��*��

�*�8��
�
����R���������
���*�8��
1���*������
�
�������*�
1�8������������
1���1���
����������*����������
�
1
� 3
1��
	����� ���������	�
1�� 
11�� S������	����� ���������
1�� 8��3����� 8��� 1R������	��� ��� ��1���
8��<��������1�0��
1�S*�8�����
�������=��������1����
	����*��=��S8����00������������������������
����
���� �� 8�����8�� �������
��� ��� 1�0���F� ��� ��
0�1������� �� 8����
	����� ��� ���3�	�*� ����1�
��*� ��� 
1����
�������� ��11R�������
*� ��
� �1�� ��8��������� 8�J� ��
3�� 
1� 1�0���� ������ ��11
� ���������	
S � 1
�

Page 28 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�������
�	
� �=�� ��������3
������ 1�� ��������� 1����
	����� ���������
1�� ��
��� ��
��� ������������
1���������8����1����
��
���6�<���1
��������3
�����

�>��*���8�
����
�
���1������7�A�������3
�
1�<�������
���1������1R
���3��F����
��1���
�;��11������������11
�3
1��
	��������������	�
1��������������

6��7�)"%)*�&R��F���11
�������<��
	����*�+�1
�������*�8����������<���
��=��)"%)*�&������8���
1��6�
1
�����������
� 
1� 8�1�������
7*� ��� &R��F� ��11
� ������<��
	����*� ����*� 8�� ���B� %�"�&&$*�
&R�����8���
	����� ��11
� 1����*�+�1
������
*�8��������B�N'�!")*�!�11R
881��
	����� ��11
� 1����� ��
�����
1�*�����*�8����������

6�Z7��<��*���
�1��
1���*�������.�����	�
��������
������

��������>��*����"�3�������������
	��8��3����
8����*��

�*�8���Z�B�������������	�
����������0����

�������Z>
���
�>
�*����-�������*��

�*�)M*����
��B�������������	�
�����Z���������


*������
*����*����*����*����>��*����-�������*��


*�)M*����
���B�������.�����	�
���������3��0������
*�����
�>��*����-�������*�����*�)M*�����Z���)���������
�
3�*� ��
� �� �
���*� "$,,)*� "
88����� <�
� ������ �������
���� �� ������ �������*� ��� !������� �����81����
8�001�������=�*�\))*�%���������Z*�8����ZB�-$),*�"
88�������
����������������������������������
���*����
����� ������ %����
��*� \\M*� "��
� ����B� "$����%%)*� $0�����3�� 
881��
	����� ���<���� �
�����
���	����������������
	�������11
�������8�����	
��������
��
���11���������3��������
�8����*���
"�3�����������8�001���������
���*�����*�8����������/���;�
�����8���<��
���������������1���������3��
����
����
�������
��
*� �<���#$".)$&)*� &
���11��F� ��11
���8�
�*�+�1
�����ZZ*�8���������*����B�!)�
+�"�$*� ������		
	����� ��11�� ����
��3�� ��� �
����
� ������
��
� ��11
� �������F� ����8�
*� ���
)�8���
� �� ������F� �� ���3�� ������=�� �������
���*� +�1
��� ����B� ,�&�-)�*� &R
���
	����� ��11��
�������3�� ���� ��� �
����
� ������
��
*� ��� &R
���
	����� ��11�� �������3�� ���� ��� �
����
� ������
��
*�
+�1
��� ����B� /�,��*� ,�����F� 6�������3�� �������
���� ��� �
����
� ��7*� ��� ��3������� ����� ���*�
�88������*�M))*�%���������Z*�8����
��,��A��3����	�
����=�� 1R�001������� �����8���
	��������<�����
3
1��8����������1�����
��� ���1��,�
������0��*��������� ���1���B��� �=�� ���
���� ��8����
��=������
�
88�������
�8��3
�� �+����""$��*�&��<�������1���������8��3
���������������������
��
*����"�3������*�
�

�*�8���Z���,��A�
��=����1�3
����=���1��
�������11@�����8���
	��������<�����8�C�����������1�		
���
8��� 1@�����8���
	�������11���������
	���
1�� �@
���
	����������
��������3
�
��=�����;����
�����A�
���K�8�����
����������	���
�
��
�������<��
����1������������������11
���
��<<��
��
�������
 �!��)�&�*�
��3��F�������
�����<<��
��
���11���������3���������
��������
���
��*����-�������*�����*�)M*�����Z���

��

�
)1� �=�� ��������� �
11
� ��3�
�����
	����� ���
��=��
� ��11�� ������ �������
����
���8����� 
� ;��11�� �������*� �� ���8���
� 1
� ��������F� ��� ��R�����8���
	�����
S
����
�����S*� ���<�����
11
� 1�����
����
1������<��
�����11
�<�������3�
�����
�
*�
����� ;�
13�1�
� 1�� ���8���	����� ��11
� 1����� �
	���
1�� ��� 8�������� 
� 8�J� ��� ��
�
�����8���
	����� <A$=�� %����� ��C� �������� 1R�����8����*� ���� ��� 8�������� ���
S����	�������1��1����
S�<A�=� ��8������
11�������������������
��3�*�
������������
1
�8���
�
� �� 1R
�0���� ���
881��
	����� ��11R
�����*� ����
��*� 1�����
7*� ��1� ��1�� ���
���>�

�� �� ������
���� �1� ��������� ��<��������� 
� ������ 1�� 
���3��F� S1�0����
8��<������
1�S������������
����������3�����1R�8��
��3��F�
11����1��<
����8�������������1�
���������������
����������1
��
13
��
���
���11
�1�0���F���������1
	������������3�	����
������������	
��
&
��8���
1��F� ��11
�8��<�����������
��1�*� ������ �1�8��<�1���
��<<
���*� A� ���8��3
�
�
8��C� 
��=�� �
11
� 8�����	
� ��� ��
� �������*� �8���<��
� ���8���	����� 1����1
��3
*�
����
��
���� 1
� �
��<<
� ���
��1�*� ��������
� ��11R
���� ��Z*� 1����� �7*� ��11
� 1�����
���
��1�*���1�����������<��
����
11R
�����
���1����1����������>�

� ������
*���<
���*��1�
���������
�����1����Z��=��SSK
�����������1
�������
�������1
����8��������<����
��
���
�����*����� �
���8�J���
3�*� ���� 1
��������	����*� ��
 ���
��
���
����
 ��
����	�

��

�����
��������
��������%
''''
�H
@

 �������

�����		��A


�

��	�
���
���
���

	���A����
 ��
 ���	
	��
 ��	����
 �
 ���������
 �33���� ���3������� ��11R�8��
� ���
8���
���
����� ��� �1�����*� ��� ���=�
��� �� ��� 8�001����F� ���� ����������� �
11�� ������
������1����=�*� �� ��� ;�
1��;��� 
1���� ��		�� ���� ���<
������ 
1� ������� ��� 
1�
8�����������11
��1
�������
��1�S��&
�����
���8����*��=�
�
��������������
�����*�
����=�
��������	������3
1����6�������*����3
1���7�����
��3�*��
�	���
�����1����
��
�=�������
�����
��*��������������8���� ����
�8����88���*��33�
�����*�1R�������	
�
��� ��
� �
��<<
� ���
��1�� 6�=�� A*� 
���
1�����*� ;��11
� 
88��3
�
� ���� ����� �Z�
��3��0��� �

�7*� �
� A� �
11R
���� 
3����� <��	
� ��� 1����� 6���� �
1� ��������
���������
1�7� �=����� �3����� ���3�
� ������
� �1�8�����8�������
��3����� �������
0�1��F�
��11
��������
��
��<<
�6���������
��
*����
1�����������*����S����
����0�
���S�<L =7��

��

�
�
6��7� ,�11R�����8���
	����� 
����
�����*� 
1� <���� ��� �������� ���<����� 1
� ����
� �����8���
�
� 
11��
������ ���
��=��
������ ��3�
�����
��*� ��� ��
����� 
1� 8�����8��� ��� ������3
	����� ���1�� 
����
����
��3�*� �<���8����������������������������0����


������
*� ���-���� ���*��

�*�)*� ����
B�������
���������������������������*� ������3������*�����*�8�����B��
������������������������Z�*� ���
.����� ���*� ����*� )*� �*� ��� �Z���� )�� �������
*� �<��� .'�,%)�)*� &R�����8���
	����� ���� ����������
����
��3�*�+�1
����

�*�8���Z�����B�%�"�&&$*�&R�����8���
	�������11
�1����*�����*�8���������*�����
���B�M)$&��(����")�*�!��������������8���
	����*�"��
�#
����

�*�8����Z����*��������B�-"$,)�)*
&
�1�����
���1���8��������11
�1����*�+�1
�������*�8���������B�,$""��%)*�&R�����8���
	��������<�����

��������	����*�+�1
����

�*�8���������

6��7�,�11
���<<����	
���
�1
����������	�������1��1����
���1R�����8���
	��������������3
*��<���+��.$�)*
&R
�������
	�����������
�
�
11�����������	�*��������������
�������
���
���������
*�+�1
�������*�
8����*����
�����

6�
7�)1�<����������11��S���������0�
���S*������	�
1��������3��������8�����
�;��11��������������1�
�����*�A���
���
�
1�		
�����8�
�����������
��������8������
������3
����1����*������;��11
�8��
1�*���
8����88���� �1� ���3��� �� �
� 8
���� ��11
� ����
� ��� 0�
���� �� 
�� ��� 8������ ��0�����
��� 
� ;��11��
1����1
��3�� 8��� 1
� ��������
	����� ��� �1������� ����
��3�� ��1�3
���� 8��� 1@����3���
	����� ��1� <
���

Page 29 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��8��� ����������8�����	
��<��*���
�1���
���*�%��0��#
����������0����

�*����-�������*��

�*�))*������B�
������ ���������������� ���
�������*� ���-���� ���*� ����*� )*� ��� �
�
*� �������
� ��� �&#�..)��)*�
"����3
����1���������������
	������������������
���3����������
���8��8�������8��8��������11R
������Z�
&�����������*�
11��
*������������ �A�����
������S����
����0�
���S�;��11
���������
���11
�1�����
�
07*���<����
�
1����
����=�� S3��1
� ���������������
����
1�� 1��������������1����=���1
0��
����
1�
������1����
	���
1����1����
��
��SB�����1������*���3���*�;��11
���������
���11
�1�����
�
7*��=�����
��<�������
1����
��� �=�� S���8�������*� ��� ;�
1��;�������*� ���� 1
�8��8��
� �������
*���11
�3��
�
8�001��
���8��3
�
*� 1
���
�������F�����8��
	������� �1� ���������8�����������11
��1
�������
��1�S*� ��
;��11
���������
���11
�1�����
��7*���11
�8
������������
�	���
��1����
����=��<
�S�11����
����������	
�

�� 
1���� ���
��*� ���� ����	����� ��� ����
��*� �������� �� ���8����S � ��� ;����R�1���
� <
����8����*� ���
8
�����1
��*� 1
��
��<<
����
��1�� S������
S� 1
�����
��
�	���
����
���1��
��<������11
���������
	�����
��1� ;�
����� ���� ���8����*� 
1� ��� ������ ���� ;�
1�� ���� A� ����������� 
��
��*� ���� ������ 8���
1R����3���
	��������1���1������������	�
1����11
�<
����8������
�	���
�
�6��������*������8���
������
3
1��
���������11�����7���

�
,������
��������=��1R
0�1�	�������11R�001��
������F���11���
��<<��8��<������
1��<�����
���������A���
�
����8���
��
11R
��������1���1��������>�

�*�����
������3�������1���
1��1����

�B��=��1
�����<��
���11R
������Z�1���*��8��
�
��
1����1������
�������

��
������*� A�8�������������8�����
��
1��
0�1�	����B� �� �=�� �1� ��� 1����������>�

�� A�
��
���8�001��
��*�����
������
11
�1�����������3����������1���1��������>�

�*���11
�
�������
� .
		���
� �<<���
1�� ��1� ������� ��� 
������ �

��� ������� ��00��*�
�����;��*��=���1����3����������11R
������Z�1����8��3
1�
����;��11����11R
��������1�
��1��������>�

�*�����C�������1���������
����;�
1�����
�����	��	*��
���8�
�������
8���1
�8��8��
��
�
�����		
	����������������������
�����
����<L�=0�
������<���������
11
�;�����������11
�8����������F���1� ��� 1����������>�

�*�������
������
88����������1��������������8���
1��F*�A�8��
1�����88��������8�������;�
1�=��
8
��1
��,������� 1R������
�������=��
88
���8��3
1����*� 1
� 1�������� ���3��������
��������
���
���3
	����� ��11
�<���������
��3
���F��
88������
�
� �
1� ��������
1��������3������*����� 1
����������	
��=�*�
�8
�������
11R����
�
� ���3��������11
�
�����
� 1����� ��� ���3�������*� ��1�� ;����R�1���
� A� �
� ��������
���� ����� <�����
����
��3
������<���������<L�=����;����
�������
*�1
�;�����������11
�8��3
1��	
�

����00��<���
1������8���
�����
����
11�����8���	����� ��1� ��� 1����������>�

��
���8�����
�;��11����11
�1�����������>�

�*�������8����00��8��0
0�1�������������
����1�
� ���� �1� ��������� ��11
�8����������F*�8����� �=�� ����
�0�� 1��<���������
��3��
����� ��
��� 8�001��
��� ��������
1�����*� �� 
���������
� 1
� 1����� ��� ���>�

�� A�
��
�
�8����1�
�
���������3
�����*�8���������������
�
����3������
�������������
<LA=��������
3�
�����8�C���
����
���*��������1�8��<�1���������*��=��1�����8���	��������
�
����
� �
��<<
��
� ����� ��
��� ����
��� ���� 8��33��������� 
��������� 6�1� ��1�� ���
���>�

�7��&
��������
�	
�
������8��
1������1��3��������3��
��<������1���1��3���
�

�����
����
1�8��<�1����11
��8���
1��F���11
�����
��3
����
��1�� 6���8�����
�;��11
�
�����
�
�
11��8��<������������11����
1�����������7 ���1��������=������
��������
�	
�
�����������
���������88���
0�1��1R
���������1�T��8���
1��������
��1���������
1�*�
�1�;�
1��
3��00��<�����8����������������������

��

�
�
6��7� )� �������� ��� �8���
1��F� �� ��� 8����������F� ����*� ����
������ 
� ;��11�� ��� ���
��=�
*� �� ��������
����1������ ��11�� 
��������� 1����1
��3� � �<��� 8��� ������ .'�,%)�)*� %����
� �� ����
���
� ��11�� <����*�
+�1
��� ����*� 8�� ���� ���B� %�"�&&$*� &R�����8���
	����� ��11
� 1����*� +�1
��� ���
*� 8�� ���� ���B�
M)$&��(����")�*�!��������������8���
	����*�����*�8����ZB�V�&,��*�!���������1����
*����&R
�
1������1�
�
����
���������������*�))*�
����
�������
���������.�
�����*�%����������*�8��Z�����B�.�M�(()*�
!�11��
��������*�%����������*�8���������,�11
���
1�����
���
��������8���
1���������������
1�*��<���
��� 8
�����1
��� )"%)*� &�� 1����� �8���
1�� <�
� �����
� �� �����
*� ��� &R��F� ��11
� ������<��
	����*� +�1
���
����*�8��������*�Z�����B�)"%)*�&������8���
1�� 6�
1������������
�
1�8�1��������
7*� ���&R��F���11
�
������<��
	����*�����*�8���������B�+$!'.�$*������������1
��*��8���
1�*�����	���
1�*� ������������*�
\\M)))*�+�1
�����Z�*�8���
���

6��7��<�����1�8�����.'�,%)�)*�%����
�������
���
���11��<����*�����*�8�����B�/�&�!)�*�&��<�������1�
����������
1�
��*�#�1���
�����*�8�����B�������,�
����
�1��1��������������*����-�������*�"�8������*�
3����&����*��������/�����
�3
1��
	�����8�J����81���
*�/)%"'((�&&�*� &
� 1�����������3��������
��1��������� 1����*�/
��3
�����*�8����������)��������
��*��������� �1�8�J���������������
������
��11
�������8�����	
*�
��=�� ��8�� 1
� ���3�������� ��� 1��������
��������1�3
0�1�� ��3�	��8��8��� ��1�
�������� 1����*� ���� 8
�����1
�� ��<��������� 
11R�3����
1�� ��<����� ���� 8����88����� ��� ��������F� ��
�����	
 �+$!'.�$*� �88����� �
11�� 1�	�������11��<����� ��1� �������*�%�������

�*�8����B� �
������

8��1���

�����Z���*����-�������*�"�8���

�*�3�����1�	����*�����
��

6��7� /
���� ��11
� �������
� �������� �=�� 3�� A� ��������
�	
*� ������ �1� 8��<�1�� �����1�����*� ��� ����
8��33�������������
��3�� �=����
���8�001��
�����11
��������
�.
		���
�'<<���
1�*�
�8�����������
�
1�����������11
����8����3
� ��
�
	�������8����1�
	����*�����11
���1
��3
� ����
�
� ���3����� �
%�"�&&$*� &R�����8���
	����� ��11
� 1����*� ����*� 8�� ����� �����1������ ;����
� ��������	����*�
1R
�������
����������������8����00�������������1�
�
���		����1���������������1�������
�1����<
�8���������1�3
���11
��
�
����8����1�
	���������
�
	�����6�������
�������3
�
��<������11
�
S8��<�	����S���11R
��������
��3�*���;������8���1
�����1�	�������11R
�������
�����3
�����
�����1�����
�����
��
���7 �/)(($"',,$*�+�����1���
���11�����������1�������
���11��<����*����&��<���������������
%�
��
����������������3�1�*����������
�"��,
���*�%����������*�8����*�8����*���8�����B��)��$��%%)*�
/����1�
	�������8�001��
	�������11��1����*�������������*�\\\M))*�+�1
�������*�8�����B�������,�
���
���
8��1���

���������*� ���-���� ���*�"�8���

�*�3����&����*��������$3�����
����1������;������
������
�����*���3��00������1���������1��������=��1
�1�������
�������

���������A�1�T�8���������
���8�����
1����1������
�������

��������*����;�
�������
�A���
�
�8����1�
�
���������3
�������
�1����
��3
�����*����8����00�� �3����	�
��� �=�� 1
� 1�����������>�

�� A� ����
�
� ���3������ �1� ���

�������

�*���������1����1����������>�

��A�����
������3�������1����
�������

�B���;�������=�*�
�
8������������
11
��
�
���11
�1����8��<�	����*��1����1����������>�

��A�1�T�8���������;�
����
11
���
�
����
�
����3�������
/��
1���*� ����� ���1��� �11����
��� ��1� �����*� 1
� ;��������� ����
��
� ��8�
������� 1R�����8���
	�����

Page 30 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��11
�1���	�����S1�����8���������S���1������������11R
���������11��8��1����*���
�������;������
1��
���
<���
1�� ��1� 8��<�	���
������ ��1� 8������������ ��� <���
	����� ���1�� 
���� ����
��3�*� �=�� ����

��������3����8
�����1
�����1�3
�	
���1��
88���������
��8���
1������
������
1���

��

�
��00��*��������3��<�������
�
�1
�����<��
���11R
������Z�1����<LL=��)��
1����������� �
�1�<
�����=���1�1����1
����*���8��
3����
��<���
��������1���1�����>�

��1
�3�1���F����

0���
��� ����������
��<<
���8��� 1��8��<�������� ����11����
1�*�
00�
� ������������3��
8��33��������� ��0
����*� ���� ����
���� �8���<���� 
�� ���
�*� �=�� �1�� ������� �����
�����81��
��������
�	���
0�1������8��
�������	������������
��*��������������8����*�
�������
� ���;��3��
0�1������ ����� ��
� 8��3
1�
*� ��11R�����
� ��1� ���������
1����1
����*� 1
� ��������
	�������11
�
���1��
��8���
1��F� ��11
�<��	��������
��1�� ��
��11
���1
��3
��
��<<
�6�
�
�����		
�
��
���
��
����8���1�
������8�����
�;��11
���11
�
����
������
1�7��
/���1�
���F� �=�*� 
�;������8����*�����8�C� �=�� ��������
��� 1
�����1�	����� ��11
�
68������
7� 
�������
� ��1� ������ ��11
� 8��3
1��	
� ��11
� ����
� �8���
1�� <L>=*�

��=��8���=D���11
���
1�����
�����
��8���
1������
������
1���������0�
�
3���
8
�����1
�����1��3���1�8��01��
�S<���
1�S��������
����1
����
���
���11R
0���
	�����
��11
� 1����*� �� 1
� �������
� ;��������� ��11R�����8���
	����� ��1� �������� S1�����
8���������S���1������������11R
���������11��8��1������
,��0�
*� ��<
���*��=�� 1R
�
1���� ���3�1�88
�
��
��������
���������8�����	
�������
��1�
����������������������� 1
�3
1��
	��������
���������F���8����������F���
�����
����
����
��3�� 6
1����
��3
������ �
33��
��� ��11
� ���8����3
� ��
�
	����*�
8����1�
	����� �� 8�001��
	����7� ��1�3�� ��8�
������� ��11R�����
� �����8���
��3
� ��1�
���������
�������8��1����*��=�����3�
��3������������
������
���S<���
1�S*�;��11��
��1� 8��<�	���
������ ��1� 8������������ ��� <���
	����� ��11
� 1������ ��1� �
��� ���
��
���1
�;������������8���*���3���*��������������<��
��3
��������3����*�8���=D*�

���
��
�����*� �1� 8�����8��� ���
 �����
���
 ��	��
�
 ����
 ����	
��
 �8��
� 
��=��
1
���3�� 1
� 1����� �8���
1�� ��
� 
��������� 
11
� 1����� �����
1��� )1� 8��<�1�� ��11
�
S8����������FS*�
11��
*�
���������;�����������������
���3���
�3
1��	
 ������
��
*�
���
�	������*����3���<��
������1
�3
1��
	������<<����
�
��
�8
������1�1����1
������=��
=
�8�����1
�����
������
1����
����������������3
����8�����
11
�3
1��
	���������=��
=
� 8����� ��� ������� 1
� ����
� �8���
1�� 6�� ��11
� <
����8����� ��� ��
��� �
1��
3
1��
	����� A� �3������������ ���������0�1�� 
1� �������� ��11R��
�
	����� ��1�
��������1����*�
1�;�
1��1
�1�����������3��������=
�
88���
�������<��=���
����
1��
8�����C��=������������1�8��<�1���
��<<
���7��+
���8�
������*������
��
����3
1��
������
��
� ���<����
0�1����R
0���
	����� ��11
� 1������8���
1��
��������*�
���8��
���11
�
1����������
1� � 1
����
���
�����8������������ 1����1
��3�� ��� ��
��*� �������8�
�
�11����
�
*����1���������
��������
��
1���3����
1��F*�8���=D�1
������81��
��8���
1��
8������������6��������
*����8
�����1
��*����1��
�����Z������Z���11
�1��������
��1�7�
A���
�
�

�
6��7�)��1���
������
1�*�S���3���J���1��������������8���
1��F*�����������������=����
���11������������
���<1����������
���3
1��
���
0���
�
*��
��=����
�������������8�����
������1
�����
�8�J������
1��
�� ��
� ���81��������� �����
�
� 
�� �8��
� ��11R
1��
�� &
� ����
� 6��1
��3
�����7� 8�J� �8���<��
� <
�
����	�����
�;��11
�6��1
��3
�����7�8�J������
1�B�����
�0�������3
1������3������*��
�1
�����
�
�����
1�� ���� ���3
� 
881��
	����� 6A� �����
�
7� 1F� ��3�� A� 
881��
0�1�� ;��11
�
8
�����1
��S� 6.'�,%)�)*� %����
� �� ����
���
� ��11�� <����*� ����*� 8�� ������Z7B� 1R
����	
� ��� ���
8��01��
� ��� 
0���
	����*� ;�����*� ���� ������ ��� ������ ������
������ �1� ��������� �����1������ ��1�
�
88����� ����
� �����
1������
� �8���
1��� )� 8��01���� �
������ ��1� �
��� ��� ����
� �����
1��
8�������������8�����
11
� 1������8���
1� � ����
1�� �3�����	
*� �1� ��������� 1�T������
1������� �����
��
8������ �8���
1�� A� ��
��� ������ ��� �����������*� ;�
�������� ��11
� ��
� 
88
������ 
���1���		
*�
<
����������1�3
����
���� 1
��� 1
�8���
�
�
88
����������� �������	���
�
���1� ��������������1������
����
����
11R
���������11��8��1����B��
11R
1����1
��*���8�
������*�1
���������F����3���<��
������3�1�
����
3�1�
� �� 1������ ��1�8�����8��� ����8���
1��F�
11
�������
���11R�����	����� ��1� 1����1
����� 6��������3�7 �
.'�,%)�)*� %����
� �� ����
���
� ��11�� <����*� ����*� 8�� ��
B� "�,�).�$� .�'�*� &R
���� ����
��3�*�
#�1���
�����*�8���
�B�N'�!")*�!�11R
881��
	����� ��11
� 1����� ��������
1�*� ����*� 8����Z����� &
�
������8�����	
*� �
�8
������
*�=
� �=�
����� �=�� S�1�8�����8��� 1�T�8��������������
1������� �����
��
8�������8���
1�*��=�����������<��
�8���1
����1�����
�����	
���11
�����
��8���
1��
11���
�
���������=��
8��8������11
�<
����8���������������11
���
�8��3������*�����8�C�3
1���*�����3��;�������������
11
�
����1
� ��11@
881��
	����� ��11
� 1����� ��������3
*� 
11��;�
���� �
11
� 1�����
� �� �
1� ���������� ���
;����@�1���
�1���������3�����1
�3�1���F����
0���
���1
�1������8���
1��
��������*��33����
11���=D�1
�
�������
�	
� ��
� 1�� ���� ���8���	����� ��
� �
1�� �
� �������� �������8�0�1�� 1
� ���������	
� <�
� 1
�
����
��3
��8���
1��
�����������;��11
������
1����������3
S �������,�
����������
�������������
*�
���-�������*�"�8������*�3����&����*������B��
�����
�
8��1�������������
*����-�������*�"�8������*�
3����&����*��������%�����;������8��01���������
��������1��
��������
��*���1�;�
1��1R��
�
	����*�
��������3
������
11R����
�
����3��������1���1��������>�

�*���1���� 1����������>�

���3����	�
�1
�
�=�
�
� 3�1���F� ��1� 1����1
����� ��� <
�� 8��3
1���� 1
� �����81��
� �8���
1�� ��1
��3
� 
�� ���
� � ��� 
1����
�������*���C��=������1�
�������3�*���1��
��������
��*�A�1
�8����������F���1����1����������>�

������
�
����
11
�1�����������3��������������>�

�*�;�
����8���������
1���1��������>�

�*�����C����;�
����
����3������� ��� ��������
	����� 1�� �
������ 1��
���
1� ���8����� ��11R
������� ��11�� 8��1����*� �
� ���
��
��
� ��3���� ��� �3����	�
��� 1R���;��3��
0�1�� 3�1���F� ��1� 1����1
����� ��� <
�� 8��3
1���� 1
� 1�����
�8���
1��� ,�����;������ 8��<�1�*�
������
��=����1�3
�	
� 1
� ������8��
����F� ������8����������F�
��11
�1�����������>�

�����8�����
1����1����������>�

���

6��7� "�1�3
� �����
������ "�,�).�$� .�'�*� &R
���� ����
��3�*� ����*� 8�� �
Z*� �=�� S;�
���� 1
�
���8���	����������
������������1����8��1
����8���	����������
�
�����1
������	�������1�1����1
�����

88
��� �=�
�
� 6;��11
� ��� ���
��� ��
� ����	����� 
1� �
��� 8�J� �����
1�7� �� ���;��� ��� 
881��
���

�0�����1�����8���	����*�;��11
������
����
11
�<
����8���������	���
1�*���;��11
������
�
�

�������1��<
����8������
����
�8��3������
13���1��
�������	���
1�S��

Page 31 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�
S�
<<��	
�
S� ���� 
���� ����
��3�� ��
�
�����������3
������
1� ��1�� ��� ���>�

��
61
���3�*����1R�����	�������1�1����1
�����<�������
�
���3���
*��1����3��
������Z����

3��00��8�J���3�������	���
���1
��
��<<
����
��1�7��
$1��������*� �8��
��� ��3���
������ �����<��=���00�� <������� ��
� 1�����
�
����
�	�
1������
0���
������1����3��
������Z*�1������7*� 1���*� ���8
1���������
����
�����1�8�����8������������3
	��������1��
��������
��3��<L!=0�
!
� ��1�3
��*� 8��� ����1������ ��1� 8����*� �=�� �� ��<��������� 
11R�����	����� ��1�
1����1
�����������
� ����������� �� �������������������
��������
���������8�����	


���1��
������ 8��3
1����� �� ���� 
11
� 3�1���F� ��1� ����� 1����1
����� ��������
6
��������� ����� 8����1�����*� 
1� ;�
1�� ���� 3����� ������������� 
1���� ��1��3��
������������ <L"=7*� ;�
���� 8��������� 
11R�0�����3
� 	
���
 �����*� �� ;������ 
11
�
��1
	����� ������
���
� ��
� 1�� ������ ��11R�����
����� � ���� �1� ����11
���� �=��
����1�
���
���1��
������ ����1�3
���*� 
�� <���� �����8���
��3�� ����������*� 1�� ���������
�����	�����S8�1����=�S������1�����=��=
�����
����
1���������
����1�����8���	��������
��
��*� ��� ;�
���� ���� ��� ��
��� ��
������ ��� ��
� �
���� �0�����3
� ����� ��8�
�
8�����
���<L$=��
/����*�;�����*��=��������������������
����
1����
��
�����1
��
������81����
�
��
11R
����
����1���1��������>�

�*�1
�����1�������6����3
�
*��������8�
*�
��=�������1
	�����

��8�����8��8��8�����11
�8�001��
�<��	��������
1����8�������11R
������Z*�1������7*���11
�
1��������
��1�7�����8�C��=�����������1�����������;��
�����
�����B���11
������81��
��3��
��������
� 
11
� �
��<<
� ���
��1�*� ��11
� �����
� ��� ���� ;����R�1���
� �������
� 1
�
8����
	����� 6<��	���
1�7� ��1� ���
��� 8�001���� �<<���
1�*� ����=D� 1�� 8����
	�����
8��<������
1��������
���������������
11
�8�001��
�<��	������

��



?'
,;
	�'
6=
����

�
	�@@

���
	���'�
��

$������*�
�;������8����*�3���<��
������ 1�� ����1���������8�
��
�������� ����������

11R�������
0�1��F� ��11
� �
��<<
� ���
��1�� ��
��� �������0�1�� 
11
� �
����
� ����1
�

�
11R
���� �
� ��1� ����� �Z� ��3��0��� �

�*� �=�� �����81��
� �1� ���8����� 8��� �1�
���8������� ��� ��������
��� S8����
	����� 8��<������
1�S*� �<<����
��� S�1���� 1
�
����
1�����
�������������
S ��1��
<<����������1
�8��3���������1���������3��
������*�
����
��*����������
������
�����������3���
���1R����������1����8������T�
�����
�
��11�� E�	���
A����
 �	�@������
��
 ��	���
�����
 ��������
 ���
 �;���	��A��
 ����


@��A����
�������
E'�
��8��������*�;����
*��=����������
����1������11
	������������
1����������8�����	�
1��
���1��
�������������������<��
���
��
������
����8����
	�����0�������3���
�
 ������
��
�
���8����
	�����8��<������
1�*�����������
����;��������11
�<��	�������������<��
	�������
��11R
���3��F����S
����
�������001��
�����S�8��8������1����
���8�001�����<<���
1��61
�
;�
1�� �1���
� A*� ��3���� �������
�
� ���� ����
�� � ����
���� �R
���*� ��� ��8�
�

�������
*������8�
��������3
*�����B�������

�
6��7�,�1�8�����8������������3
	��������1��
��������
��3�*��<������8
�����1
���������,�
�������
�	��
�

�� ��� �>
�*� ��� -���� ���*� "�8�� �

�*� 3���� &����*� ��� �
B� .'�,%)�)*� &R�����8���
	����� ����
���������� ����
��3�*� +�1
��� �

�*� 8�� �Z�� ���� ,�11R�11���������F� ��11
� ����� �����8���
	�����

0���
���*� �<��� 8��� ������ %�"�&&$*� &R�����8���
	����� ��11
� 1����*� ����*� 8�� ��� ���B� N'�!")*�
!�11R
881��
	�������11
�1�������������
1�*�����*�8�������

6�Z7��<��*�8��������*�,���$*� &��<������������������� 1R�����8���
	����*� ���%�
��
������ ����������3�1�*�
���������
�"��,
���*�%����������*�8���������B�%�"�&&$*�&R�����8���
	�������11
�1����*�����*�8������
���B� M)$&��(����")�*� !������� �� �����8���
	����*� ����*� 8�� ��
� ���*����*� ���� ���*� ���*� ���� ���B
��"�)$��&�\O�/��(��)V*�)�<���
��������1��
����
���������������*����&R
�
1������1��
����
������
���������*�)*�
����
�������
���������.�
�����*�����*�8���Z������

6��7���8��8��������������	�������1�1����1
����*�����8�C�
����0������
1������1��3��
11
��������
�	
��=��
1
� ����<��
� ��11R
���� ��Z� 1���� ��
� ��
�
� 
���
�
� ���� �������� 1����1
��3�*� �� ;������ �
� 8
���� ��1�
.�3�������11R������	���������8�������=����
���
�����1��
����
1�/
�1
������������
�1������� 1
����
���>�

�� �� 
���������
11
� 1�������� ���>�

��� !
� ��� 1
��*� ��<
���*� �1� �������� 1����1
��3�� A� 
����

3����� S<��	
� ��� 1����S*� ������������ ���D� <����� 8���
��
� 
1� 8
��� ��11
� 1����*� ���	
� �=�� 8���
�
�8���		
���� 
1���
� ��0�����
	����� ���
��=��
� ��11�� ������� ���8����� 
� 1����� ��3����� �
� ;��11
� ���
��1��
	������!R
1����1
��*�1R
����Z���11
�1�����������>�

��=
����<��������
���1��
�������
������

�8�
*� ����
��
���� S�1� ��
������� �� 1
� ����<��
	����� ��11�� ���8���	����� 3������� ��� �
����
� ���
�����
��������1����
��
��������1��
��=�3�����
��1�S*��3�����8�����S
������
�����*��������
��������
�����������11���
�	����S �
�8
����1
��������
�	
��=��1
�����<��
���11R
������Z�������
�����
���������
�
1�� 
�0���*� �������� �
�����
��� �=�*� �������� 1
� ������8�����	
� �������	���
1�*� 1
� ��1��
� ���
S��������S����8������
��=��1
�<
��1�F������
�
���������
0���
��3���������
��3��������8���	�����
��� 1����� 6�<��� +����#)��)*� &
� 1����� ��1��
�
*� +�1
��� �

�*� 8�� ��� ���7�� !R
1��
� 8
���*� ����
8����00����
��=���8���		
������
���3��
�8
�	�
1�������81����
���11
���1��
*�8���;�
��������������1�
8��<�1�� ��� ��
��*� 
�� �8��
� ��11
� 1����� ��� ���>�

� � ��C� ��
� 8���=D� 1
� ��1��
� �������
� =

���
���
��� 1R�������3����� �������
�������
� 1
� 1����1
	�����3������� ����
����
� ������
��
��*� S���	
�
������������1��1�����8�����������
�;��11����������3�����8�����
1�����������11
���1��
S�6/�&�!)�*�
&��<�������1�����������
1�
��*�����*�8���
���
�7*���
� �����������
	�������11
��������
�	
���8�J�3�1��
������
�
����=���
11R��
�����11R
��������1���1��������>�

���������1R
����	�����
�8��<�1����;�
1��1
�
���������	
� �� 1
� 1�0��
� �����1
	����� ���� ���3�	�� ��� 
�0���� �������
���� �� �=����������
��
��� �1�
���
��
��*� �1��=��<
�<���
�
����������������=�� 1�����������������1����*��� 1
���������3
�1�������
���>�

�*��������
881��
��*�;�
��������8�����8��<�1�������
��*�
�����
���

�

Page 32 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��	����*� 
3����� �����	�
1������ <��	����� ��� ���0����� �8���7�� !�3�� ��
��
���*�
8��
1���*����
���3��F�8��<������
1�� S��������S� ��������
�8�001��
�<��	����*� �������

��
�1�
�1
���<���	��������S
����
�����
@
����
����S �������
���3��F*�8�����������
�
<
�� �����������
11R
�����1�� �<<����� ���� 1���������A�8�������
���<L�=*�������3����
������� ���8����� �������
0�1�����*� �� 8����00���� ;������ ���� ������� 8����� ��
���������11
��������
�<
����8������
1����
��*����8�����	
������
����8���
�
���8��
�
��11�� 8
����� ,�� ��
��
*� ��� 8
�����1
��*� ��11R
������B
 ��
 ��������A

 �	�@������
��
 )
���������
 �

��	

���
����
����

������B
�����
�
	��� 61
�;�
1���1���
���8��3���
�
�
11R
�����Z�1����������������
0�1����A��������
�
�����1R����
�����R
���*��������
�1��

����� �� �� ��������� ��11
� �
��<<
7� �� ��
 �
��	�

 ����������
�
 �	�
������
�
 �	����
	�
�

���'F
 �
 ����;
������B
 ��
 ���
����
 �
 	���	�

 ���
 ��������
 	�����	�� 6���� 8
�����1
��
����
����
11�� �����3������ �8����
������ �
�
��
1��<> =7�� &R
�����
*�����
��*���11
�
�
��<<
����
��1��8��3�������1�������
���������
881��
	�������1���1
��3�����8�����
6�1����81�� ���1������
���8��3����� �
�1��
������*��*��*�Z*��*��*���7*� �3�����������
������<��
��� ��� �
������ ��1� ��11��
������ ��11
� 8����
	����� ���� 1
� 8�001��
�
<��	������
&
� ��<<���1�F� ��� S��
��
���		
	����S*� ����
���� 
� 8����
	����� 8��<������
1��
���81����*��
�
��8�
��������

��������B
��
����	
������

�
@���
���
	��
����
���������
��
��

��	��

��
 @
���	�
 

 	����
�A

 E���
��E� 6������ ��11
� 8����
	����� 8��<������
1�*� ��<<�������
8�
�����������������������
�1�����
1��F���������	�������11
�8����
	����*���<<�������
������� ��� 3��
7� =
���� �������� �1� 1����1
����� 
� �����3
��� 1
� ��������
	����� ��1
���8������T�
�����
���11
��
��<<
����
��1��
�� ������1�����
��1�� ���������
1�*� �����
�
1����
�;���������3
1���		
	�������11��
������������������
1�*��=�������3�1
����������1�
�������� ��� ���� 3������� ��3
1��
��*� ��
� 
� 1�3�11�� �
	���
1�� �=�� ����8��*� 1��

������������������
1�� ��� �1�8�����8�������������
����F� �� ������8���������
���
1��F��
&R
�����
*�
1�����
��*�8��3������<
�����=����
�����������1������
��1�����������
1�
S8���F���������
��� �������� ����
����
S�8��� 1R
881��
	�������1� ���8�������������
/��3������*� ;����R�1���
*� ��	@���
�����
 ����
������
 
����
 ���
 ��
 ��	����

�������
	��*����;�
����8����88����1
�8����������
	�������1���������1����8�����

���8��
������������������������
1�*�������������1���������
	�����1��
1�*�����1�
����
���K��������
�
��
1���
���1
����������	
�
�1�3�11���������
����<>�=��
)1�������� 1�����
1�� ���;����R�1���
� ���8���	����� �������
� ��00�� ����������
1�����
�<<����3��
�����<��
���� ���
������<��
� S�	���	�
��
�
����
S:�)1� ������1������
��1�� ���������
1��
8�C���������
��������������������������1
�����*�����3��������
��
������<���
�1�����
�����
� S�����
S*� ��1�����11�� ��11�� 
1����3���� ��� ���8�����8��3����� �
11
��
��<<
�
���
��1�:�)1� ������1������������
1��A��001��
���
�8��3������ ����������� �������*������
��
��
� ��� ��
� ��
� ���
� <
��1�F:� )� S�������� ��� �
����
S� ���K� ��������
��� �
1�
������1������
��1��������������
0�1�:��*�
��������=��1����
��*��
1���������
0�1��F
3
1����1�������
88�������������
11
��
������
����
��1��6;������
��<����������1��������
�����81��
��7*��33����
��=�������
88�������
����
����� �1�����:�M��A��8
	���8������
S
������S���
�

�
6��7��
�����������
����

��������*����M��
�����*��

�*�8�����*�������.��������3�*��

�*�)*�8�����*
��������������11R
�0������11��8����
	�����������
1����
�����;��11���������
���
����������11R
�����
�
������
�;��11��8��3������
11R
������*�����
��*���11
��������
��
��<<
*�;�
1�<��
����;�������1�����
�����;��11��S
���3��F��=�*�8������3
�������
��������11
�������
���11@
���*����������������
����
��

������
�����1���<<������
�8�������������<�����1������������3����S���<���
��=�*���1�8����*�#$�"$*�
&
�1��������
��1���������
�
*�))*�����*�8����Z�����

6�
7�,�11
��8���
�	
��������8������T�
�����
������8���1��3�������8����
�������
�
��
1�*��<����
�������
1��1��� �

�� ��� �����*� ��� M��
� ����*� �

�*� 8�� �Z��B� �
���� �� ��3��0��� �

�� ��� �����*� ���
-��������	��*��

�*�8����B��
�����
�����0����

��������Z���

6��7� �88�� +�1
��� ��� ��3��0��� �

�*� ��� "�3�� ����*� �

�*� 8�� �

�*� ���� ���
� ��� ��,'*� ��� ���
-��������	��*��

�*�8������)���
����
� ����
��<<
����
��1�*� ��1� �����*� ����1�3
���� ����������8�001����
��������� 
11R������	��� ��11
� 8�001��
� <��	����� ��1� ���
��� ������<��
��� 1
� S���
881��
	����S� ��11�
�������������
����������
�������������	
�6����1���������11R
33��
��������
1��&D���*�8������
���
��11
� �
��
� �������� 6������	
���11
� ������ ��� .�����	�
� ��� ��� �
�
����<�00�
����

�*� �
��
���
�>��7*�8
�
��
<����*�����11R
33��
��������
1��Q
��0�*�8������
�����11
��
��
��10
�I���������	
�
��11
� ������ ��� .�����	�
� ��� ��� ������0��� ����*� �
��
� ���Z>���� 8
�
��
<�� ���7�� ���� ��� 8����
��
��=�����8��01��
����������	�������11
�1�0���F����8����
	������������3�	�����
�0�����������
���*�
�T�
���������1�%�
��
�����*����;�
�����
1��������	�����������<����
������;�
13�1�
��1������
����������
<���
��� ��1� �
��<<
���� ��8��������� 
�� 8��<����������� ��
0�1���� ��� ���� ,�
��� ���0��� ��3����� �
11
�
"�8�001��
� ��
1�
�
� ��� <������� ����
1��,�
������3�	�� 1��
1�� 
�8��		�� ��<�������
��
1�� ������*� 
��=��

3�������1
�8����0�1��F�6�<���1������1���������11R�33��
���.����
1����11
����������.�����	�
���*�+��
/��
����+
����*�8������
��� �1��������
����

�*���11
��
��
�����>
�̂ ���
�>
�7 �8��������
�*� �1�
8�����8��� ��11R
���� ��� A� ��8����
������ �����
��*� ��� ��� ���
��� ��� ��� 
1���� ,�
��� ���0��
��11R'����������8����00�������;���8����
�����8��8������3�	�����)�
1�
�6�<��*���
�1R
1���*�1
��������3
�
�

�>��>�����1�/
�1
����������8�������1�������1�����1�Z�������0����

�*� ���.�'���������&����
��1� �
� ������0��� �

�7�� �� ;�
���� ��8�
� ��� 8�C� 
���������� 1
� ��1�3
�������
� 
��������
�
��<���
��3
������
88�������
� �1����
������ ��8��8����1�����*��� 1R������
���<<���1�F��
�8
�������;������
�1��������3
1��
���1
�;�
1��F���11
�8����
	�����<�����
��
1�������������
��*���������������1�����=���
����������=��1R�3����
1���1����
	�����������������
��<<
�����
�1�����
����������0�1��8������
������
��11
�;�
1��F���11
�8����
	������

�
���
������1������
��<������11
���������
	�������1����8������T�
�����
:��R�1�������
�
��
���������
	���������
1�� S������������
����
S��
�8
������1�������1����
	���
1��
��1����
��
��:��
,��0�
��88������*����8�����1����*�����0�
����1��
�8���
�;����R�1�������00����
&����������A�
���
 ���������
 �
A���
��
���
 ���
	�
��
 ��
 �
��	�

 �
	�@@
	�

����


Page 33 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



����
 ������
 �
��
���
�����
 �	������
 �
��

 ����� � ��� 8
�����1
��*� 1R
�����1�� ������
��11
� 1��������
�	����Z�*������*� ���8���� �=�� 1
��
��<<
� ���1������
��*� �������� ��
���8������8���
����
�����
�*��������������8����1����0�������11���8���*�S�������
0�1����
���� ��1�0��
	����� ��1� ������1����
	���
1�� ��1����
��
��*�
88��3
�
� ���� ��������
��1�+���������8���1
���
	�
���������	�
S��)1�������1����
	���
1��8�C*�;�����*���1�
����
�1
0��
���1
�8��8���
�����
��<<
*��=��3�����8���
88��3
�
����������������������
1��
6
3����� �
���
� ��� ����1
������ <>�=7�� )�� ��<����*� 8��
1���*� ��� ���8���	����� ���
1����*�����11
��������
��
��<<
*��=��
����0����
���
1�������1����
	���
1���1��������

����0�	����*���S������������
����
S�8���1R
881��
	�������11R
�����
���11
��
��<<
�����
8��������=�����������������
����
��������1�����������
1����3����
1�������8���
	�����
S
�������=�S���11
��
��<<
��
�8
������1����������������1����
	���
1�*�����
�����
������
������11���������8����	��������	���
1��6
�����*�1�����
7*���11
�1�������
������
����*� ��� �ZZ7*� �� �����;��� 
�����3�1�� ��� ��������
	����� ��11R���
��� �
� ����
8��3������*� ���� =
���� 8��
1���� 3
1���� 3����1
����� &R�3����
1�� ��1�0��
� ��1�
������1����
	���
1�� ��1����
��
����=��
3�����8����������� 1
���������
	���������
��������� �������� �
��00�� ;������ 
<<���
� �
� 3�	��� ��� �11���������F*� 8��� �
���	
� ���
8�������
N�
���� 
11
� �������
� ��������
	����� ���� S�������� ��� �
����
S*� ���� 
3����� 1
�
�
��<<
���
0�1����
1���
�1����
	����*��1���������8����������������
0�1�����
1�������1���
���
��1�� ���������
1�� ����3
���*� 8����0�1�� ���
1��F �8�C�8��3������*� ����
�����*
1R
881��
	��������������8�������������
�S�����
S�6��1�	����*�;����
*�����
������

��8��
0�1�� 
1� <���� ��� �3��
��� �������		�� 
881��
��3�� �� �
�
������ 1R���<�����F�
��11R
881��
	�������11
��
��<<
�8���8����
	�����
�
1��=�7*��
�8�C�
��=��
����
����
��� ��������� �
����������� �1
�����*� 1
���3�� ��������� �88������� ��� ��1
	����� 
�
��������
��� 8����
	����� 6�
13
*� �33�
�����*� 1
� ��������F� ��� ��
� ������
�
����3
	����� ��1� ��1
��3�� 
���� 
��������
��3�� 
����
��� �
1� ��������� ������1���
���������
1�7��,�
����1R���1�		����1���������S8���FS*�������������11R
�����
*�����
�
�*� ���� A� ��
��=�� �
� ���1������� �=�� �1� ������1��� ���
��1�� ������
� ��� ����
��������
��� ����������� S�������� ����
����
S*����������
� ���������1�8���� � ����
1�
�
��*���

����A

��
��

����	���
A����
�������
	�
��
�
����
�
��
���	�������
�


��
�����

����
����
�
���
A����
��	�

�

����������B
��
�
��
���	A�
�
��
��������
��

�������
 ���	B
 ����	�
 ����	���
��
 ���
 �
��
 ����	���
 E��
 	��
A����
 
��;���	


�����
E� 6
�����
*� ����
��*�����7*���������;������ ������ ��11R��8���
�	
��� ��11

���81�����F� ��11
� 8����
	����*� �� ��1� 8�����8��� �������	���
1�� �=�� ��8���� ���

������
���
1�8��<���������
*������
�������
1����1
3��
����*�1
������
������0�	�����
<>A=����������
33��
*�;�����*���
��=�����;�������
������3���������
��3�*��
1���
�
�����������1R
881��
	�������11
������81��
��T�
�������������*��
�8������������8��<�1��
��� S������	���
1��F� ������
S� ��11
� ��������
	����� ��1� ���8����*� ���� ��3�F� <
�
��<�����������
� �1� ������1������
��1�*� �3����
1���������=������ �������������1�
��3
�
6�T�
������*�����
��*�����*�1���7*���
��1�������������
������������3����
��

��1� �
��*� ��3���*� ��� ���� �1� ������1��� ���������
1�� 
00�
� 8��33������ 
11
�
��������
	���������������������
����
*�;�������1�������3���������������������
0�1�*�
��11
�0
�����11�������������3
	����� �=��<���
��� 1
������
1�� �������
0�1��F���11

�
��<<
� ���
��1�� 6������� �����*� 
1����K*� ��1� ��11��
������ ��11�� 8����
	�����
�������
��� �T� 
���� �
� ���� 1
� 8�001��
� <��	����7�� %
1�� �������
0�1��F� ��3��
�����������
����
���������1
	�����
�������������������
���
������
1�*�������<���0�1��
;���������1���3
������
11
��
������
����
��1�*��
33��
0�1����11R������	
�������������
<��	���
������ ��11R������	����� ���
��1�� �� ��11
� 8�001��
� <��	����� �������
�
� �
��
���
���
%
1���*����3����F*�=
���0��
�����11R�������
0�1��F����������������������������
����
1
���8����� �T� 
���� �
� ����*� 
11
� 1���� ��11R��8��������� S�������� ��� �
����
S*� �=��
1�����
1������ ���� ���0����00�� ���=�
�
��� ��� 8��<�1�� ��� ��8��
��3��F�<>L=�� ,��
��
��
�8��
1���������00�����<���
��*����;�
����1R��8�������������
��3
����������<��
�

11
�1�������
1������������
	���� ����A�3������=��1R
�����
������

�
6��7�#$�"$*�&
�1��������
��1���������
�
*�))*�����*�8��������
��

6��7�/����
�������������0�����������Z���*����-�������*�"�8������*�3����/��<������������11����
1�*�
�����*����S����
����
����8����
	������@�8��
�����11����
1�*��1�����������1�8��<���������
�
�����������
���8����� 6
���� ����� ����7� ����11��
������ 
11�� ����1�� <���
����
1�� ��
�������� �
11
� �
��
�
�������	���
1�� �� �
��8�����8�������
1�� ��11@�����
�����*� ������������ ��� 8�����8�������1
����� ��11
�
�
����
��*� ��� 
1�����������*� ��
�����1
� �����	�
1�� ��<���
����
1�� ��11
� �����81��
� ��������
� ��1
�
88����S��

6��7�#$�"$*�&
� 1��������
��1�� �������
�
*�))*�����*�8�����*���8������6�3��
��=����<������������
�������
���������8�����	
����3
���������7��

�������
��	���
A����
�	�@������
��
����
��	
��������

��

�������

@��A�����
���

����
����
��

������
	�
�����
�	������
 6�1����
��*�
������8��*�8����00���������
���8���
����
��8��8����1������
11R�001������������1��	
�<���
1�*������1��
�����
������
�8��
�
��
1�7 �����
1��
���A��3��������=���1����8�������1
��3��
�;��11��
���3��F����
�
��00����3�����/���
1����3����*�1
�8����
	�����8��<������
1��8����00����3�1
�������
��<<���1�F� ����	���
1�*� �� �����;��� ��8������� 
� ;��11
� ����
1�*� �
1�� ;������ �
�
1�������
���1
�8����	��������������8�������������
��
��������������=�*�
11��
*���
S�������� ����
����
S� ��������
��� �
�� ������1�� ���������
1��
3�
����
���������� 1
�
�������
	�������11��8����
	����� ����3���
�����������8�����	����*�8��� 1R
88����*
S����
����
S*��=������������������11R�����
��
���1����	
������1����
���A��������6�T�

���� ��Z�*� ����
� �*� ����*� ����=D� ��11
� 0
��� ��11�� ����1�� ��� ������1���
�

Page 34 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



8��<������
1�� �� ���� 8������11�� ��� ;�
1��F� ��11
�8����
	��������
��1�7B� ����������
��������11R�����
����������������11
�8����
	��������
��1�*���;��������11
���<<���1�F�
����
� �
� 
<<����
���� ��� ��1
	����� 
� ��
����
� ��8�1���
� ��� 
����� "���������� ��
�
��3���
�������
	�������11
�8����
	�������1��
�����������*�����������S����
����
S�
���� 8���
���*� �3�����������*� ����� �
1�� ���3
��� 
881��
	����*� �� 8���
����
6����3
�
�����7�������������
���
���8��
���1������1�����
����
�88
��� ;������ �3������� �1� �����<��
��� ��11R��8��������� S��� �
����
S*� ����������
��11R
�����
*�����
��*����� � �1� ������1������
��1�*���������
����
�����8
�
������
1R��8����� ���� ���8����� ��3���� 
�� ���
�*� ����8�C� �=�� ������ ������ ��11R��� ;����
81����;��� 
������*� 3
1�� 
� ����� ��11
� S8����
	����� ����
1�S� ��1� ���
��*� ;��11
�
�������
� ���� S��1����	
� ����
S� ��� ��� 8�����	
� ��� ��
� S��<<���1�F� ����
S� ��11
�
8����
	������ &
���3�� ������
��*� ��3���*� �
������ ��� ������� �� �
�������
���81�����F� ��11
� 8����
	����� �������
*� �
� ��1�� ��� �
1� �
��*� �1� ���
��� �
�F�
1�������
���
� �������
���� �
�� S�������� ����
����
S*����8���
11R����������1��
����
<���
�����
�������������
����������1�
�����
1������������������
1�����
88��3
	�����
��11
��
��<<
��
!
�;�
������8�
� ��������� �=�*� ���8�����	
� �����
� ��������
	����� ��������
�
S�����
S�����������������
����
�8���1R
881��
	�������11R
�����
��
�8
��������������1��
���������
1�*� ��� ���
����	
���� �������
�	������	���
1�� �=�� �����
��*�����������*�
��11
� ���<����
	����� ��11
� 8����
	����� ��3��
*� ���� 3�� A� �8
	��� 
1����� 8��� 1
�
�����
��
	�������1����8�������
����
������1����� � 1R
��������*�����
��*�����*�A�
;��������
����
11��8��3��������8���
1����11
�1����1
	��������
��1�*�������=
������
��� �8��
��� 6�������
�	
*� ;����R�1���
*� ���<���
�
� �
1� <
���� �=�� 1�� ������� 
����
���������� A� ��8����
���������=�
�
����
1���1��
������*� ����
��*�����*� �=�����
��<�������
11��8����
	�����8��<������
1������������
�������������������1R������	���
��11
�<��	�����8�001��
7��
/�����C��=����������*��8���<��
�����*��1����8������T�
�����
�����*��1����3��������
��11R
������Z�&����<������������1�������*�������3��������0����
1�<�������������<��
����
1R�������
0�1��F� 6��
� 3�1�
� �=�� �1� ��1
��3�� 1�3�11�� ��
� ��
��� <���
��� �
1� ������1���
���
��1�� ���������
1�7 � ��<
���*� ������� �1� 3���=��� ������ ��11R
���� ��Z� �
�	���
3
�
�����81��
�����������
������ 1
�����	�������� S����
��S���S�������S*� �1����3�������*�
����������� �
1� ��� 1���� ��� ���>�

�*� ��������� ��
� ��1�3
�������
� ��3��F*�
;�
1�<��
���� ��8����
������ ����� �11������ �����81��
��� 
��=�� 1
� ����	����� ����
S���8����S �
������
*�;����
*� �3����������������8��3
���������<��
��*� �� 1
� ����
�3
1��
	����� �;��3
���00�� 
�� ��
� �����8���
���� 
0���
��� ��11R����3
	�����
����
��3
*������
��
�
�;�
1��
����
�������������������������������=���1����
���
���
13�� �=��������
����������<��
�������3�� �����1
	�����
11
��
����������������
���81�����F���11
�8����
	�������1��
������������������8�C����������1����8��������
����
11R
�����
*����8�����
��1�3�11�� ����3���
��� ���0
���
��S������������
����
S�<���
���
�
1� 8��8���� ������1��� ���
��1�� ���������
1�B� �
� ���� 1R�11�����F� ��11R
�������
6�����
��
	����7������1��1������
����������
1�������������8������T�
�����
���

��

>'
�����������
��
�	����

��;����	��
�����B
����

�
	�@@

���
	���'�

&R
������Z*�1������7*�&����<�����������������3��
88��1���<���
1����1�����
1��
1�<�������
�������
��*� ��������3����0�1�����*� ��
� 1
� ��8�
33�3��	
� ��1� 8�����8��� ���
�������
0�1��F���11
��
��<<
����
��1�*���
�1R
881��
0�1��F�����
1��8�����8���
11���8���<����
���8������T�
�����
�6�1�����=��
������
������������7�����
1������1������*�8��
1���*�
��� �
��00�� ������� 
��=�� 
� 8����������� �
11
� ��
� ��
�
	����� 8��� �
������
����
�	�
1�� �� ����������������
����� ���
����1������ �� ��� ��������
	����� ��11
�8�J�
3�1���������
�
��8���
1��F���11
�8��<�����������
��1����
&
� �
��<<
� ���
��1�� ���������� S����
��S� 6�=�� �������
��� 1
� 8�001��
� <��	����7*�
S�������S� 6
��=R����� ��11��
��� 
11R
���3��F� <��	���
1� � ��������
��*� �������� ���
8������
	����*�����7���S���8����S�6;�������1�����
�1����3�1�
��
����������������
�
;��11����1
��3��
11��8����
	�����S������
���������������
11
�8�001��
�<��	����S*��T�

�����
�����*���;��11��8��3������
1���
88�������������������*��T�
������������<>>=7��
&R
������Z*� 1����� �7*� ��11
� 1��������
��1�� �������� �1�8�����8��� ��� �������
0�1��F�
�
������ 1�� 3���� ��1� ���81����� ���81����3�� ��1� ���
��� ��������� 
11
� 8�001��
�
<��	����B� 8��8���� ;����R�1����� 8��<�1�� ������<��
*� 8��� 8
��<��
� ������8�����	
*�
1R�������
0�1��F���11����1
��3��3��������
��<<
*�
��=���������������������1R������	
�
���
������
��� 6������1�� �������
���� 1
�;�
1��F� ��11
�8����
	�����8��<������
1�*�
;�
���7�1R����������0�1��F���1�8�001�����<<���
1�*��1����
11
���8
�	�
1��F���11���������
6
881��
	��������������������8��������8�����	
��������������8����88����7������*�
;�����*��=��1
��8���
1��F���11
��
����
�������<��
�1
�8�����
�����������
0�1��F���11
�
�
��<<
����
��1��6�=��A��
��<<
�S�����
S�8��8�������������������
�����������
�8����7*�
�
13�� �=�� 8��� 1�� S8����
	����� 1�0���� 8��<������
1�S� ��� ������ �������� ����
������
���������������
11
�8�001��
�<��	����*�;�
1�������81��
����
11R
������������
,����
��
*���1������*���11R����
������8���
	�������11��3����������8���	��������������
���� 1�� <��
1��F� ��11
� �
��<<
� ���
��1�*� �� �=�� ��������� ��� �3��
��� �� ��00�� ���
���������	���
1��F� �=�*� 
1��������*� ���3��
0�1������ �������00���*� 
��=�� 8���
��<����� ��� �
�����3�1�		
� ��� ��
� �8������
� 1�����
� �=�� ����������� �1� 8�����8���
��11RS
������S������1��1������
��=��
11
��������
	�������11R
���3��F�<��	���
1����1�
���
���� ,��	
� ��
����
��� �1� ���8����� ��11R
���� ��*� �1����� ����
*� ��11
� 1�����
���
��1�*� �=�� ��������� 
1� ���
��� ��� ��<���
��� �1� ����3������� ��11R
���� ��� ���� A�
8��3����3
��������8����
���8��������� 1��� 1R��8�������11���8���� �� ���� ���8�����
��3����1� ���11R�8�������������������������
���������
����
������1����������������
1�
���8����*���3��00�������������=��1������������
���8����00����<���
������8����
���
�1� 8��8���� ���������� ��� ������� 
�81������� ��� �
��*� ���� ��� ��
3�� 3�1���� 
1�
8�����8�����11R�001��
������F���11R�<<��������
��1���
����������������*� 8�����
� 1R�������
0�1��F� ��11
� �
��<<
� ���
��1�� ����
���� 
�1��
S����
��S*�
�� S�������S*��
�
��=��
�� S���8����S�8��3����� �
11R
�����
���11
��
��<<
�

Page 35 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



��
)̀�������a��

�������
�� &R
�����*� ����
��*� 1�����
7*� ��1� ��1����� ���>�

�����
881��
�;������
���1���3
������
�����8�������3����
1����
���
����������11R
������*�����
��*���11
�
�
��<<
� ���
��1� � ;���� ���8����*� ���D*� �=�� �������
��� 8����
	����� S����
������
���������������
11
�8�001��
�<��	����S �����
����
��;�
1�*��������1�������
��
� ��F� ������0�1�� �
1� ���3��� 
11R
���� ����� ����*� ���� �8��
� �1� 8�����8��� ���
�������
0�1��F*� �D� 1
� 1����
� S�����
S� �=�� 8�������� 
11�� 
1���� 3���� �
��<<
�����
)����8���
	����*� ;����
*� ��������� ���� 1
� �����������
� ��
881��
0�1��F� 
1� ���
���
8�001�����<<���
1����11
�1�0���F������
0�1������������8����
	�����������3�	��6��;������
��� ���������	
7� ��1� ����������� ��11R'������ ����8�
*� 8�����8�� 
11
� ���� 
���
	�����
�����*�8�����8����
�8��3�����������
��3
*�1R
�����*�����
��*�1�����
7*���1���1�����
���>�

���
)������1������*�;����� �
�
)

����


�������
����;��
�
A����
���
�'�'
�'
**6<*==9�
��

��

����
����;
	�'
&7:�

����'
 �H�
,'.'�
 ����
 ����@��
��
 �
��;
	�'
6=
���
 �'
 ���'
 �'
 *7><*==9�
 �

 �
	�@@


���
	���
 C
 �

 	�����	��
 	����

 ��
 ����	��
����
 ����

 �
	��
 ��
 ���
 	�����	


�	���
A����
 @��A���
���
 �
 �	���
A����
 �	�@������
��
 ��	���
�����
 ��������
 
��


�������

@��A����B� ��� �3����
1�� 
������� ��
� ���
��� �� �1������ ��� �����
�
� �
1��
���8����������
������8��<���
����
��00����11��8���3��1
	������������������������
8�001���*� ��� ��8����00�� �1� ���
��� 
� ���8���
0�1��F� �����81��
��� 
�� ������ ��1�
���������
������Z*�1������7*���11
�1��������
��1�B�

)
 �
 ��������
 ���
	���
 ����	����
��
 ����
���
�����
 ����������
 

��
����	�
 �
 �	���	�
 ��

�
����

��	

�;
�����
A����
����;
	�'
6=
����

�
	�@@

���
	���B����8�����	
�����
0�11������
1��1�*�
�
��=���;���8�����8�������11
�0
�����11
�3��������
��<<
����
��1�*��=�������=�������
��������������
������������8�������3���*�1R����11
	�������
���������8���������
8���F�������� ��������
�
��
����
���������
����
����� �1�����*��
����=�����F� 1
�
��������
	����� ��� �������� ��� �
����
� �
� 8
���� ���� �����1�� ������1�� ���
��1��
���������
1�B��33���*�����
��
�	
�����
1����������
	����*����
881��=��F��1�8�����8���
�����
1�� �������� ���� �1� ���8����� �T� 
���� �
� ��3�� ������� ��������
��� ���
��1
	�����
11R�8��
��3�1�
���1��
�����������*������������������������������	���
1��F�
������
�������3�F�<
����<�����������
�1���������������1������
��1�*��3����
1������
���=�������������������1�
��3
�6�T�
������*�����
��*�����*� 1���7*���
� �1��������� ���
�
������������3����
�6
��=�����0
���
11R
�����*�����
��*���1���1��������>�

�7B�

��

6��7���8��8��������1����8������T�
������*�����
��*���11
��
��<<
����
��1�*�1
�������8�����	
�=
�

3���� ����� ��� �=�
����� �=�� S1�� �3�1�������� ��� 8����
	����� 8��<������
1�� b���� ������
������
�������������1@������	�����11
�<��	�����8�001��
����
��1�c*��
1���
�1�������
��*��T�
�������������
�
��3��0������
������������*����
������������8
�
������8��������8�����
�;��11����F�����3����
8��� 1
�8��8��
�8����
	�����8��<������
1�*�����8������� ���������������*����� ������81������*�������
;��11�� ��3������
11
��
����
1�����
	����� ��1�������*� �����������*�8��� ���3����*� ���
���3��F��=�*�
8������3
�������
��������11
�������
���11@
���*����������������
����
��
������
�����1���<<������
�
8�������������<�����1������������3����S ��
�����������
����

��������*����.��������3�*��

�*�)*�8��
���*�������M��
�����*��

�*�8�������

�
�� �1� ���3�� ������ ��11R
���� ��Z*� 1����� �7*� &���� �� ������
���� �������
������ ��
S���8����S� 
��
���� 
�1�� S����
��S� �� S�������S*� 
� ��<<����	
� ��1� 3���=��� ������ ��
�������
� ���;��3��
0�1������ �;����	��
�����B
���
��������
��

	�'
6=
�'�'�
���L

����
����	���
��
�
�
��������
���
	���
����	����
��*���;������1R�11�����F���11
���1
��3
�
����	�������0��8���������11����
����������	
B�

)
�
�	���	�
��
�
����
�
��

����

����	���
��
�
�
��������
����	����
���
��������
��

��
��������
����	��
���������	
�
1������8
	�������
��3�
��
�8
������1������1��
���
���8���1
�����1����������
�������������8��8����1������ �����������<<����*��
13
�
��
���3���
�6�
�����
�0���
��
7���������
	�������1����8�������1��
������������
��� 0
��� 
11�� ������
��
 ����	��
 �
	
���	�������
 ��
 ����������B
 ����

 �����@��


�	���
A��������8�����
11��S����
	����������
���S�������81
��������������������1�
����

���������������������������������������������������

.
��
���/����11��

��

��

�=�����������
	������1������3��0����

��

��

,
����
I����Q
��
�I��

� d��

�����8
���
���1�,���11��
Q���1
?������<�9
���1�0������1
���
���������1����	
�.�'>./&��

Page 36 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...



�

Page 37 of 37Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=2...


